
    Modi Public School, Siliguri 
Preparatory Exam 2022-23 

Class 10                           English Lang & Lit Time :3 Hr F.M. :80 

GENERAL INSTRUCTIONS: 

1.15-minute prior reading time allotted for Q-paper reading. 

2. The Question Paper contains THREE sections- READING, GRAMMAR &   

     WRITING and LITERATURE. 

3. Attempt questions based on specific instructions for each part.   

                                       SECTION A: READING SKILLS                          20 Marks 

I] Read the passage given below. 

1. Chocolate diamonds are actually brown diamonds and are compared to the well 

known white diamond, which aren’t much worth. Diamonds are produced in mines. 

The best- known diamond mines are in Australia, South Africa and Russia. The 

largest diamond mine was discovered in 1976 in the desert of Australia near a little 

creek named Lake Argyle. The best diamonds are created under the most extreme 

conditions of pressure and high temperature. It is a general misunderstanding that 

there exists only one white colourless diamond. Actually diamonds exist in many 

different colours. 
 

2. Of all the diamond mines in the world, almost 80% of the diamonds produced are 

brownish in colour because they are found in such large quantities compared to the 

other diamonds, they were considered as low-valued diamonds, only good for 

industrial sector. But a famous man named Le Vian came with a marketing campaign 

to increase the popularity of chocolate diamond. Instead of calling it brown diamond, 

he gave it popular names like caramel, cinnamon, chocolate and cognac. Because of 

his marketing campaign, chocolate diamonds are becoming very popular. 
 

3. The value of diamond is based on its shape, brightness and colour. As white 

diamonds are rare, their value based on the fact there are not many white diamonds 

around. But if you look at the shape and brightness then the brightest in the world 

known to men is the brown diamond. Before the development of the Argyle Diamond 

Mine in Australia in 1986, most brown diamonds were considered worthless for 

jewellery, they were not even assessed on the diamond colour scale, and were 

predominantly used for industrial purposes. 
 

4. However, marketing strategies changed in the 1980s and brown diamonds have 

become popular gems. The change was mostly due to the supply; the Argyle Mine, 

with its 35 million carats (7,000 kg) of diamonds per year, makes about one-third of 

global production of natural diamonds; 80% of Argyle diamonds are brown. The 

percentage of brown diamonds is lower in other mines, but it is always a significant 

part of the total production. Consequently, scientific research on causes of brown 

colour in diamond and ways to alter it has intensified.            Page1 

Based on the understanding of the passage, answer the questions given below. 

[1x10] 

i] What is the general misunderstanding about diamonds?   (Para 1) 

A] Diamonds are created under high temperature. 

B] Diamonds come only in white colourless type. 

C} White colourless diamonds are less expensive. 

D] About the discovery of the largest diamond mine in Lake Argyle. 
 

(ii) Select the option that corresponds to the following relation below. 

The best diamonds are created under the most extreme conditions of pressure. 

A] The biggest the risk- the utmost the adventure 

B] The smallest the package- the easiest the carriage 

C] The deepest the oppression- the greatest the character 

D] The longest the paths- the happiest the moments 
 

(iii) Select the option that displays what the passage projects with reference to the  

     following.                                                                                

La Vian called the brown diamond as caramel, chocolate, cinnamon and cognac 

                                                                                                                       (Para 2) 

A] worth                  B] popular                        C] texture                     D] fragrance              
 

(iv)  The writer says that the best diamonds are found in _____.                  (Para 1) 

A] Australia, South Africa and Russia 

B] South Africa, Russia and Austria 

C] Australia, South Africa and Croatia 

D] Austria, Australia and Russia 
 

(v)  Supply one point to justify the following                                                     (Para 2)      

Brown diamonds are considered as low valued diamonds                      
 

(vi)  State only two things that decide the value of diamond.                          (Para 3) 

     _______________      __________________ 

(vii) Which statement means white diamonds are scarce?                             (Para 3) 

A] They are not in demand. 

B] They lack lustre and purity 

C] They seem worthless for jewellery 

D] There are not many white diamonds around  
 

(viii) Complete the following with a phrase from                                             (Para 4) 
 

                  S TEP                                       RESULT 

            __________   makes about one third of global production of natural diamonds 
 

(ix) What has escalated according to the author?                                            (Para 4)   
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 (x)  Evaluate the most APPROPRIATE reason for brown diamond being considered 

as worthless for jewellery  

A] La Vian stated that in his marketing campaign 

B] The shape and colour appeared unattractive 

C] They were not even fit to be assessed on the diamond colour scale 

D] They were at par to be assessed on the diamond colour scale  
 

II] Read the excerpt from a case study titled Transforming Education System. 

 

1.The Indian Education System in the ancient times was truly world class, which 

attracted scholars all over the world to come in search of knowledge. However, the 

correct scenario of education, at least in terms of quality and value system has been a 

game changer in the process. This has made access to knowledge very easy- Google 

and You tube for example, can answer any query on any topic; anytime, anywhere; 

but it has also led to a side effect due to which student does not exercise his/ her 

mind to logically analyse, remember and resolve questions and quickly resort to these 

gadgets to look for a ready-made answer. 

2. So, a study was conducted by scholars of an esteemed university in India. This 

study was titled Transforming Education System. The main objective of the study was 

to make people aware of the transformation of education system and the differences 

between the ancient and the modern. The method used to collect data was a simple 

questionnaire containing 4 questions shared with 50 respondents across four selected 

districts of a state in the eastern region of India. The research began by 

understanding the views of the respondents before sharing the questionnaire. Once 

the responses were received, the data was tabulated for analysis. 

AWARENESS LEVEL AMONG RESPONDENTS 

  
 

3. The study recommended that still some people believe that ancient education was 

good. The researchers were forced to believe that information technology is a game 

changer, after receiving the views.              Page3 

 

The observations made in the study pointed that majority thinks technology has taken 

over in every aspect of our lives, including education.  
 

(i)  Infer one reason for the following, based on the information in (Para 1)        [1] 

The present education system in terms of quality and value is falling     

(ii)  Select the appropriate option to fill in the blanks   (Para 1)                      [1] 

We can infer that technology has _______ the mind and the _______ to work hard as 

it is available anytime, anywhere to get an answer. 

1] necessity             2] crippled            3] timed              4] ability          5] creativity 

A]2and 4  B] 1 and 3  C] 2 and 3  D] 3 and 5 
 

(iii) Complete the following analogy correctly with a word/ phrase. (Para 1)      [1] 

Transforming education: technology : : _____________ : mind 
 

(iv) Select the correct option to complete the following                                      [1] 

Main objective of the case study____________                                           (Para 2) 

A] to make people aware of the transforming education 

B] to present the world class ancient Indian Education System                                                                                                                              

C] to present the differences between ancient and modern system 

D] Both A and C 
 

(v) Select the block that appropriately represents the responses for the question, ‘Is  

     Information  Technology a Game Changer’?                                                 [1] 

[1]                     [2] 

[3]        [4] 

A] Option 1                   B] Option 2                 C] Option 3                    D] Option 4 
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QUESTIONS YES% NO% CAN’T SAY% 

1.Do you think ancient education system was world class? 47 45 8 

2.Looking at the modern education system, do you think 

the quality and value system lack? 
20 80 - 

3.Is it true that information technology is a game changer? 90 - 10 

4.Is the transforming system of education crippling logical 

and critical thinking? 
56 40 4 



(vi) Fill in the blank by selecting the correct option.                                        [1] 
    
 The questionnaire was presented to collect the data regarding the _________  

    among respondents.                                                                                    (Para 2) 

   A] understanding level                                  C] analysis of data of agreement 

   B] flaws of present education system              D] publication of the data analysis   
 

 (vii) Substitute the word ‘esteemed’ with ONE WORD similar in meaning in the  

        following sentence.                                                     (Para 2)                  [1] 

  A study conducted by scholars of an esteemed university. 

 A] distant                   B] recognised                     C] ancient                   D] big 
 

 (viii) List any two views of the respondents.                          (Para 3)               [1] 
 

 (ix) What does the study recommend for ancient education       (Para 3)           [1] 
 

 (x) Select the option that titles paragraphs 1-3 appropriately, with reference to the  

        information in the text.                                                                             [1] 

      i]  ancient and current education                        i] current education 

      ii]  the objectives                                                ii] data analysis and objectives 

A   iii] data analysis and conclusion                  B    iii]. conclusion 

 

      i] ancient education                                            i] ancient and current education 

     ii] current education                                     D     ii] data analysis 

C. iii] conclusion                                                       iii] conclusion 
 

III                                   SECTION B:   GRAMMAR                               10 Marks 

  i]   Fill in the blanks by choosing the correct option.                                       [1] 

The rapid changes that India __________ over the last few decades have 

been welcomed by most of us. 

     A] is enduring                                                          B] has been enduring 

     C] will endure                                                          D]  have been enduring 

  ii] Read the conversatio below to complete the narration                               [1] 

  MOTHER:  Are you ready? The party is at 7:30 p.m. 

  SON:          I’m not interested to go. 

The mother asked her son if he was ready for the party at 7;30 p.m. 

The son replied________________________ 
 

iii] Select the correct option to fill in the blank for the given line from a health 

magazine.                                                                                                         [1] 

The caption says ‘You _______ take care of your health as it is precious’. 

A] must                         B] will                          C] might                             D] can     
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iv]  Select the option that identifies the error and supplies the correction for the 

following line:                                                                                                   [1] 

Summers in Delhi is extremely hot as hot dry winds blow over the capital. 

 

Option no.      error correction 

A summers summer 

B over above 

C winds wind 

D is are 

 

v] Report the dialogue between a teacher and his student, by completing the  

    sentence.                                                                                                     [1] 

     STUDENT:   Can you explain the topic’ Editing’? 

     TEACHER:  Yes, certainly I shall explain it tomorrow. 

    In response to the student’s question, the teacher said ___________________ 
 

 vi] Fill in the blank by using the correct form of the verb in the bracket, for the given  

      portion of the letter.                                                                                   [1] 

Subject: Seeking Information for Higher Education abroad 

Sir 

Through your advertisement, I________ (make) up my mind to study in some 

prestigious institution abroad 

 

vii] Identify the error in the given sentence, from a local newspaper report and supply   

     the correction.                                                                                            [1] 

Most Indian schools fail to ensuring their students adequate playtime and 

fitness regime. 

      * Use the given format for your response. 

      Error Correction 

  

 

viii] Natasha shared about her likes and dislikes with Neetu. Report Neetu’s question. 

     NEETU: Why don’t you like reading novels?                                              [1] 

ix] Identify the errors in the poster on creating awareness and supply the corrections. 

[2] 

                                                                      * Use the given format for your response 

EARTHQUAKES 

A deadliest hidden enemy of man! He 

cannot stop them,we can’t foretell them. 

But when they come, what need you do? 

          Error     Correction 
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IV]                        SECTION B: CREATIVE WRITING SKILLS                      10 Marks 

1.Attempt ANY ONE from A and B given below.                                                    [5] 

A] Write a letter in about 100 words to the Manager, Book World, Siliguri complaining 

about the delay in supply of Class VII & VIII text books for the current academic   

session, giving necessary details. Highlight the inconvenience caused due to the 

delay and seek an immediate supply of books. You are Raghunath Pandey, the head 

librarian, Good Shephard School, Siliguri. 

B] As a regular commuter by bus from Matigara to Shivmandir, you have been 

witnessing rash driving by the bus driver daily without an exception. Write a letter (100 

words) to the Editor of ‘The Echo Of India’ drawing the attention of the General 

Manager, Uttarbanga Transport Corporation to this problem. You are Niti Prakash, 12 

West, Khaprail More, Matigara. 

2. Indian roads are known to be dangerous, it is found that 280 people die in road 

accidents every day. An annual survey reveals Delhi tops the list. Interpret the data 

with reasons for high rate of deaths due to accidents in India. Write an analytical 

paragraph in about 100 -120 words.                                                                      [5] 

DELHI      1,717 

 

CHENNAI 1,055 

 

BENGALURU        835 

 

MUMBAI         787 

 

KANPUR     598 

 

SECTION C:                   LITERATURE                           40 Marks 

 V] Reference to the context.                                                                 [5] 

1] Attempt ANY ONE of the two extracts given. 

A] As one story goes, a part of Alexander’s army moved south along the coast and  

settled here when return became impractical. These people married amongst the  

locals and their culture is apparent in the martial traditions, marriage and religious  

rites, which are distinct from the Hindu mainstream. 
 

i] Alexander’s army settled at ______ when return became impractical. 

       A] southern coast                                      B] western coast 

       C] northern coast        D]  eastern coast 
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ii] The army of Alexander had to stay there because of ____________. 

         A] heavy rain                                                        B] flood 

         C] impractical movement                                      D] defeat and willpower 

         iii] What was the result of their stay? 

         A] they mixed with the people of that place          B] they married their girls 

         C] they adopted their tradition                              D] all of these 

         iv] The word ‘tradition’ can be replaced with 

         A] habit                                                                 B] ritual 

         C] custom                                                             D] rites 

         v] These lines have been taken from the lesson _____ 

          A] The Glimpses of India                                    B] Tea from Assam 

          C] Coorg                                                             D] Baker from Goa 

 

B] Then she began to cry and tears flowed from her eyes in a helpless flood. She  

kept her head down as she sat in her corner, not daring to look up at the girls  

who, she knew, were still laughing at her. 
 

 i]  The above scene happened in ___________. 

 A] home                                                          B] school classroom 

 C] when the tehsildar came                               D] at the market place 

ii] Where did the girl sit? 

  A] on a bench                                                   B] on a mat  

  C] on the floor                                                  D] in the corner of a room 

     iii]Sulekha had the physical deficiency of_______. 

       A] pock marks                                                    B] ugliness 

       C] stammering                                                    D] damaged brain 

     iv] Trace the exact antonym of the ‘helpless’. 

        A] helpful                                                          B] enemy 

        C] inconvenient                                                  D] sympathetic 

     v] Where was the girl sent? 

       A] hospital                                                          B] hostel 

  C] school                                                            D] a training centre 

 

 2] Attempt ANY ONE of the two extracts given.                                                [5] 

    A]  But presently up spoke little dog Mustard, 

         I’d have been twice as brave if I hadn’t been flustered. 

        And up spoke Ink and up spoke Blink, 

        We’d have been three times as brave, we think, 

        And Custard said, I quite agree 

       That everybody is braver than me. 
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i] After the end of the pirate, what did all the pets do?  

  A] started boasting                                                 B] started enjoying 

  C] started weeping                                                 D]  ran away from their houses 

  ii] Which word  rhymes with ‘Mustard’? 

  A] clattered                                                            B] flutter 

  C] gulped                                                               D] custard 

  iii] Custard expressed his considerate nature before the boasters by saying 

  A] I am bolder than all                                          B] everybody is braver than me 

  C] all are equally powerful                                    D] all have showed extreme bravery 

  iv] Write the rhyming scheme of the above lines. 

  A]  aa bb cc                                                          B] ab ab ab 

  C] ab ba bb                                                           D] ab ab cc 

  v] Which word in the stanza means ‘more serious’? 

   A] critical                                                             B] grave 

   C] fluster                                                             D] coward 

 

  B] They do not sweat and whine about their condition, 

     They do not lie awake in the dark and weep for their sins, 

     They do not make me sick discussing their duty to God, 

  i] The word ’they’ stands for 

  A] human beings                                                 B] beasts 

  C] animals                                                           D]  birds 

  ii] What does the word ’whine’ mean? 

   A] wail                                                                B] cry 

   C] weep                                                             D] all of the above 

  iii] What poetic device do you find in the given lines? 

   A] anaphora                                                      B] poetic licence 

   C] simile                                                            D] imagery 

  iv] What does the poet mean by ‘duty to god’? 

   A]  responsibility towards kins                          B] selfless individual 

   C] being charitable                                           D] praying god 

  v] Why do the humans get up during nights? 

   A] to watch the stars                                        B] to thank god 

   C] to cry for committing sins                            D] none of the above 

 

 VI] Answer ANY FOUR of the following in 40-50 words.                        [4X3]          

 i] Write the character sketch of Natalya highlighting her quarrelsome nature.  

                                                                                                             (The Proposal) 

      ii] Why did Maxwell put otter back in the box? How do you think he felt when he      

           did this?                                                                                          (Mijbil the Otter) 
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iii] Give example that Valli was a meticulous planner.           (Madam Rides the Bus) 

       iv] Life is full of trials and tribulations. Kisa Gotami also passes through a period           

          of grief in her life. How does she behave in those circumstances?  

                                                                                             (The Sermon at Benaras) 

       v] Explain ‘Our entire class is quaking in its boots’. (The Diary of Anne Frank) 

       vi] The story of ‘The Black Aeroplane’ presents suspense. How do you feel about   

           it?                                                                                     (Two Stories about Flying) 

   VII] Answer ANY TWO of the following in 40-50 words.                               [2X3] 

     i] Mandela said, ‘People must learn to hate and if they can learn to hate, they can  

             be taught to love’. Discuss.      (A long Walk to Freedom) 

     ii] ‘Faith can move mountains’. Justify the act of Lencho with which he was asking  

              to God for help.                                                        (A Letter to God) 

     iii] How has the poet observed nature in the poem?    (Dust of snow) 

     iv] The ‘Fire’ brings ruin. How? Specify the poet’s view. (Fire and Ice) 

 

  VIII] Answer ANY ONE of the following in 100-120 words.                            [1x6] 

   i] Describe the aptness of the title of the story ‘A Triumph of Surgery’. 

   ii] We can transform even a hardcore criminal into a well-respected personality.  

      What made Hari Singh a good man? Take reference from ‘The Thief Story’. 

  iii] Ausable has the ability to think quickly, act calmly and wisely in a situation of  

      danger and surprise. Do you agree? Support your answer from the story that  

       you have read.   

 

 IX] Answer ANY ONE of the following in 100-120 words.                               [1X6] 

   i]  Did you begin to suspect, before the end of the story, that the lady was not the  

       person Horace Danby took her to be? If so, at what point did you realise this,  

       and how? How will you appreciate the act of the lady? 

   ii]  Describe the role of Ebright’s mother in making him a scientist. 

   iii]  People should always try to live within their means. Aspirations have no limits        

        but one should not forget the ground realities. Elaborate on the basis of the  

        chapter ‘ The Necklace’. 
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Modi Public School, Siliguri
Preparatory Examination-1 2022-23

Class 10 HINDI-A Time :3Hr F.M. :80
सामान् निर्द-

१] इस प्िश् मे रो खंड है- खंड- क और ख I खंड-क मे वस त्शरक/ बहतववकलशप और खंड-

ख मे वरि्ाामक प्ि दरए गए है I

२] प्िश् के रोिो खंडो मे प्िो की सखं्ा 17 है और सभप प्ि अनिवा्् है I

३] ्थासभंव सभप प्िो के उतर कमाितसार लिखखए I

४] खणड क मे कत ि 10 प्ि है, जििमे उशप्िो की सखं्ा 49 है I दरए गए निर्दो का

शािि कर्े हतए 40 उशप्िो के उतर रेिा अनिवा्् है I

५] खंड-ख मे कत ि 7 प्ि है, सभप प्ि के साथ उिके ववकलश भप दरए गए है I

निर्दाितसार ववकलश का ध्ाि रख्े हतए सभप प्िो के उतर रे I

खंड-क (बहुविकल्प प्र)

1] नरमरनलिखि गद्यंं को ध्यर्पिरक ्ढ़कर सही विकल् कय चुरयि कीजिए- [5x1=5]

अं् रा्ाष्् शम सगंठि के अितसार, बाि शम को इस पकार शररभावि् कक्ा ग्ा है, ‘ वह

काम िो बच्ो के उिके ब्शि, उिकी कम्ा और उिकी गररमा से वंच्् कर्ा है, और

िो दार्ररक और मािलसक ववकास के लिए हानिकारक है I ‘ एक सामाजिक बतराई के रश मे

सरंलभ्् , भार् मे बाि शम एक अनिवा्् मतदरा है जिससे रेद वि् से निशट रहा है I िोगो

का माििा है कक बाि- शम िसैप सामाजिक कत र्न् को समाप् करिे का रान्ाव लसर्

सरकार का है I ्दर सरकार ्ाहे ्ो कािूि का शािि ि करिे वािो एवं कािूि भगं करिे

वािो को सिा रेकर बाि शम समाप् कर सक्े है, ककं्त वास्व मे ्े केवि सरकार की

जिममेरार् िह्ं है बजलक इसे सभप सामाजिक सगंठिो, मालिको और अलभभावको दवारा भप

समाचि् करिा ्ादहएI हमारे घरो मे, ढ़ाबो मे, होटिो मे, खािो मे, कारखािो मे अिेक

बाि-शलमक लमि िा्ेगे, िो कड़ाके की ठंड और ्श्प िूश की शरवाह ककए बबिा काम

कर्े है I ववकादसपि रेदो मे गर्बप और उच् स्र की बेरोिगार् बाि शम का मतख्

कारर है I बाि मिररू् इंसानि्् के लिए अशराि है िो समाि के लिए अलभदाश बि्प

िा रह् है ्था िो रेद की वदृचि और ववकास मे बािक के रश मे बड़ा मतदरा है I हमे

सो्िा होगा कक सभ् समाि मे ्ह अलभदाश क्ो मौिरू है ?
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जिस उम मे बच्ो को सह् लदका लमििप ्ादहए,खेि-कूर के माध्म से अशिे मािलसक

ववकास करिा ्ादहए उस उम मे बच्ो से काम करवािे से बच्ो का दार्ररक, मािलसक,

बौदचिक और सामाजिक ववकास रक िा्ा है I लदका का अचिकार मिू अचिकार हो्ा है I

लदका से ककसप भप बच्े को वंच्् रखिा अशराि मािा िा्ा है I आि आवद्क्ा इस

बा् की है सरकार् स्र से िेकर व्जक्ग् स्र ्क सभप िोग इसके पन् सिग रहे और

बाि-शम के कारर बच्ो का ब्शि ि निि िाए, इसके लिए कत ि साथक् शहि करे I आम

आरमप को भप बाि मिररू् के ववि् मे िागरक होिा ्ादहए और अशिे समाि मे इसे

होिे से रोकिा ्ादहए I बािशम को ख़ाम करिा केवि सरकार का ह् कतव्् िह्ं है हमारा

भप क्व्् है कक इस अलभ्ाि मे सरकार का शूरा साथ रे I

i] गद्ांद के आिार शर ब्ाएँ कक बाि-शम िसैप सामाजिक कत र्न् को समाप् करिे के

लिए िोगो की सो् कैसप है ?

क] बाि-शम को समाप् करिा केवि समािसेवप ससंथाां का रान्ाव है I

ख] बाि-शम को समाप् करिा केवि िि्ा का रान्ाव है I

ग] बाि-शम को समाप् करिा केवि सरकार का रान्ाव है I

घ] बाि-शम को समाप् करिा केवि अलभभावको का रान्ाव है I

ii] घरो मे, ढ़ाबो मे, खािो, कारखािो मे अिेक बाि-शलमको को काम रेखकर भप हम

उरासपि क्ो बिे रह्े है ?

क] हम लसर् अशिे बारे मे सो््े है I ख] हम िागरक िह्ं बििा ्ाह्े है I

ग] हम उिकी सहा््ा करिा िह्ं ्ाह्े I घ] हम सवेंरिा दून् हो ्तके है I

iii] बच्ो को बाि-शम के लिए क्ो वववद कक्ा िा्ा है ?

क] िागरक्ा का अभाव ख] लदका का अभाव

ग] िोगो की मिोवनृ् घ] नििि््ा और भतखमर्

iv] बाि-शम िसेै सामाजिक अलभदाश से रेद को क्ा ितकसाि हो्ा है ?

क] बाि शम एक बच्े को ब्शि के सभप िाभो से ररू रख्ा है I

ख] िाखो बच्े उच्् लदका से वंच्् हो िा्े है I

ग] बच्ो का दार्ररक, मािलसक और सामाजिक ववकास अवरदि हो िा्ा है I

घ] बाि-शम से रेद का आिे वािा अिंकार की ार िािे िग्ा है I
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v] गद्ांद को आिार शर ब्ाइए कक बाि-शम को रोकिे के लिए साथक् प्ास क्ो ककए

िािे ्ादहए ?

क] बाि-शम के कारर बच्ो का ब्शि निि िा्ा है I

ख] बाि-शम के कारर वे िलर् बड़े हो िा्े है I

ग] बाि-शम के कारर बच्ो को घर शर ह् रहिा शड़्ा है I

घ] बाि-शम के कारर बच्ो को ववद्ाि् आिा िह्ं शड़्ा I

2] नरमरनलिखि कयव्यंं को ध्यर्पिरक ्ढ़कर सही विकल् कय चुरयि कीजिए- [5x1=5]

मै ब्शि को बतिा रह् थप बोि उठी बबदट्ा मेर् I

िंरि वि-सप रूि उठी ्ह िोट्-सप कत दट्ा मेर् II

‘माँ ा’ कहकर बतिा रह् थप लमटट् खाकर आई थपं I

कत ि मतँह मे कत ि लिए हाथ मे मतझे खखिािे िाई थप II

शतिक रहे थे अगं, दगो मे कौ त्हि् था ििक रहा I

मतँह शर थप आहिार-िालिमा ववि्-गव् था झिक रहा II

मिेै शूिा ‘ ्ह क्ा िाई’ ? बोि उठी वह माँ काा I

हतआ परत जलि् हर् ख़तदप से मिेै कहा- ‘ त्मह्ं खाा ‘ II

शा्ा मिेै ब्शि करर से ब्शि बेट् बि आ्ा I

उसकी मिंति मनू् ् रेखकर मतझ मे िविपवि आ्ा II

मै भप उसके साथ खेि्प खा्प हँू, त््िा्प हँू I

लमिकर उसके साथ सव्ं मै भप बच्प बि िा्प हँू II

जिसे खोि्े थप बरसो से अब िाकर उसको शा्ा I

भाग ग्ा था मतझे िोड़कर वह ब्शि करर से आ्ा II
i] कवन््प वि् से ककसे खोि रह्ं थपं ?

क] अशिप बेट् को ख] ब्शि की सहेि् को

ग] अशिो के साह््् को घ] अशिे ब्शि को

ii] कवन््प की बेट् के ्ेहरे शर ककस कारर ववि्-गव् झिक रहा था ?

क] माँ को सगं खेि्े रेखकर ख] माँ के साथ लमटट् मे खेििे के कारर

ग] माँ को लमटट् खखिािे िािे के कारर घ] माँ को पसनि रेखकर Page 3

iii] लमटट् खखिािे आई बेट् की िवव कैसप थप ?

क] उसका दर्र िूि-िूरलस् था और आँखो मे डर था I

ख] उसका अगं-अगं शतिकक् हो रहा था और उसकी भोि् आँखो से उासतक्ा ििक रह् थपI

ग] उसकी आँखो मे दरार् ििर आ रह् थप I

घ] उसकी िवव मिमोहक और आकिक् थप I

iv] बेट् और माँ के बप् क्ा सवंार हतआ ?

क] माँ िे शूिा- ्ह क्ा िाई हो और बेट् बोि उठी ‘माँ ! काा I ‘

ख] माँ िे शूिा ‘ लमटट् क्ो खा रह् हो ? और बेट् बोि उठी ‘ माँ ! त्म भप खाा I ‘

ग] माँ िे शूिा क्ा खेि रह् हो ? और बेट् बोि उठी ‘ माँ ! आा त्म भप खेिो I

घ] माँ िे शूिा हाथ मे क्ा िाई हो ? और बेट् बोि उठी ‘ माँ ! त्महारे लिए लमटट् िाई

हँू I

v] काव्ांद के आिार शर ब्ाइए की कवन््प िे अशिे ब्शि को ककस रश मे शति शा्ा ?

क] सहेि् के रश मे ख] अशिप बबदट्ा के रश मे

ग] ब्शि की मितर समनृ् के रश मे घ] माँ के रश मे

3] नरर्ंयरुसयर रचरय के आधयर ्र ियक् भेर ्र आधयररि ्यँच बहुविकल्प प्रश मे से

ककनहीं चयर प्रश के उतर रीजिए- [4x1=4]

i] सजंा उशवाक् है-

क] माँ िे कहा कक बेटा कभप झठू म् बोििा I

ख] िब सू् ् निकिा ्ब मै सो रहा था I

ग] मिेै त्महे बतिा्ा त्म िह्ं आए I

घ] आि विा् होगप I

ii] उसिे कहा कक मै निर्ि हँू- सरि वाक् मे शररवन् ्् कीजिए-

क] उसिे अशिे-आश को निर्ि ब्ा्ा I

ख] उसिे अशिे को रोिप िह्ं मािा I

ग] उसिे कहा कक मै रोिप िह्ं हँू I

घ] मै निर्ि हँू उसिे कहा I
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iii] निमि मे सं् तक् वाक् का ््ि कीजिए-

क] मालिक आ्ा और घोड़ा दहिदहिािे िगा I

ख] मालिक के आिे शर घोड़ा दहिदहिािे िगा I

ग] बबि का भतग्ाि ि करिे शर त्महे माि वावशस करिा होगा I

घ] ्दर शढ़ोगे ्ो शास हो िाागे

iv] कॉिम (1) को कॉिम (2) के साथ सतमेलि् कीजिए और सह् ववकलश ्तिकर लिखखए-

कॉलम (1) कॉलम(2)

[1] राहति िे सतिा और िवाब दर्ा I [i] सरि वाक्

[2] िसैप ह् सवार का सं् तिि बबगड़ा वैसे ह् वह मर

ग्ा I

[ii] सं् तक् वाक्

[3] मनू्क्ार िे सतिकर िवाब दर्ा I [iii] लमश वाक्

क] [1]-(iii), [2]-(i), [3]-(ii) ख] [1]-(ii), [2]-(iii), [3]-(i)

ग] [1]-(ii), [2]-(i), [3]-(iii) घ] [1]-(ii), [2]-(i), [3]-(iii)

v] उसके आ्े ह् त्म निश िािा I (लमश वाक् मे शररवन् ्् कीजिए )

क] ्दर वह आए, त्म निश िािा ख] उसके आिे शर त्म निश िािा

ग] वह आए और त्म निश िािा घ] िसेै ह् वह आए, त्म निश िािा
4] नरर्ंयरुसयर ियच् ्र आधयररि ्यँच बहुविकल्प प्रश मे से ककनहीं चयर प्रश के उतर
रीजिए- [4x1=4]

i] निमिलिखख् वाक्ो मे से कमव्ाच् वािा वाक् लिखे-

क] राम सतबह िह्ं उठ सका ख] अलम् दवारा कहािप शढ़् गई

ग] र्िा च्् बि्प है घ] इिमे से कोई िह्ं

ii] निमिलिखख् वाक्ो मे से क्ृव्ाच् वािा वाक् है-

क] बच्ो के दवारा खािा खा्ा ग्ा ख] बच्ो से ्िा िा सक्ा है

ग] बच्ो िे खािा खा्ा घ] बच्ो से भागा िा सक्ा है

iii] आा ्िा िाए- इस वाक् मे वाच् है-

क] क्ृव्ाच् ख] भाववाच् ग] कमव्ाच् घ] इिमे से कोई िह्ं
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iv] कॉिम (1) को कॉिम (2) के साथ सतमेलि् कीजिए और सह् ववकलश ्तिकर लिखखए-

कॉलम (1) कॉलम (2)

[1] मोहि श् लिख्ा है I (i) कमव्ाच्

[2] माँ दवारा कशड़े िोए गए I (ii) क्ृव्ाच्

[3] शकक्ो से आकाद मे उड़ा िा्ा है I (iii) भाववाच्

क] [1]-(ii), [2]-(i), [3]-(iii) ख] [1]-(i), [2]-(ii), [3]-(iii)

ग] [1]-(iii), [2]-(i), [3]-(ii) घ] [1]-(ii), [2]-(iii), [3]-(i)

v] मै अब और िह्ं सह सक्ा (भाववाच् मे शररवन् ्् कीजिए )

क] मतझ से अब और सहा िह्ं िाएगा ख] मै अब और िह्ं सह शाउँगा

ग] मतझ से अब और िह् सहा िा्ा घ] मतझसे अब सहा िह्ं िा्ा

5] नरर्ंयरुसयर ्र-्ररच् ्र आधयररि ्यँच बहुविकल्प प्रश मे से ककनहीं चयर प्रश के

उतर रीजिए- [4x1=4]

i] वह सकूि से अभप-अभप आई है I

क] अव््, कक्ाववदेिर, कािवा्क, आई है- कक्ा की ववदेि्ा ब्ा्ा है

ख] अव््, कक्ाववदेिर, सथािवा्क, आई है- कक्ा की ववदेि्ा ब्ा्ा है

ग] अव््, कक्ाववदेिर, र्न्वा्क, आई है-कक्ा की ववदेि्ा ब्ा्ा है

घ] अव््, कक्ाववदेिर, शररमारवा्क, आई है-कक्ा की ववदेिर ब्ा्ा है

ii] आिकल परिूर ्ेिप से फ़ैि रहा है- रेखांकक् शर का शरर्् है-

क] अव््, कक्ाववदेिर, कािवा्क, रैििा कक्ा की ववदेि्ा ब्ा रहा है

ख] अव््, कक्ा ववदेिर, र्न्वा्क, रैििा कक्ा की ववदेि्ा ब्ा रहा है

ग] अव््, कक्ा ववदेिर, कािवा्क, रहा है कक्ा की ववदेि्ा ब्ा रहा है

घ] इिमे से कोई िह्

iii] सफलिय करम ्ूमेगप I

क] िान्वा्क सजंा, एकव्ि, स्पलिगं, अव््

ख] भाववा्क सजंा, एकव्ि, स्पलिगं, क्ा्कारक

ग] व्जक्वा्क सजंा, एकव्ि, शतजलिगं, कमक्ारक

घ] गतरवा्क ववदेिर, भाववा्क सवि्ाम, शतजलिगं, कमक्ारक
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iv] ्ह छयत बहत् समझरार है-इस वाक् मे रेखांकक् शर का सह् शर-शरर्् होगा-

क] सजंा, व्जक्वा्क, एकव्ि, शतजलिगं, क्ा्कारक

ख] सजंा, िान्वा्क, एकव्ि, शतजलिगं, क्ा्कारक

ग] सजंा, िान्वा्क, बहतव्ि, शतजलिगं, क्ा्कारक

घ] सजंा, िान्वा्क, एकव्ि, शतजलिगं, कमक्ारक

v] कोई आ्ा है- इस वाक् मे रेखांकक् शर है-

क] सजंा ख] सवि्ाम ग] ववदेिर घ] कक्ा

6] नरर्ंयरुसयर अलकंयर ्र आधयररि ्यँच बहुविकल्प प्रश मे से ककनहीं चयर प्रश के

उतर रीजिए- [4x1=4]

i] ्म्मा् ्ं्ि ि्ि, बब् घँूघट शट िीि I

रतदर्ि मे आंसू बिकर आि बरसिे आई II –इि शंजक््ो मे प त्क् अिकंार है-

क] उापेका ख] मािवपकरर ग] अन्द्ोजक् घ] ्िेि

ii] रारतर ितनि ्हतँ दरदा सतहाई I

बेर शढदहं िित बटत समतराई II – इि शजक््ो मे प त्क् अिकंार है-

क] अन्द्ोजक् ख] उापेका ग] मािवपकरर घ] ्िेि

iii] आगे िदर्ा शड़प अशार, घोड़े कैसे उ्रे शार I

रारा िे सो्ा इस शार, ्ब ्क ्े्क था उस शार II – इस शंजक््ो मे प त्क् अिकंार

है-

क] अन्द्ोजक् ख] मािवपकरर ग] उापेका घ] ्िेि

iv] रूि हँसे कलि्ाँ मतसकाई – इस शंजक् मे प त्क् अिकंार है-

क] मािवपकरर ख] अन्द्ोजक् ग] उापेका घ] ्िेि

v] मेर् भव बािा हरो, रािा िागर् सो् I

िा ्ि की झाई शरे, स्ाम हरर् रतन् हो् II – इि शंजक््ो मे प त्क् अिकंार है-

क] ्िेि ख] अन्द्ोजक् ग] उापेका घ] मािवपकरर
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7] नरमरनलिखि ्ठिि गद्यंं को ध्यर्पिरक ्ढ़कर सही विकल् कय चुरयि कीजिए-

[5x1=5]

अकसर समारोहो एवं उासवो मे रतनि्ा कह्प है ्े बबजसमलिा खाँ है I-बबजसमलिा खाँ का

म्िब- बबजसमलिा खाँ की दहिाई I दहिाई का ्ााश्-् बबजसमलिा खां का हाथ I हाथ से

आद् इ्िा भर कक बबजसमलिा खाँ की रंूक और दहिाई की िारतई आवाज़ का असर हमारे

लसर ्ढ़कर बोििे िग्ा था I दहिाई मे सरगम भरा है I खां साहब को ्ाि मािूम है,

राग मािूम है I ऐसा िह्ं कक बे्ािे िा्ेगे I दहिाई मे सा् सतर िेकर निकि शड़े I

दहिाई मे शरवरदरगार, गगंा मई्ा, उस्ार की िसपह् िेकर उ्र शड़े I रतनि्ा कह्प-

सतबहाि अलिाह, न्स शर बबजसमलिा खां कह्े है-अिहमरतलिलिाहI िोट्-िोट् उशि से

लमिकर एक बड़ा आकार बि्ा है I दहिाई का कर्ब दतर होिे िग्ा है बबजसमलिा खाँ

का ससंार सतर्िा होिा दतर हतआ I रँूक मे अिाि की ्ासपर उ्र्प ्ि् आई I रेख्-े

रेख्े दहिाई डढे स्क के साि से रो द्क का साि बि, सािो की क्ार मे सर्ाि हो

गई I अमपरर्ि की दहिाई गूिं उठी I उस फ़क़ीर की रतआ िगप जिसिे अमपरर्ि से कहा

था- ‘ बिा, बािा I ‘

i] बबजसमलिा खाँ का क्ा म्िब था ?

क] बबजसमलिा खां का पेम ख] बबजसमलिा खा का गा्ि

ग] बबजसमलिा खां की दहिाई घ] कत ि िह्ं

ii] क्ा ्पज़ लसर ्ढ़कर बोि्प थप ?

क] कत िसतम हिवाई की क्ौड़प ख] गा्ि

ग] बबजसमलिा खां की दहिाई की िारतई आवाि घ] िोगो का ितिूि

iii] खाँ साहब को क्ा मािूम है ?

क] ्ाि ख] राग ग] ्ाि-राग रोिो

घ] उश त्क्् सभप

iv] दहिाई मे ककसके बड़ा आकार बि्ा है ?

क] शरवरदरगार ख] गगंा मै् ा

ग] उस्ार की िसपह् घ] उश त्क्् सभप

v] ्ासपर दबर कैसा है-

क] ्ासम ख] ्दभव ग] रेदि घ] ववरेदप Page 8



8] ्ठिि ्यिश के आधयर ्र नरमरनलिखि रो बहुविकल्प प्रश के सियराधक उ््ुकि

विकल् चुरकर नलिखए – [ 2x1=2]

i] शररशमशूवक् लिखे दबरकोद से िेखखका के वश्ा को क्ा पाजप् हतई ?

क] अकत ि िि की ख] ्द ्था पन्ाठा की

ग] उिको सरकार दवारा सममानि् कक्ा ग्ा घ] रा् बहारतर की उशाचि

ii] बािािप के मदंरर ्क िािे का कौि-सा रास्ा अमपरर्ि को शसरं था ?

क] सतिो्िा के घर से होकर िािे वािा ख] मितबािा के घर से होकर

ग] रसतिि बाई ब त्िि बाई के घर से होकर िािे वािा घ] बबजसमलिा खां के घर से

9] नरमरनलिखि ्ठिि गद्यंं को ध्यर्पिरक ्ढ़कर सही विकल् कय चुरयि कीजिए-

[5x1=5]

ककं्त कह्ं ऐसा ि हो कक त्म ह् खाि् करिे वािे-

अशिे को समझो, मेरा रस िे अशिप भरिे वािे I

्ह ववडबंिा ! अर् सरि्े ्ेर् हँसप उडाऊँ मै I

भिेू अशिप ्ह पवं्िा ारो की दरखिाऊँ मै I

उजिवि गाथा कैसे गाऊं, मितर ्ाँरिप रा्ो की I

अरे खखि-खखिाकर हँसिे होिे वाि् उि बा्ो की I

i] कवव ककसको आरोवश् कर्ा है ?

क] िपवि-गाथा सतििे की हठ करिे वािो को ख] सव्ं की

ग] ककसप की िह्ं घ] ससंार को

ii] कवव िपवि को कैसे बब्ा रहा है ?

क] सतखशूर् ख] ििावा ग] आ्््ि्िक घ] सरि

iii] कवव रसूरो को क्ा िह्ं दरखािा ्ाह्ा ?

क] अशिप भिेू ख] पव्ि ग] क और ख रोिो घ] कत ि िह्ं

iv] कवव क्ा िह्ं गािा ्ाह्ा ?

क] उजिवि गाथा ख] ्ाँरिप रा्ो की बा्े

ग] क और ख रोिो घ] कत ि िह्ं

v] इस काव्ांद की भािा कौि-सप है ?

क] खड़प बोि् ख] बि ग] अविप घ] भोिशतर् Page 9

10] ्ठिि ्यिश के आधयर ्र नरमरनलिखि रो बहुविकल्प प्रश के सियराधक उ््ुकि

विकल् चुरकर नलिखए [2x1=2]

i] मितशक् क्ा हो्ा है –

क] दहर ख] रिू ग] घप घ] इि सभप का लमशर

ii] मतख् गा्क के साथ क्ा हो्ा है ?

क] उसका गिा ्ार सप्क मे बैठिे िग्ा है ख] पेररा उसका साथ िोड़ रे्प है

ग] उसकी आवाज़ से राख िसैा कत ि चगर्ा है घ] उश त्क्् सभप उतर सट्क है

खंड-ख (वरि्ाामक प्ि)

11] गध ्यिश ्र नरमरनलिखि चयर प्रश मे से ककनहीं िपर प्रश के उतर लगभग ३५-४०

ंबरश मे नलिखए- [3x2=6]

क] कॉिेि के वपलंसशि िे मनिू भडंार् के वश्ा िप को ककस कारर से बतिा्ा था ?

ख] ससंकृन् शाठ मे िेखक भौन्क ववजाि के ववद्ाथर को न्ूटि के बराबर ससंकृ् िह्ं

माि्ा, क्ो ?

ग] िखिवप अरंाज़ शाठ मे निदह् व्ंं्ाामक सरेंद को सशाट कीजिए I

घ] बािगोबबि भग् शाठ मे च्ब्् भग् गहृसथ होकर भप हर दाट् से साित थे I क्ा

साित की शह्ाि मािा, न्िक ्था गेरए वस्ो से हो्प है ्ा उसके आ्ार-वव्ार से ?

इस ववि् मे अशिे वव्ार पस त्् कीजिए I

12] ्ध ्यिश ्र नरमरनलिखि चयर प्रश मे से ककनहीं िपर प्रश के उतर लगभग ३५-४०

ंबरश मे नलिखए- [3x2=6]

क] सकंलि् शरो के ध्ाि मे रख्े हतए सरू के भमरगप् की मतख् ववदेि्ाएं लिखे I

ख] राम, िकमर एवं शदतराम मे से ककसका व्वहार आशको अचिक अचिा िग्ा है ?

क्ो ? ्क्सदह् उतर र्जिए I

ग] उासाह कवव्ा मे निरािा िप िे ‘ ववित्-िवव उर मे, कवव िविपवि वािे ‘ कथि से

क्ा कहिा ्ाह्े है ?

घ] सगं्कार ककस पकार के व्जक् का प्पक है ? सगं्कार कवव्ा के आिार शर
समझाए I
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13] ्परक ्यठ््ुुिक के ्यिश ्र आधयररि नरमरनलिखि िपर प्रश मे से ककनहीं रो

प्रश के उतर लगभग ५०-६० ंबरश मे नलिखए –

[4x2=8]

क] मसूि न्वार् दवारा बाि मडंि् की लदका्् के बा् शाठदािा मे भोिेिाथ के साथ

कैसा व्वहार हतआ और उनहे उिके वश्ा िप के दवारा ककस पकार घर िा्ा ग्ा ? इस

घटिा से बच्ो की ककस मािलसक्ा का श्ा ्ि्ा है ? मा्ा का अं् ि शाठ के आिार

शर सशाट कीजिए I

ख] दहरोलदमा की घटिा ववजाि का भ्ािक रतरश्ोग है I आशकी दजाट मे ववजाि का

रतरश्ोग कहाँ-कहाँ और ककस पकार हो रहा है ?

ग] कटाां शर ककसप रतकाि का ि होिा एक वरराि है-कैसप ? भार् के पाकृन्क सथािो

को वरराि बिािे मे िव्तवको की क्ा भलूमका हो सक्प है ?

रचरयतमक लेखर कय्र

14] नरमरनलिखि िपर विष्श मे से ककसप एक विष् ्र लगभग १२० ंबरश मे एक

अरुचछेर नलिखए- [6]

क] िर्प का रका कव्- ािोि ( ािोि का अथ,् ािोि श्् को हानि शहतँ्ािे वािे

कारक/ ्ाव, रका के उशा्, निाकि् )

अथिय,

साइबर त्ग, साइबर ठगप : साविानि्ाँ एवं सतरका उशा् ( बढ़्े ऑििाइि का्,् साइबर

ठगप की बढ़्प घटिाए,ँ साविानि्ाँ, इससे ब्िे के उशा् )

अथिय,

्ोग और िा् िपवि ( पस्ाविा, ्ोग से िाभ, िा् िपवि मे ्ोग का ववदेि महतव,

ध्ाि रखिे ्ों् बा्े, निाकि् )

15] वार-वववार पन््ोचग्ा मे पथम सथाि पाप् करके अन्रा्ाष्् स्र शर रेद का

पन्निचिाव करिे के लिए ववरेद ्ा्ा शर िािे वािे अशिे वप् लम् की हौसिाअरिाई

कर्े हतए १०० दबरो मे श् लिखे I [5]

अथिय, Page 11

ककसप पलसदि समा्ार श् के सशंारक को १०० दबरो मे श् लिखखए जिसमे खाद् वस त्ां

मे लमिावट के बारे मे िि्ा और पदासि को अशिे रान्ाव का निवा्ह करिे के लिए पेरर्

कक्ा ग्ा हो I

16] एक पन्जाट् का्ा्ि् मे लिवशक ( किक् ) के शर हे त् आवेरि करिे के लिए अशिा

सववतृ िेख ्ै्ार कीजिएI [5]

अथिय,

ककसप कॉिेि मे दहरं् ववि् मे सहा्क अध्ाशक के ररक् शर की िािकार् के लिए ई-मेि

करे I

17] अन्वजृाट के कारर कत ि दहर बाढ़गस् है I वहाँ के निवालस्ो की सहा््ा सामगप

एक् करिे हे त् ववजाशि िगभग ४५-५० दबरो मे ्ै्ार कीजिए I [4]

अथिय,

लदकक-दरवस के अवसर शर अशिे दहरं् लदकक के लिए एक भावशूर् सरेंद िगभग ४५-५०

दबरो मे लिखखए I
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Modi Public School, Siliguri
Preparatory Examination 2022-23

Class 10 Sub-Hindi B Time :3Hr F.M. :80
सामान् निर्द –

[1] यह प्र पत दो खण्ड मे विभाजित है- खं् ‘अ’ और ‘ब’ |

[2] खं् ‘अ’ मे उपप्रड सहहत 45 िसततपरर प्र पूछे गए है | हदए गए नरद्दड

रा पालर ररते हतए रत ल 40 प्रड रे उतर दीजिए

[3] खं् ‘ब’ मे िरर्ाामर प्र पूछे गए है , आंतररर विरलप भी हदए गए है |

[4] नरद्दड रो बहतत सािधारी से पहिए और उरर पालर रीजिए |

[5] दोरड खण्ड रे रत ल 18 प्र है |दोरड खण्ड रे प्रड रे उतर देरा अनरिाय् है|

[6] यथासभंि दोरड खण्ड रे प्रड रे उतर कमदम ललखखए |

खंड - अ (वस त्ुपर प्ि)

प्ि 1 निमिनलिख् गद्ांद रो ध्ािुपवरर ुढ़रप इसरे आधाप ुप सवाराधर उु त्क्

उतप वाले ववरलु चतिरप नलिखए- (1x5=5)

लोभी मरतषय बहतधा धर इसललए इरट्ा ररता है ,जिससे उसे करसी समय उसरी रमी र

पड़,े परनतत उसे धर री रमी हमेदा ही बरी रहती है | पहले उसरी रमी रजलपत होती

है ,परनतत पीछे िह यथाथ् या असली हो िाती है, कयडकर घर मे धर होरे पर भी िह उसे

राम मे रहीं ला सरता | लोभ से असतंोष िदृ्ध होती है और सतंोष रा सतख ख़ार मे लमल

िाता है | लोभ से मलूधर वयथ् बिता है और उसरा उपयोग रम होता है | लोभी रा धर

देखरे रे ललए, वयथ् रका रररे रे ललए और दसूरड रे ललए छोड़ िारे रो होता है |ऐसे धर

से कया लाभ? ऐसे धर रो इरट्ा रररे मे अरेर रष् उ्ारे री अपेका ससंार भर मे

जितरा धर है, उसे अपरा ही समझरा अचछा है कयडकर लोभी रा धर उसरे राम तो आता

रहीं, इसललए उसे दसूरे रा धर ही अपरा समझरे मे रोई भी हानर रहीं है |उससे उल्ा

लाभ है कयडकर उसे पारत रररे रे ललए पररशम रहीं रररा पड़ता | लोलभयड रो खिारे रा

सतंरी समझरा चाहहए | लोभी मरतषय िब तर िीते है, तब तर सतंरी रे समार अपरे धर

री रखिाली ररते है और मररे पर उसे दसूरे रे ललए छोड़ िाते है|

[1] उकत अितरर रा उपयतकत दीषर् है ?

[र] लोभी मरतषय [ख] लोभ

[ग] लोभ ओर मोह [घ] इरमे से रोई रहीं

[2] लोभी मरतषय धर कयड इरट्ा ररता है ?

[र] धरिार बररे हेतत [ख] धर री रमी रा पड़े

[ग] अपरे असतंोष रो दरू रररे हेतत [घ] रृपर र होरे रे रारर

[3] खिारे रा सतंरी करसे समझरा चाहहए?

[र] धरिार रो [ख] नरसिाथर वयजकत रो

[ग] लोलभयड रो [घ] लेखर रो

[4] लोभी रो खिारे रा पहरी कयड रहा गया है ?

[र] िह अपरे धर रो खच् रहीं ररता |

[ख] िह अपरे धर री रखिाली ररता है |

[ग] उसरे धर रा उपभोग उसरे मररे रे बाद रोई और ररता है |

[घ] इर सभी राररड से |

[5] लोभ से करसरी िदृ्ध होती है ?

[र] पेम री [ख] सतंोष री

[ग] असतंोष री [घ] इरमे से रोई रहीं |

प्ि 2 निमिनलिख् गद्ांद रो ध्ािुपवरर ुढ़रप इसरे आधाप ुप सवाराधर उु त्क्

उतप वाले ववरलु चतिरप नलिखए- (1x5=5)

महँगाई या मलूय िदृ्ध से आि समसत वि्ि तसत है |भारत बढती महँगाई री चपे् मे

बतरी तरह से िरड़ा हतआ है | िीिरोपयोगी िसततओं रे दाम हदर-पनतहदर बिते ही िा रहे

है ,जिससे िरसाधारर रो अायंत रह्राई रा सामरा रररा पड़ रहा है| महँगाई से देद रे

आ्थर् ढाँचे पर अाय्धर दिाब पड़ रहा है| महँगाई रे नरमम् चरर अरिरत रप से

अगसर है,पता रहीं िे रब और रहाँ ररेगे ? आि रोई भी िसतत बाज़ार मे ससते दामड पर

उपलबध रहीं है| समाि रा पायेर िग् महँगाई री मार रो अराहूत अनत्थ री तरह सहर

रर रहा है| इसरा सिग्ाही पभाि िीिर रे पायेर केत पर पड़ रहा है | सररारी योिराओं

पर अाय्धर खच् हो रहा है | अपरे सिाथ् रे ललए लोगड री धालमर्,सामाजिर तथा रैनतर

मानयताएं पीछे छू् िाती है और भष्ाचार रा बोलबाला हो िाता है |अथद्ासत री मानयता

है कर यहद करसी िसतत री मांग उापादर से अ्धर हो ,तो मलूयड मे सिाभाविर रप से

िदृ्ध हो िाती है|



1. आि महँगाई से रौर दतखी है ?

[र] उदयोगपनत [ख] सारा वि्ि [ग] चीर [घ] रेपाल

[2] महँगाई रे रारर देद रा रौर-सा ढांचा ्गमगा रहा है ?

[र] आ्थर् [ख] सामाजिर [ग] रािरैनतर [घ] रैनतर

[3] अथद्ासत रे अरतसार महँगाई रा कया रारर है ?

[र] मांग से अ्धर उापादर [ख] धालमर् मानयताएं

[ग] उापादर से अ्धर मांग [घ] रािरैनतर दिाब

[4] ‘अराहूत’ रा विलोम कया होगा ?

[र] हूत [ख] आहूत [ग] अहत [घ] राहतत

[5] इस गदयांद रा उपयतकत दीषर् है ?

[र] भष्ाचार [ख] अथद्ासत [ग] िमाखोरी [घ] महँगाई

प्ि 3 निर्दाितसाप ‘ुरबंध’ ुप आधारप् ुाँच बहतववरलुप् प्िश मे से करनहह चाप प्िश

रे उतप रहजिए – (1x4=4)

[1] हिाई करले बरारे िाले यतिरड सभंल िाओ |

[र] सजंा पदबंध [ख] सिर्ाम पदबंध

[ग] विदेषर पदबंध [घ] ककया-विदेषर पदबंध

[2] मतझे सतराई पड़ रहा है |

[र] सजंा पदबंध [ख] सिर्ाम पदबंध [ग] विदेषर पदबंध [घ] ककया -पदबंध

[3] ‘राि पारी मे ्ूबती चली गई |’ इस िाकय मे ककया पदबंध है -

[र] राि [ख] पारी मे [ग] चली गई [घ] ्ूबती चली गई

[4] देर री तरह दहाड़रे िाले ततम राँप कयड रहे हो ?

र] सजंा पदबंध [ख] सिर्ाम पदबंध

[ग] विदेषर पदबंध [घ] ककया -पदबंध

[5] हमारा सरूल गमर री छत टह्यड रे बाद आि खतला है|

[र] सजंा पदबंध [ख] सिर्ाम पदबंध

[ग] विदेषर पदबंध [घ] ककया-विदेषर पदबंध

प्ि 4 निर्दाितसाप ‘पचिा रे आधाप ुप वाक् भेर‘ ुप आधारप् ुाँच बहतववरलुप् प्िश

मे से करनहह चाप प्िश रे उतप रहजिए – (1x4=4)

[1] ‘अधयावपरा रे छाता री पदंसा री तथा उसरा उासाह बिाया |’ इस िाकय रा सरल

िाकय होगा -

[र] अधयावपरा रे छाता री पदंसा री और उसरा उासाह बिाया |

[ख] िब अधयावपरा रे छाता री पदंसा री तब उसरा उासाह बिाया |

[ग] यदयवप अधयावपरा रे छाता री पदंसा री तथावप उसरा उासाह बिाया |

[घ] अधयावपरा रे छाता री पदंसा रर उसरा उासाह बिाया |

[2] ‘िो ईमारदार है िही सममार रा सचचा अ्धरारी है | ’रचरा रे आधार पर यह िाकय

है-

[र] सरल िाकय [ख] सयंतकत िाकय

[ग] लमश िाकय [घ] नरषेधिाचर िाकय

(3) ‘राधा दौड़रर मेरे पास आई |’ िाकय रा सयंतकत रप है –

[र] राधा दौड़ी और मेरे पास आई |

[ख] राधा तेिी से दौड़रर मेरे पास आएगी |

[ग] राधा िलदी-िलदी दौड़ी और मेरे पास रहीं आई |

[घ] राधा िसेै हीं दौड़ी मेरे पास आ गई |

(4) ‘रमारे िाला खाएगा |’ िाकय रा लमश िाकय मे रप होगा –

[र] रमारे िाला ही खाता है | [ख] रमारे िाला ही खाएगा |

[ग] िब िह रमाएगा िैसे खाएगा | [घ] िो रमाएगा िह खाएगा |

(5) नरमरललखखत िाकयड मे से सरल िाकय छांह्ए-

[र] िो ईमारदार वयजकत होते है िे सफल होते है |

[ख] ईमारदार वयजकत सफल होते है |

[ग] िे ईमारदार और सफल वयजकत है |

[घ] सफल वयजकत ईमारदार रहीं हडगे |



प्ि 5 निर्दाितसाप ‘समास‘ ुप आधारप् ुाँच बहतववरलुप् प्िश मे से करनहह चाप प्िश

रे उतप रहजिए – (1x4=4)

[1] ‘विगमि’ मे रौर –सा समास है ?

[र] बहतवीही समास [ख] रमध्ारय समास [ग] दविगत समास [घ] तापतरष समास

[2] ‘ुाु ुतण्’ मे रौर –सा समास है ?

[र] बहतवीही समास [ख] रमध्ारय समास

[ग] दिंदि समास समास [घ] तापतरष समास

[3] ‘गतर रक्षा’ मे रौर –सा समास है ?

[र] गतर से दककरा - तापतरष समास [ख] गतर रा दककरा - तापतरष समास

[ग] गतर री दककरा - तापतरष समास [घ] गतर मे दककरा- तापतरष समास

[4] ‘रेद भजक्’ मे रौर –सा समास है ?

[र] बहतवीही समास [ख] रमध्ारय समास

[ग] दविगत समास [घ] तापतरष समास

[5] निमिनलिख् त्गमश ुप ववचाप रीजिए ;

समस् ुर समास

[र] हर घ्ी तापतरष समास

[ख] आिीिर अवययी भाि समास

[ग] पीतामबर दिंदि समास

[घ] चौराहा दविगत समास

उपयतकत यतगमड मे से रौर-से सही सतमेललत है –

[र] i और ii [ख] ii और iii [ग] iii और iv [घ] ii और iv

प्ि 6 निर्दाितसाप ‘मतहावपे‘ ुप आधारप् छह बहतववरलुप् प्िश मे से करनहह चाप प्िश

रे उतप रहजिए – (1x4=4)

[1] मतहािरे ओर अथ् रे उ्चत मेल िाले विरलप रा चयर रीजिए -

[र] हदल मे उतर चलरा - पता चलरा

[ख] सतराग र लमलरा - पभािदाली होरा

[ग] मील रा पाथर लसदध होरा - सामरा रररा

[घ] लमट्ी मे लमलारा - पूरी तरह रष् रररा

[2] इस रौररी रो पारे रे ललए मतझे बहतत .....................पड़ा |

[र] पापड़ बेलरा [ख] आग बबूला होरा

[ग एर हाथ पर रखरा [घ] आ्े रे साथ घतर पीसरा

[3] ‘तू लमत है या दतत है ? िहाँ भी िाता हँू ,िहीँ मेरे सामरे ............|’ -ररकत सथार री

पूनत ् रे ललए उ्चत विरलप रा चयर रीजिए -

[र] ्रेा ्ालता है | [ख] ायडररयाँ चिा लेता है |

[ग] हिा मे उड़ता है | [घ] दीिार खड़ी रर देता है |

[4] ‘दरू से मर रे भाि िार लेरा ‘- अथ् रे ललए उपयतकत मतहािरा है -

[र] उल्ी गगंा बहारा [ख] उनरीस - बीस होरा

[ग] आँखड मे ख्ररा [घ] उड़ती ्चड़ड़या पहचाररा

[5] रेखांकरत अदं रे ललए रौर –सा मतहािरा पयतकत रररा उ्चत होगा ?

सभी रो अनयाय और अायाचार रे खखलाफ विरोध रररा चाहहए |

[र] उदास होरा [ख] आिाज़ उ्ारा

[ग] अपरी बात रहरा [घ] मील रा पाथर लसदध होरा

[6] विदिार और िीर होरर भी रािर री ..................पड़ गया था कर उसरे माता सीता

रा अपहरर करया |

[र] अधंड मे रारा रािा [ख] एर पंथ दो राि

[ग] अकल पर पाथर पड़रा [घ] गागर मे सागर भररा

प्ि 7 निमिनलिख् ुद्ांद रो ुढ़रप ुपछे गए प्िश रे उतप रे नलए सहह ववरलु रा

च्ि रीजिए - (1x5=5)

हरर आप हरो िर री भीर |

दौपदी री लाि राखी , आप बिायो चीर |

भगत रारर रप ररहरर ,धरयो आप दरीर |



बूड़तो गिराि राखयो, रा्ी रतं िर पीर |

दासी मीरा लाल ्गरधर ,हरो महारी भीर ||

[1] इस पद री रचरा करसरे री ?

[र] रबीर रे [ख] मीरा रे [ग] ततलसी रे [घ] सरू रे

[2] रिनयती करसरी पीड़ा हररे री बात रर रही है ?

[र] अपरी [ख] भकत िर री [ग] दौपदी री [घ] रतं िर री

[3] हरर रे दौपदी री लाि रैसे रखी ?

[र] दौपदी री साड़ी रो बिारर [ख] दरीर धारर रररे

[ग] गिराि बररर [घ] पीड़ा लम्ारर

[4] रौर ्ूब रहा था ?

[र] गिराि (हाथी) [ख] भगत [ग] ररहरर [घ] पीर

[5] ‘हरर’ दबद रा पयोग करसरे ललए हतआ है ?

[र] मीरा रे ललए [ख] गिराि रे ललए

[ग] पीर रे ललए [घ] रृषर रे ललए

प्ि 8 निमिनलिख् प्िश रे उतप रेिे रे नलए उाच् ववरलु रा च्ि रीजिए– (1x2=2)

[1] कतधात् रंनतदेि रे कया करया ?

[र] अपरे हाथ रा भोिर रा थाल करसी भखेू रो हदया |

[ख] अपरी अजसथयाँ करसी रो दार रर दी |

[ग] अपरे दरीर रा मांस दे हदया |

[घ] रत छ रहीं |

[2] पित् अपरा महारार करस परार देख रहा था ?

[र] फूल रपी रेतड रो फाड़रर

[ख] चररड मे फैले तालाब रे िल मे नरहाररर

[ग] ‘र” और “ख” दोरड

[घ] इरमे से रोई रहीं

प्ि 9 निमिनलिख् गद्ांद रो ुढ़रप ुपछे गए प्िश रे उतप रे नलए सहह ववरलु रा

च्ि रीजिए - (1x5=5)

करससा कया हतआ था उसरो उसरे पद से ह्ारे रे बाद हमरे िज़ीर अली रो बरारस पहतँचा

हदया और तीर लाख रपया सालारा िज़ीफा मतरर्र रर हदया | रत छ महीरे बाद गिरर्

िररल रे उसे रलरता तलब करया | िज़ीर अली रंपरी रे िरील रे पास गया िो बरारस

मे रहता था और उससे लदरायत री कर गिरर् िररल उसे रलरता मे कयड तलब ररता

है | िरील रे लदरायत री परिाह रही री, उल्ा उसे बतरा - भला सतरा हदया | िज़ीर अली

रे हदल मे तो यँू भी अगेंिड रे खखलाफ रफरत रू् - रू्रर भरी हतई थी , उसरे खंिर से

िरील रा राम तमाम रर हदया |

[1] यह गदयांद करस पा् से ललया गया है ?

[र] रारतूस [ख] बड़े भाई साहब [ग] ्ू्ीं पवतयाँ [घ] तताँरा – िामीरड

[2] इस पा् रे लेखर रौर है ?

[र] लीलाधर [ख] हबीब तरिीर [ग] नरदाफाज़ली [घ] रिीनद रेलरर

[3] नरमरललखखत रथर (A) तथा रारर (R) रो धयारपूिर् पहिए | उसरे बाद हदए गए

विरलपड मे से रोई एर सही विरलप चतररर ललखखए –

रथर (A) िज़ीर अली रे हदल मे अगेंिड रे खखलाफ रफरत रू् - रू्रर भरी हतई थी|

रारर (R) अगेंिड रे रत दासर,अायाचारड,और दमररारी रीनतयड से िह राराज़ था,साथ हीं

िह देदभकत लसपाही था |

[र] रथर (A) तथा रारर (R) दोरड गलत है |

[ख] रथर (A) सही तथा रारर (R) गलत है |

[ग] रथर (A) गलत तथा रारर (R) सही है |

[घ] रथर (A) सही है तथा रारर (R) उसरी सही वयाखया ररता है |

[4] िज़ीर अली रो रहाँ तलब करया गया ?

[र] रलराता [ख] मतबंई [ग] बरारस [घ] गिललयर

[5] गदयांद रे आधार पर िज़ीर अली रे वयजकताि मे नरमरललखखत गतर देखे िा सरते है-

[र] बहादतर ,साहसी ,दढ इचछा –दजकत सपंनर ,िाँबाज़



[ख] बहादतर ,रायर ,दढ इचछा –दजकत सपंनर ,िाँबाज़

[ग] बहादतर ,साहसी ,दढ इचछा –दजकत सपंनर ,वि्िासघाती

[घ] देददोही ,साहसी ,दढ इचछा –दजकत सपंनर ,िाँबाज़

प्ि 10 निमिनलिख् प्िश रे उतप रेिे रे नलए उाच् ववरलु रा च्ि रीजिए(1x2=2)

नरमरललखखत मे से रौर से िाकय बड़े भाई साहब रहारी से पारत पेररा रो ददा्ते है –

[i] रथरी और रररी रा अतंर हमारी जसथनत रो हासयासपद बरा सरता है |

[ii] पढाई रे साथ खेल - रूद छात िीिर रे ललए आि्यर अगं है |

[iii] रेिल परीका से पहले पि लेरे से पथम आया िा सरता है |

[iv] बड़े भाई साहब जार री बाते लेखर रो आसारी से समझा देते है |

[र] रेिल (i) [ख] (i) और (ii) [ग] रेिल (iv) [घ] (ii) (iii) और (iv)

[2] िापार मे रौर –से रोग बि गए है ?

[र] दारीररर [ख] मारलसर

[ग] आजामर [घ] आ्थर्

खंड ब ( वषरिाामर प्ि )

प्ि 11 निमिनलिख् प्िश मे से करनहह रो प्िश रे उतप लगभग 60 दबरश मे रहजिए

(3x2=6)

[1] ‘असली लसपाही िो होता है िो देद रे ललए मर –लम्रे रो तैयार रहता है | िह मर

िाएगा लेकरर अपरे देद री आर – मार – दार पर आँच रहीं आरे देगा | ऐसे लसपाही रो

ही िाँबाि लसपाही रहते है |

‘राप प्स’ पा् मे भी एर िाँबाि लसपाही था |जिसे देखरर उसरे दत् मर भी उसे िाँबाि

लसपाही रहरे रे ललए मिबूर हो िाते थे |’-‘राप प्स’ पा् रे आधार पर लसदध रीजिए |

[2] एर लड़री है, सोराकी | पिरे मे राफी होलदयार है | पढरे रे साथ - साथ िह रत छ

समय रदी री दांत त्ड पर िारर बबताती है ,लहरड रे मधतर सगंीत रो सतररर अपरे मर

और मजसतषर रो आराम पहतँचाती है |

‘झिे री रेि’ पा् रे आधार पर सपष् रीजिए कर अपरे मजसतषर रो आराम पहतँचारे िाली

ककया री कया आि्यरता है |

14] निमिनलिख् मे से करसप एर ववष् ुप सरें् बबनरतु ं रे आधाप ुप लगभग 100

दबरश मे एर अितचछेर नलिखए – (5x1=5)

[1] चरपत –धि ----

.भलूमरा

.मरतषय रा िासतविर धर

.रैसे ित् ाएं चररत –धर

.चररत –धर रा िीिर मे उपयोग

.नरषरष्

अथवा

[2] िए त्ग रा ि्ा सवार ; फ़ास् फ़प ड

.तेज़ रफ़तार िीिर और समय रा अभाि

.फ़ास् फ़ू् रा रया सिाद

.लाभ और हानर

.नरषरष्

अथवा

[3] ुपह्ा रे रठिि ठरि-

. परीका री उपयो्गता

. परीका िीिर री रसौ्ी

. परीका मे सफलता रे उपाय

. नरषरष्

15] निमिनलिख् ववष्श मे से करसप एर ववष् ुप 100 दबरश मे एर ुत नलिखए-

(5x1=5)

[1] नरर् रे पाथर्ा – पूिाघरड मे लाउ्-सपीरर रे मरमारे पयोग से होरेिाली परेदानरयड

रा उललेख ररते हतए थामाधयक रो पत ललखखए |

अथवा

[2] सिसथ विभाग रे लापरिाह रिैये रे रारर खादय पदाथ् मे लमलाि् री समसया गभंीर

होती िा रही है | हदलली नरिासी सिल री ओर से विभाग रे नरदेदर रे राम पत

ललखखए |



[3] लेखर रे ऐसा कयड ललखा है कर “तीसरी रसम” रे साहहाय रचरा रे साथ दत –पनतदत

नयाय करया है ?

प्ि 12 निमिनलिख् प्िश मे से करनहह रो प्िश रे उतप लगभग 60 दबरश मे रहजिए

(3x2=6)

[1] ‘रर चले हम कफ़दा’ रविता मे करस परार री माृयत रो सौभागय री बात मारी गई है

और कयूँ ? रवि रे हमे इस रविता रे माधयम से कया सनदेद देरे री रोलदद री है ?

[2] “मरतषयता’ रविता मे रवि रे हमे एर होरर चलरे री पेररा देरे रे साथ ही

मारितािादी भािरा रो अपरारे री सीख भी दी है” – लसदध रीजिए |

[3] ‘िादगूर रा राम होता है तरह –तरह रे िादू रे खेल हदखारा | ‘पित् पदेद मे पािस’

रविता मे इंददेिता भी मारो िादगूर री तरह िादगूरी रा खेल हदखाते है |’ रविता रे

आधार पर सपष् रीजिए |

प्ि 13 निमिनलिख् प्िश मे से करनहह रो प्िश रे उतप लगभग 60 दबरश मे रहजिए

(3x2=6)

[1] ‘हमारे आधे से अ्धर साथी रािसथार या हररयारा से आरर मं् ी मे वयापार या

दतरारदारी रररे आए पररिारड मे से थे| िब बहतत छो्े थे तो उररी बोली रम समझ पाते |

उररे रत छ दबद सतररर हमे हँसी आरे लगती | परनतत खेलते तो सभी एर - दसूरे री बात

खूब अचछछ तरह समझ लेते |’ -‘सपरड रे-से हदर’ पा् रे आधार पर सपष् रीजिए कर

रोई भी भाषा आपसी वयिहार मे बाधा रहीं ्ालती |

[2] ‘िह तो मायरे री भाषा रो गले लगाए रही कयडकर इस भाषा रे लसिा इधर –उधर रोई

ऐसा रहीं था िो उररे हदल री बात समझता |िब बे्े री दादी रे हदर आए तो गारे –

बिारे रे ललए उररा हदल फड़रा ,परनतत मौलिी रे घर गारा – बिारा भला रैसे हो सरता

था , बेचारी हदल मसोसरर रह गई |’

इफ़फ़र री दादी अपरे मायरे कयड िारा चाहती थी ?

[3] ’अजार री जसथनत मे हीं मरतषय माृयत से ्रते है| जार होरे रे बाद तो आदमी

आि्रता पड़रे पर माृयत रो िरर रररे रे ललए तैयार हो िाता है |’ ‘हररहर रारा’ रहारी

रे आधार पर इस रथर रो सपष् रीजिए ?

16] निमिनलिख् ववष्श मे से करसप एर ववष् ुप लगभग 80 दबरश मे एर सपचिा

नलिखए | (4X1=4)

[1] मोदी पजबलर सरूल, लसलीगतड़ी रे साहहाय सगं्र रे अधयक होरे रे राते छात –

छाताओं रो ‘रविता िाचर पनतयो्गता’ री सचूरा दीजिए |

अथवा

[2] सिाससय विभाग, ,रई हदलली री ओर से समसत हदललीिालसयड रो यमतरा रदी मे रूड़ा-

रचड़ड रो रा फेररे रा नरद्द देते हतए सचूरा िारी रीजिए |

17] निमिनलिख् ववष्श मे से करसप एर ववष् ुप 60 दबरश मे एर ववजाुि नलिखए |

(3X1=3)

[1] बचचड री डसे से समबं्धत दरूार री िाररारी देते हतए करसी पनतष्त समाचार पत मे

60 दबदड मे विजापर ललखखए -

अथवा

[2] ‘सिाससय मतंालय’ दिारा ‘योग हदिस’ रे अिसर रे पचार-पसार रे ललए एर आरषर्

विजापर तैयार रीजिए |

प्ि 18 निमिनलिख् रो प्िश मे से करसप एर प्ि रा उतप (100 दबरश) मे नलिखए –

(5x1=5)

[1] ‘नमत री मरर’ विषय पर लघत रथा ललखे | `

अथवा

[2] आप रािेद बंसल है , आपरे मोहलले री पारी री पाइप फ् िारे से बहतत पारी बबा्द

हो रहा है, पारी री पाइप री मरममत हेतत िल बो्् अ्धरारी रो एर ई -मेल ललखखए |
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সাধারণ নির্দেশঃ- 
• ‘নিভাগ –ক’ এর ১নং থেকে ৪নং প্রকের থেকেোকনো নিিনি [অনুর্েদ]এর উত্তর করর্ি। 
• ‘নিভাগ –খ’ থের্ক ৫িং প্রর্ে থের্কার্িা দশনি, ৬িং ও ৭িং প্রর্ে উভয় থের্েই থের্কার্িা চারনি 

কর্র উত্তর করর্ি। 
• ‘নিভাগ –গ’ থের্ক ৮িং ও ৯িং প্রর্ে উভয় থের্েই থের্কার্িা পাাঁচনি কর্র উত্তর করর্ি।  
• ‘নিভাগ –ঘ’ থের্ক ১০িং প্রে হর্ি ১৭িং প্রে – সি প্রর্ের উত্তর নিখর্ি, ১৪িং প্রর্ে [অেিা] 

একনি উত্তর করর্ি। 
• ‘নিভাগ –ঙ’ থের্ক ১৮িং প্রর্ে [অেিা] থের্কার্িা একনি প্রিন্ধ নিখর্ি ও ১৯িং প্রর্ে [অেিা] 

থের্কার্িা একনি পে নিখর্ি। 

 
নিভাগ –ক [থিাধ পরীেণ] 

নির্চ থদওয়া চারনি অনুর্েদ থের্ক থের্কার্িা নিিনি পাঠ কর্র প্রদত্ত প্রেগুনির উত্তর দাও 
  ৩*[১*৪]=১২ 

১] দীঘে প্রিীো। ির্ির মর্ধে ছাগি িা িাছুর থিাঁর্ধ মাচায় ির্স িার্ঘর প্রিীো করার মি। 
রানে দুর্িা িাজর্ি েখি আর থদনর থিই, িখি রাখািিািরু মি িন্ধ ঘর্রর মর্ধে অনিষ্ঠ হর্য় উঠি;আজ িাাঁর 
নশকার আসর্ি িা। নঠক থসই সময় নিনি থদার্রর িাইর্র মৃদু শব্দ শুির্ি থপর্িি; মুহূর্িে িাাঁর স্নায়ুর্পনশ শক্ত 
হর্য় উঠি;নিনি নিঃশর্ব্দ পর্কি থের্ক নপস্তি িার করর্িি। 
থে মানুষনি নিঃসার্ে িানের্ি প্রর্িশ কর্র নসাঁনে নদর্য় ওপর্র উর্ঠ এর্সনছি,িাাঁর িাাঁ হার্ি নছি একনি 
কোনির্সর েনি,আর ডাি হার্ি নছি থিাহা-িাাঁধার্িা একনি ছনে। ছনের গার্য় নিি হাি িিা মুগার সুর্িা 
জোর্িা, মাছ-ধরা নছর্পর গার্য় থেমি সুর্িা জোর্িা োর্ক থসই রকম। 
থিাকনি থদার্রর মাোর নদর্ক িানঠ িানের্য় থঘাোর েুরনি িানমর্য় আিি, িারপর মুগার সুর্িার ডগায় থসনি 
থিাঁর্ধ নির্য় থিিিার নসাঁনে নদর্য় ছার্দ উর্ঠ থগি। দুনি মানুষ থে িানের দুই জায়াগায় ওি থপর্ি আর্ছ, িা 
থস জাির্ি পারি িা।ছার্দর দরজায় একিু শব্দ শুর্ি থিোমর্কশ সিকে হর্য় িসি। িের্ের আর্িায় একনি 
ছায়ামূনিে থিনরর্য় এি, থসাজা িোর্ের কার্ছ নগর্য় আির্সর ওপর উর্ঠ িোর্ের মাোয় চেি। ধািি শব্দ 
থশািা থগি। থস িোর্ের ঢাকনি খুর্ি সনরর্য় রাখি, িারপর িানঠর আগায় সুথ ো-িাাঁধা থঘাোর িাি জর্ির 
মর্ধে ডুনির্য় নদি।থিাকিা থেি আিছা অন্ধকার্র ির্স নছপ থের্ি চুর্িামাছ ধরর্ছ। নছপ থডািার্ে আর 
িুির্ছ। মাছগুনি িোর্গর মর্ধে পুর্র আিার নছপ থেির্ছ।কুনে নমনিি পর্র থিাকনি মাছধরা থশষ কর্র িোে 
থের্ক িামি। এক হার্ি িোগ আর অন্য হার্ি নছপ নির্য় থেই পা িানের্য়র্ছ, অমনি িাাঁর থখর ওপর দপ কর্র 
িচে জ্বর্ি উঠি, থিোমর্কর্শর িোঙ্গস্বর থশািা থগি,-‘অেয় মণ্ডি,থকমি মাছ ধরর্ি?’ 
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১.১] অপরাধীর িাাঁ হার্ি নছি,-েনি/নছপ/মাছ/িচে।           [১] 

১.২] প্রিীো শর্ব্দর সনন্ধ নির্েদ হি,-প্রনি+ইো/প্রিী+ঈো/প্রনি+ঈো/প্রিী+ইো।   [১] 

১.৩] অপরাধীর জন্য ছার্দ অর্পো করনছি,-থিোমর্কশ/রাখািিািু/অেয়/থিখক।      [১] 
১.৪] মুগার সুর্িানি িিা নছি,- নিিহাি/দুইহাি/পাাঁচহাি/একহাি।       [১] 
 

২]আমার্দর ভারিীয় ভাষাগুনির িুিিায় জাপািী ভাষায় কিগুনি অসুনিধা আর্ছ। োরা একিু খির রার্খি 
িারা থসিা জার্িি। একিা অসুনিধা হি এই থে, আমার্দর থেমি অল্প সংখেক অের দ্বারাই সি িাকে 
থিখাও োয়, িইর্ি ছাপার্িা োয়, জাপািী ভাষার্ি থস িেিস্থা থিই। আর্ছ নির্জর্দর ভাষার অের ও চচনিক 
অের প্রায় হাজার নির্িক। োরা উচ্চনশোয় ইেুক িার্দর এই সিকিাই নশখর্ি হয়। এর জন্য আমার্দর 
থদর্শর নশশুর্দর থেমি মািৃভাষা িছর দুর্য়ক িা িছর নির্ির্কর মর্ধে চিিসই আয়র্ত্তর মর্ধে এর্স োয়, 
অেচ জাপািী ভাষা নশখর্ি থসখািকার থছর্ির্মর্য়র্দর িার্গ গর্ে প্রায় ছয় িছর। এি অসুনিধা োকা সর্েও 
এমিই গর্িের অিস্থা জাপািী ভাষার থে, প্রর্িেক জাপািী নিজ্ঞািী, জাপািী দাশেনিক – প্রর্িের্ক নির্জর 
মর্ির  
প্রর্িেকনি কো জাপািীর্ি প্রকাশ করর্ি পার্রি। এর্ি সুনিধা এই থে,েখি জাপার্ি প্রেম িাধেিামূিক 
প্রােনমক নশো চািু হর্য়নছি, িখি িার জন্য নশেক পাওয়ার থকার্িা অসুনিধা হয়নি। এমি নশেক, নেনি 
জাপািী ভাষায় নিজ্ঞাি িা অন্যান্য কিানিদো আয়ত্ত কর্রর্ছি, নিনিও মািৃভাষা পোর্ি পার্রি। এইজন্যই 
জাপার্ি দ্রুি নশোর নিস্তার হর্য়র্ছ। জাপািী মানুষর্দর মর্ধে নশো ও সহির্ির থে থ োধ আর্ছ িা অর্িক 
জানির কার্ছই ঈষোর নিষয়। নকন্তু,মজার ঘিিা হি থে,জাপািীরা খুি নিিয়ী। িারা নশোর সম্মাি কর্র, নকন্তু 
িোই কর্র িা। মািৃভাষায় নশোর ধারিা জাপািীরাই প্রেম এর্িনছি নকিা থসিা ির্কের নিষয় হর্ি পার্র, 
নকন্তু মার্য়র কার্ছই থে সন্তাি সির্চর্য় সুরনেি ও সহজাি িা থিাধ করর্ি থপর্রই িারা মািৃভাষার মূিে ও 
গুরুত্বর্ক সিেদা সম্মাি কর্রর্ছ। হয়ি,নির্দনশ ভাষায়, নির্শষিঃ ইংরানজর্ি নশোর প্রসার ঘিার্ি থদশীয় 
থিার্কর ভাষানশো সম্প্রসানরি হি, নকন্তু থশখার সহজাি সুখ থের্ক িারা িনিি হর্িি।  
জাপািীরা িুঝথি থপথরনছি থে, মার্য়র কার্ছ আিদার কর্র ো চাওয়া ও পাওয়া োয়, িার থের্ক থিনশ সুস্থিা 
থকার্িা প্রানির্ি থিই। িাই জাপািীরা নির্জর ভাষায় সািিীি ও সহজ। জাপািীরা থে এিগুনি নভন্ন নভন্ন 
নশো গ্রহি করর্ি সেম, িার পূণে কৃনিত্ব িার্দর মািৃভাষার প্রনি আত্মনির্িদি।      
 

২.১]জাপািী ভাষার অের্র অন্য অের আর্ছ,- চচনিক/নহব্রু/ভারিীয়/থকানরয়াি।     [১] 
২.২]জাপািী নশশুর্দর মািৃভাষা নশখর্ি সময় িার্গ,- ছয় িছর/নিি িছর/পাাঁচ িছর/চার িছর।  
            [১] 
২.৩]জাপার্ি িাধেিামূিক হি,- প্রােনমক নশো/মাধেনমক নশো/স্নািক নশো/নিজ্ঞাি নশো।  
           [১] 
২.৪]জাপািী ভাষায় নির্দনশ অের আর্ছ,-নিি হাজার/চার হাজার/থদে হাজার/পাাঁচ হাজার। 

    [১]  
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৩] ক্লাইি,এনপ্রি-থম দুই মাস মুনশেদািার্দর থরনসর্ডন্ি ওয়ািসˎ সার্হি দ্বারা, িিার্ির প্রধাি প্রধাি 
কমেচারীনদর্গর সনহি মন্ত্রণা কনরর্ি িানগর্িি। 
এইরূর্প সমুদয় নস্থরকৃি হইর্ি ক্লাইি নসরাজর্দৌল্লার্ক এই মর্মে পে নিনখর্িি থে, আপনি ইংর্রজনদর্গর 
অর্িক অনিষ্ট কনরয়ার্ছি,সনন্ধপর্ের নিয়ম িঙ্ঘি কনরয়ার্ছি,থে থে েনিপূরণ স্বীকার কনরয়ানছর্িি িাহা 
প্রদাি কর্রি িাই এিং ইংর্রজনদগর্ক িাংিা হইর্ি িাোইয়া নদিার নিনমত্ত েরাসীনদগর্ক আহ্বাি 
কনরয়ার্ছি। অিএি, আনম স্বয়ং মুনশেদািাদ োইর্িনছ, আপিার সভার প্রধাি প্রধাি থিাকনদর্গর উপর ভার 
নদি, িাাঁহারা সকি নিষর্য়র মীমাংসা কনরয়া নদর্িি। িিাি, এই পর্ের থিখিভনঙ্গ থদনখয়া এিং ক্লাইি স্বয়ং 
আনসর্ির্ছি ইহা পাঠ কনরয়া অনিশয় িোকুি হইর্িি এিং ইংর্রজনদর্গর সনহি েুদ্ধ অপনরহরণীয় নস্থর 
কনরয়া অনিির্ি চসন্য সংগ্রহপূিেক কনিকািা অনভমুর্খ োো কনরর্িি। ক্লাইিও ১৭৫৭খ্ীঃ জুি মার্সর 
প্রারর্েই আপি 
চসন্য িইয়া প্রস্থাি কনরর্িি। নিনি ১৭ই জুি কার্িায়ার্ি উপনস্থি হইর্িি এিং পরনদি িোকার দুগে 
আক্রমণ ও অনধকার কনরর্িি। 
১৯র্শ জুি,থঘারির িষো আরে হইি। ক্লাইি িদী পার হইয়া িিার্ির সনহি েুদ্ধ কনর নক নেনরয়া োই,মর্ি 
মর্ি এই আর্দািি কনরর্ি িানগর্িি। পনরর্শর্ষ,নির্িচিা কনরয়া ভার্গে োহা োর্ক ভানিয়া, েুদ্ধপেই 
অিিিি কনরর্িি। নিনি নস্থর িনুিয়ানছর্িি, েনদ এিদূর আনসয়া এখি নেনরয়া োই, িাহা হইর্ি িাংিার্ি 
ইংর্রজর্দর অভুেদর্য়র আশা এর্কিার্র উনেন্ন হইর্িক।  
২২র্শ জুি, সূর্েোদয়কার্ি চসন্যসকি গঙ্গা পার হইর্ি আরে কনরি। িাহারা অনিশ্রান্ত গমি কনরয়া রানে 
প্রায় দুই প্রহর্রর সময় পিাশীর িাগার্ি উপনস্থি হইর্িি।    
 

৩.১] মুনশেদািার্দর থরনসর্ডন্ি নছর্িি,- ক্লাইি/ওয়ািসˎ/থিনন্িেস/কাজেি।  [১] 
৩.২] ক্লাইি কার্িায়ার্ি থপৌাঁছাি,- ১৯র্শ জুি/১৭ই জুি/২২র্শ জুি/৩রা জুি।       [১] 
৩.৩] নসরাজর্দৌল্লা থডর্ক এর্িনছর্িি,-েরাসীর্দর/ইংর্রজর্দর/ওিদাজর্দর/োরনসর্দর।   [১] 

৩.৪] ‘মীমাংসা’ শব্দনির সনন্ধ নির্েদ হি,- নমমািˎ+সা/নমমাং+সা/নমমামˎ+সা/নমমˎ+ঙশা।[১] 
 

৪] িাংিার্দর্শর চাাঁদপুর থের্ক কিকািায় হানজর হি গনরি নিধিা মার্য়র একমাে সন্তাি চিদেিাে। উর্েশ্য, 
নির্জর থমরুদর্ণ্ডর থজার্র প্রনিষ্ঠািাভ কর্র মার্য়র দুঃখ থঘাচার্িা। এই শহর্র ব দেিার্ের এক মামা োর্কি। 
নকন্তু, িাাঁর কার্ছ থস থকার্িা সহায়িা থির্িিা, মাো থিায়ার্ি িা। িরং, আশ্রয় নিি িািেিন্ধু নিশুর িানের্ি। 
‘আশ্রয়’ মার্ি মুিিঃ মাো থগাাঁজা, থকার্িামর্ি থমর্ির ওপর খির্রর কাগজ থপর্ি রািিকুু কািার্িা। 
নিশুর্দর অিস্থাও িথেিচ। নুি আির্ি নিয়নমি পান্তা েুরায়। িিওু িারা েত্নআনত্তর্ি োাঁক রাখর্ি চায়িা। 
থগাাঁ িরং চিদেিার্েরই থিনশ। এি িীক্ষ্ণ আত্মসম্মাির্িাধ থে কারও কার্ছ হাি পাির্ি িা। সিসময় িার মর্ি 
আশো,থস হয়র্িা নিশুর্দর ওপর থিািা হর্য় দাাঁোর্িা। সািসকার্ি থকার্িামর্ি দুনি মুর্খ গুাঁর্জ থিনরর্য় োয় 
কার্জর থখাাঁর্জ। নদিমাি থিা থিা কর্র ঘুর্র রার্ি ক্লান্ত হর্য় নের্র ঘুনমর্য় পর্ে জি থখর্য়। থখর্ি অনুর্রাধ 
করর্ি থচায়াি শক্ত কর্র জািায়, িাইর্র থের্ক থখর্য় এর্সনছ। নিশু থিার্ি, নমর্েে িির্ছ।                                               
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এইভার্ি প্রনিনদি, কর্য়ক মাইি হাাঁিার থজর চিদেিার্ের শরীর কিিা নির্ি পারর্িা থক জার্ি, নকন্তু পার্য়র 
জুর্িািা আর পারর্িা িা, নির্রাহ কর্র িসি। থপর্রক থির্রক উর্ঠ নগর্য় োর্েিাই অিস্থা। উপরন্তু, 
চিদেিার্ের চূোন্ত অির্হিায় থসই জং ধরা থপর্রক পার্য় েুর্ি নগর্য় সাংঘানিক ইির্েকশি, প্রিি জ্বর, 
অসহ্য েন্ত্রণা। শুরু হি ের্ম-মানুর্ষ িািািানি। ভনিে করা হি কারমাইর্কি [িিেমার্ি আর. নজ.কর.] 
হাসপািার্ি। প্রােনমক পরীোর পর শিে নিভার্গর হাউস নেনজনশয়াি থসাজাসাপিা জানির্য় নদর্িি, এি 
গুরুির থসপনিক ইির্েকশি হর্য়র্ছ থে প্রাণ িাাঁচার্ি থগর্ি রুনগর পা থকর্ি িাদ থদওয়া ছাো উপায় থিই। 
িারা িির্িি, ডঃ রার্য়র কাছ থের্ক সিিা শুর্ি অপার্রশর্ির িানরখ নঠক করর্ি। থক ডঃ রায়? আর্র, 
নিধাি চন্দ্র রায়। এর পর্রর ঘিিা খুি অদ্ভুি। ডঃ রায় চিদেিার্ের পা থদর্খ রায় নদর্িি, ধুর্! থকার্িা 
দরকার থিই অপার্রশর্ির,ওষুর্ধই থসর্র োর্ি। িাস্তনিক হিও িাইই।  
 

৪.১] চিদেিার্ের িানে,- চাাঁদপুর/চাাঁনদপুর/চাদপুর/চনন্ডপুর।        [১] 
৪.২] ‘থগাাঁ’ শর্ব্দর অেে হি,- থজদ/ইর্ে/রাগ/অনভমাি।         [১] 
৪.৩] নুি আির্ি পান্তা েুরায়,- নিশুর/চিদেিার্ের/থিখর্কর/নিধার্ির।        [১] 
৪.৪] আর.নজ.কর.-র িাম নছি,- কারমাইর্কি/কারমাইকোি/কারমোইর্কি/কারনমকাি। [১] 
 

নিভাগ – খ [িোকরণ] 
৫] প্রদত্ত নিকল্পগুনি থের্ক সনন্ধর সনঠক উত্তরনি নিিোচি কর – থের্কার্িা দশনি।[১*১০=১০]  

৫.১] ‘জগৎ+ঈশ্বর’ সনন্ধেুক্ত হর্ি হর্ি,-  

অ] জগনদস্বর  আ] জগদীশ্বর  ই] জগিীশ্বর  ঈ] জগস্বর 
৫.২] ‘নিনেন্ন’ শর্ব্দর পূিেপর্দর থশষিণে ও পরপর্দর প্রেমিণে হি,- 

অ] ই+ছˎ  আ] ঈ+ছˎ  ই] চˎ+ছˎ  ঈ] ই+চˎ 

৫.৩] ‘নিপদˎ+নচন্তা’ সনন্ধেুক্ত হর্ি হর্ি,- 

অ] নিপনচ্চন্তা  আ] নিপদনচ্চন্তা  ই] নিপনেন্তা     ঈ] নিপৎনচ্চন্তা 
৫.৪] ‘জগজ্জিিী’ সনন্ধনির্েদ হি,- 

অ] জগিˎ+জিিী  আ] জগৎ+জিিী  ই] জগˎ+জিিী    ঈ] জগদˎ+জিিী 

৫.৫] ‘িৎকািীি’ শর্ব্দর পূিেপর্দর থশষিণে ও পরপর্দর প্রেমিণে হি,- 

অ] দˎ+কˎ  আ] িˎ+কˎ  ই] ৎ+কˎ  ঈ] ডˎ+কˎ 

৫.৬] ‘উদ্ধার’ শব্দনির সনন্ধনির্েদ হি,- 

অ] উদˎ+হার  আ] উিˎ+হার  ই] ঊৎ+হার  ঈ] উিˎ+হার 

৫.৭] ‘সন্নোসী’ শর্ব্দর পূিেপর্দর থশষিণে ও পরপর্দর প্রেমিণে হি,- 

অ] ঙ+মˎ  আ] িˎ+মˎ  ই] মˎ+িˎ  ঈ] িˎ+িˎ 
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৫.৮] ‘রাজˎ+িী’ সনন্ধেুক্ত হর্ি হর্ি,-  

অ] রাজ্ঞী  আ] রাগ্নী  ই] রাজ্জী  ঈ] রোজ্ঞনী  
৫.৯] ‘প্রশংসা’ শর্ব্দর সনন্ধনির্েদ হি,- 

অ] প্রশিˎ+সা  আ] প্রশং+সা  ই] প্রশঙ+সা      ঈ] প্রশমˎ+সা 

৫.১০] ‘নদকˎ+মণ্ডি’ সনন্ধেুক্ত হর্ি হর্ি,- 

অ] নদঙমণ্ডি  আ] নদগমণ্ডি  ই] নদক্কমণ্ডি  ঈ] নদংমণ্ডি 

৫.১১] ‘নিদুেৎ+থিখি’ সনন্ধেুক্ত হর্ি হর্ি,- 

অ] নিদুেংর্ল্লখি  আ] নিদুের্ল্লখি  ই] নিদুেির্ল্লখি      ঈ] নিদুের্ল্লখি 
৫.১২] ‘সংস্কিৃ’ শর্ব্দর সনন্ধনির্েদ হি,- 

অ] সমˎ+কৃি  আ] সিˎ+কৃি  ই] সংসˎ+কৃি       ঈ] সণˎ+কৃি 

৬] প্রদত্ত নিকল্পগুনি থের্ক নির্দেশ অনুোয়ী িাকে পনরিিের্ির সনঠক উত্তরনি নিিোচি কর – থের্কার্িা 
চারনি।          [১*৪=৪]  
৬.১] ‘আমরা এি সহর্জ নকছুই পাইনি’-িাকেনির জনিি রূপ হি,- 
অ] আমরা ো থপর্য়নছ িা কষ্ট কর্রই থপর্য়নছ 
আ] আমার্দর ো পাওয়ার নছি সি কষ্ট কর্র পাওয়া 
ই] আমরা কষ্ট কর্রই সি থপর্য়নছ 
ঈ] আমরা কষ্ট করিাম ও সহর্জ সি থপিাম 
 

৬.২] ‘আমরা নিনভর্ি ো থদখিাম িাই নশখিাম’-িাকেনির সরি রূপ হি,- 
অ] আমরা নিনভ থদর্খ নশর্খনছ 
আ] আমরা নিনভ থদখিাম ও নশখিাম 
ই] নিনভর্ি অর্িক নকছু থদখায় 
ঈ] নিনভ থদর্খ অর্িক নকছ ুজািিাম  
 

৬.৩] ‘থস দনরর হর্িও সৎ’- িাকেনির থেৌনগক রূপ হি,- 
অ] থস দনরর নকন্তু সৎ   আ] থস দনররও সৎও 
ই] থে দনরর থস সৎ   ঈ] দনরররা সৎ হয় 
 

৬.৪] ‘থে িািাি ভুি করর্ি থস কম িির পার্ি’- িাকেনির সরি রূপ হি,- 
অ] েখি িািাি ভুি হর্ি িখি িির কম আসর্ি আ] িািাি ভুি হর্িই িির কম হর্ি 
ই] িািাি ভুি করর্ি আর িির কম পার্ি  ঈ] িািাি ভরু্ি িির কম আর্স 
 

৬.৫] ‘থে-থস’ হি,- 
অ] প্রনিনির্দেশক শব্দ   আ] সংর্োজক অিেয় 
ই] সার্পে শব্দ    ঈ] উহ্য কিো 
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৭] প্রদত্ত নিকল্পগুনির সনঠক ভাষগি রূপান্তরনি থির্ছ নির্য় থিখ – থের্কার্িা চারনি।[১*৪=৪] 
৭.১] ‘গাছিার্ক থরাজই থদখার্ে থিাকার মর্িা’- সাধুরূপনি হি,- 
অ] িেৃনির্ক প্রনিনদিই থদখাইর্ির্ছ নির্িোর্ধর ন্যায় 
আ] িেৃনির্ক প্রায়ই থদখার্ে নির্িোর্ধর মর্িা 
ই] গাছনির্ক থদখাইর্ির্ছ নির্িোর্ধর মর্িা 
ঈ] িেৃনির্ক থদখাইর্ির্ছ নির্িোর্ধর নিনমত্ত 
৭.২] ‘প্রিীো কনরর্ি কনরর্ি এক প্রহর ____ থগি’- শূন্যস্থার্ির সাধুশব্দনি হি,- 
অ] থকর্ি    আ] কানিয়া 
ই] িনহয়া    ঈ] সমাি 
৭.৩] ‘রার্ের অনন্তর্ম খণ্ড খণ্ড জিধর্র থিনষ্টি অির্র েীণ নিধুর উদয় হইি’- চনিিরূপনি হি,- 
অ] থশষ রার্ি ভাঙ্গা ভাঙ্গা থমর্ঘ ঢাকা আকার্শ সরু চাাঁদ উঠি 
আ] রার্ির থশর্ষ হাল্কা হাল্কা থমর্ঘ ঢাকা আকার্শ থরাগা চাাঁদ থদখা নদি 
ই] রার্ির থশর্ষ ভাঙ্গা ভাঙ্গা থমর্ঘ ঢাকা আকার্শ সরু চাাঁদ উঠি 
ঈ] রার্ির থশষ নদর্ক ভাঙ্গা ভাঙ্গা থমর্ঘ ভরা আকার্শ একোনি চাাঁদ উঠি 
৭.৪] ‘পনেিাম’ শব্দনির চনিিরূপ হি,- 
অ] পেিাম    আ] পের্িম 
ই] পেিুম    ঈ] পেি 
৭.৫] ‘আনমিা থিমিই অিনিদূর্র অর্ধামুর্খ দাাঁোইয়া রনহি’- চনিিরূপ হি,- 
অ] আনমিা থিমনি সামর্িই আর্ধক মুর্খ দাাঁনের্য় োকি 
আ] আনমিা থিমনি কার্ছই মাো নিচু কর্র দাাঁনের্য় রইি 
ই] আনমিা থসভার্িই একিু দূর্র মুখ িানমর্য় খাো োকি 
ঈ] আনমিা থসরকমই সামর্িই মাো িানমর্য় দাাঁনের্য় রইি 

 
নিভাগ – গ [গদে ও সহায়ক পাঠ] 

৮] পাঠে গদে থের্ক প্রদত্ত প্রেগুনির সনঠক উত্তরনি থির্ছ নির্য় থিখ - থের্কার্িা পাাঁচনি। 
  [১*৫=৫]  

৮.১]কনদি আর্গই  পকনর থে আত্মীর্য়র নির্য় হর্য়নছি নিনি িপর্ির,- 
অ] ির্োনপনস  আ] ির্োমানস  ই] থছার্িামানস     ঈ] থছার্িানপনস 
৮.২] ‘চার্য়র থিনির্ি ওর্ঠ কোিা’- চা-পাি হনেি,- 
অ] রার্ি  আ] নির্কর্ি  ই] সকার্ি  ঈ] সন্ধোয় 
৮.৩] আর্িািািু পানখর ছািািার্ক নকর্িনছর্িি,- 
অ] দু-আিা নদর্য়     আ] নিি-আিা নদর্য় 
ই] পাাঁচ-আিা নদর্য়    ঈ] চার-আিা নদর্য় 
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৮.৪] আর্িািািরু হাসপািার্ি চাকনরনি নছি,- 
অ] মাসখার্িক     আ] মাস দুর্য়ক 
ই] মাস চার্রক     ঈ] সিাহ দুর্য়ক 
৮.৫] সন্নোসীনি জগদীশিািরু িানের্ি নছর্িি,- 
অ] সািনদি  আ] আিনদি  ই] িয়নদি  ঈ] দশনদি 
৮.৬] হনরদার ঘর্র আড্ডা নদি,- 
অ] চারজি  আ] নিিজি  ই] পাাঁচজি  ঈ] দুইজি 
৮.৭] হনরদা পুনিস থসর্জ ঢুর্কনছি,- 
অ] দয়ািিািরু আমিাগার্ি    আ] দয়ািিািরু নিচুিাগার্ি 
ই] মাস্টারমশাইর্য়র নিচুিাগার্ি   ঈ] িাঘাদার িাাঁশিাগার্ি 
৮.৮] থিখক আর্িািািরু পানখর পার্য় িানগর্য় নদর্য়নছর্িি,- 
অ] থডিি  আ] নিংচার আর্য়ানডি ই] থিিানডি  ঈ] স্যাভিি 
 
৯] সহায়ক পাঠ থের্ক প্রদত্ত প্রেগুনির সনঠক উত্তরনি থির্ছ নির্য় থিখ – থের্কার্িা পাাঁচনি। 

[১*৫=৫]  
৯.১] ‘নশিানদিে’ ও ‘থগাহ’- উভয় গর্ল্পর মুি গ্রন্থ হি,- 
অ] রাজকানহিী  আ] রাজকানহনি  ই] রাজাকানহনি    ঈ] রাজারকানহনি 
৯.২] সূেের্দির্ক থে প্রদীপ নদর্য় িৃদ্ধ ব্রাহ্মণ আরনি করর্িি িার ওজি নছি,- 
অ] নেশ থসর  আ] নেশ মি  ই] নেশ নকর্িা    ঈ] নেশ থপায়া 
৯.৩] সুভাগা মনদর্র এর্সনছর্িি,- 
অ] থপৌষ মার্স  আ] মাঘ মার্স  ই] োলু্গি মার্স    ঈ] আষাঢ় মার্স 
৯.৪] ‘ভাইয়া রাগ কর্রনছস?’- িক্তা হর্িি,- 
অ] গার্য়নি  আ] মান্ডনিক  ই] থগাহ     ঈ] পুষ্পিিী 
৯.৫] ‘নসংর্হর মি থিজস্বী’- থক? – 
অ] নশিানদিে  আ] থগাহ  ই] মান্ডনিক    ঈ] গার্য়ি 
৯.৬] ‘পুষ্পিিী _____ পাহার্ের গুহায় আশ্রয় নির্িি’- শূন্যস্থার্ির পাহার্ের িাম,- 
অ] মানিয়া  আ] িনিয়া  ই] জানিয়া  ঈ] নদনদদা 
৯.৭] থে েির্ির দি িল্লনভপুর আক্রমণ কর্রনছি, িার্দর িাম,- 
অ] পারদ  আ] িাম্র   ই] আকনরক  ঈ] শ্যামী  
 

নিভাগ – ঘ [গদে, পদে ও সহায়ক পাঠ] 

 
১০] ‘এর্কিার্র নিছক মানুষ’ – ‘নিছক মানুষ’ িির্ি নক থিািায়? এখার্ি থক, কার সম্পর্কে এরকম 

থভর্ির্ছ?            [১+২] 
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১১] ‘ওসি হি সুদর সুদর এক একনি িিিা’ –  সপ্রসঙ্গ িোখো কর।  [৩] 
 

১২] ‘থচহারা অিশ্য িার্মর উপেুক্ত িয়।’ –  উনক্তনির েোেেিা নিচার কর।     [২] 
 

১৩] ‘ির্ো চমৎকার আজর্কর এই সন্ধোর থচহারা’ –   সন্ধোর িণেিা দাও।  [২] 
 

১৪] সপ্রসঙ্গ িোখো কর।        [৫] 
১৪.১] ‘আমার্দর ডাি পার্শ ধ্বস 

 আমার্দর িাাঁর্য় নগনরখাদ’ 
অেিা, 

১৪.২] ‘জিমািিনিহীি থস্টশি, আকাশ ভরা িারায় 

 এমি একনি থদর্শ আসর্ি সক্কর্ি পে হারায়’ 
১৫] ‘সকার্ি প্রভাির্েনরর সর্ঙ্গ 

থভার্রর আজাি 

একাকার্র নমনির্য় োর্ে’       [২+৩]  

‘সকার্ির প্রভাির্েনর’ িির্ি নক থিািায়? কেভার্ি ‘প্রভাির্েনর’ ও ‘আজাি’ নমর্ি োর্ে? ১৬] ‘িৎর্স, 

থদিিার ির্র মৃিুে হয় িা, থদিিার অনভশার্প মৃিুে হয়, িুনম ির প্রােেিা কর।’   

      [১+২+২]  

– িক্তা থক? নিনি কখি, কার্ক একো ির্িনছর্িি? এর পর্র নক আশ্চেেজিক ঘিিা ঘর্ি? ১৭] ‘থস সাধ 

থকাো পূণে হি...’ 
- কার থিখা, থকাি গর্ল্পর অংশ? মুি গ্রর্ন্থর িাম নক? কার, থকাি সার্ধর কো িিা হর্য়র্ছ? থকি 

থসই সাধ পূণে হি িা?    [১+১+২+১] 
 

নিভাগ – ঙ [নিনমেনি] 

নির্চ থদওয়া নিষয়দুনির থের্ক থের্কার্িা একনি অিিির্ি প্রিন্ধ রচিা কর।        [৫] 
১৮.১] থিামার জীির্ির িেে 

অেিা, 
১৮.২] সমর্য়র মূিে 
 

নির্চ থদওয়া নিষয়দুনির থের্কার্িা একনি অিিির্ি পে রচিা কর।        [৫] 
১৯.১] মর্ি কর্রা,থিামার থছার্িাভাই থহার্স্টর্ি োর্ক। চিজিনদ খািার ও ঠাণ্ডা পািীর্য়র প্রভাি জানির্য় 
িার্ক একনি নচনঠ থিখ। 

অেিা, 
১৯.২] হিাৎ কর্র থিািিানিি হওয়ায় চদিনদি জীির্ি নক প্রভাি পর্েনছি িা জানির্য় নির্দর্শ োকা 
কাকার্ক একনি নচনঠ থিখ।  
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Modi Public School, Siliguri 
Preparatory Examination - 1 2022-23 

Class 10 LANGUAGE 2 - Nepali Time :3Hr F.M. :80 

भाग – एक 

खण्ड – क [अपठित गद्ाांश र काव्ाांश] 

ठिम्िठिठखत दुईवटा  गद्ाांशबाट कुिै एकमा ठदइएका प्रश्नहरूका उत्तर िेख्िुहोस ्|  [5×1=5] 
 

 भारतीय संस्कृततको इततहास बहुतै प्राचीन हो | यसलाई जान्न भन्दा पतहला संस्कृत शब्दको सम्झना [स्मरण] गनन 

आवश्यक छ | संस्कृतको सामान्य अर्न हो – मानव जीवनको दैतनक आचार – व्यवहार ,रहन – सहन तर्ा तिया – कलाप 

आतद | वास्तवमा संस्कृततको तनमानण एउटा लामो परम्परा बादमा हुन्छ | संस्कृतत तवचार अतन आचरणको त्यो तनयम र मलू्य 

हो जो कुनै समाजले आफ्नो अतीतबाट तवरासतको रुपमा प्राप्त गछन  | यसैले भतनन्छ हामीले आफ्नो संस्कृततलाई अतीतबाट 

तवरासतको रूपमा प्राप्त गछौं | दोस्रो शब्दमा भनौं भने त संस्कृतत एक तवतशष्ट जीवनशैलीको नाम हो | यो एक सामातजक 

तवरासत हो जो परम्पराबाट चतलआइरहेको छ | 

 प्रायः सभ्यता र संस्कृततलाई एउटै मातनन्छ तर यसमा भेद छ | सभ्यता मनुष्यका जीवनको भौततक पक्ष प्रधान छ 

अर्ानत् सभ्यताको अनुमान भौततक सुख – सुतवधाहरूबाट लगाउन सतकन्छ | यसको तवपरीत संस्कृततमा आचार र तवचार 

पक्षको प्रधानता हुन्छ | यसैले सभ्यतालाई शरीर भतनन्छ भने संस्कृततलाई आत्मा | यसर्न यी दवुैलाई अलग गरेर हरेरंदैन | 

वास्तवमा दवुै एक – अकानका पूरक हुन् | 

1] भारती् सांस्कृठतिाई जान्ि अठि केको स्मरण गिन आवश््क छ  ? 

i] अतीतको | ii] मानव जीवनको   iii] दैतनक आचरणको|  iv] संस्कृत शब्दको | 

2] ठवचार अठि आचारणको मूल्् र ठि्म हामीिे कहााँबाट पाएका  हुन्छौं  ? 

i] अतीतबाट तवरासतको रुपमा |  ii] लामो परम्परा बादमा |  

iii] भतवष्यबाट तवरासतको रुपमा|  iv] मानव जीवनको दैतनक आचार – व्यवहारबाट | 

3] दोस्रो शब्दमा सांस्कृठत केको िाम  हो ? 

i] सभ्यताको| ii] तवरासतको | iii] तवतशष्ट जीवनशैलीको | iv] भौततक सुख सुतवधाको | 

4] सभ््ताको तुििामा सांस्कृठतमा केको प्रधािता पाइन्छ  ? 

i] भौततक पक्षको | ii] जीवनशैलीको |  iii] आचार र तवचार पक्षको | iv] परम्पराको | 
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5] के एक – अकानका पूरक हुि ्? 

i] संस्कृतत र परम्परा   ii] संस्कृतत र सभ्यता  iii] आचार र व्यवहार   iv] संस्कृतत र समाज  

अथवा 

 ‘मेरो मातभृाषा नेपाली होइन’ भनी एकाध पढ़े – लेखेका नेपालीहरूले भतनसकेका छन् , भन्दैछन् औ भन्लान् | 

भन्नेको मखु रु्न्न सतकन्न | तर नेपाली भाषा के हो , कसको मातभृाषा हो , यसको कुन बेला कस्तो रुप तर्यो , अतहले कस्तो 

छ औ भतवष्यमा कस्तो होला भन्ने कुराको गम्भीर अध्ययन गने बेला आएको छ | नबुझ्नेलाई बुझाउने काम सातहत्य 

महारर्ीहरूको हो | यसरी बुझाउनको तनतम्त पतहले आफैले राम्ररी बुझ्ने काम पतन सातहत्य महारर्ीहरूकै हो | 

 नेवारले आफ्नो नेवारी भाषा उन्नत छ भन्ने धाक लगाउनलाई नेपाली भाषालाई ‘यो टा पवनटेहरूको भाषा’ भनेको 

होला | तर अरूले तकन नेपाली भाषालाई ‘यो मातभृाषा होइन’ भनेको होला , यो राम्ररी तवचार गनुनपने प्रश्न छ तकनभने आज 

एक जातले यसो भन्यो भने भोतल अको जातले उसै भन्ला | जान्नेहरूले यस कुराको प्रकाशनपरि ध्यान तदए नेपाली भाषाको 

उन्नततमा केही मदत् हुने तर्यो | नेवारी भाषामा व्याकरण , कोश र सातहत्य पाइन्छन् यो पुरानो भाषा हो तर राजनैततक दवाबमा 

परेको हुनाले यो भाषाले फस्टाउने अवसर पाएन | खसकुरा बाहके अरु एघार बोली अतफसमा केही अंशमा बोतलन्छन् तापतन 

गुरुङले आफ्नो बोलीमा तलम्बू आतद जातलाई केही कुरा बुझाउन सक्दैन न तक तलम्बूले गुरुङ वा अरू जातलाई बुझाउन 

सक्छ | सन् १८२८ मा जस्तो अवस्र्ा तर्यो धेरर्ोर अतहले पतन उस्तै छ | अब यो नेपाल राज्यका तवतवध रैर्ानेहरूमा 

एकअकानतसत मनको भाव प्रकाश गने एउटा माध्यम बोली वा भाषा के होलान् यो समस्या खस कुराले हल गयो | त्यही 

खसकुराको उन्नत रुप अतहलेको नेपाली भाषा हो | अब यो खसकुरा कसको कुरा हो औ नेपाली भाषा कसको भाषा हो भन्ने 

प्रश्न उठ्छन् |  

 नेपाली भाषा कुनै तनतित जातको पेवा भाषा होइन न यो बाहुन छेत्रीको पेवा भाषा हो न गुरुङ , मगरको | अतघ 

अतघका खसहरू यो भाषाको बोली बोल्रे् तर त्यसको रुप बेग्लै तर्यो अचेलको नेपाली भाषा जस्तो तर्एन | 
 

6] माठथको गद्ाांशमा कुि कुराको गम्भीर अध्््ि गररिुपिे सम् आएको बताएका छि ्? 

i] मेरो मातभृाषा नेपाली होइन भन्नेहरूको |     ii] सातहत्य महारर्ीहरूको | 

iii] नेपाली भाषा कसको भाषा हो र यसको रुप कस्तो तर्यो भन्ने कुराको |  iv] नेवारी भाषाको अध्ययन | 

7] कसिे िेपािी भाषािाई ‘्ो ट पवनतेहरूको भाषा हो भिेर धाक िगाएको होिा ? 

i] नेपाली भाषालाई हाम्रो मातभृाषा होइन भन्नेहरूले |   ii] नेवारी जाततले | 

iii] तलम्बू जाततले |       iv] गुरुङ जाततले   

8] िबुझ्िेहरूिाई बुझाउिे काम कसको हो ? 

i] राजनैततक दलको |   ii] अध्येताहरूको | iii] मातभृाषापे्रमीहरूको | iv] महारर्ीहरूको | 

9] कुि भाषािे राजिैठतक दवाबको कारणिे फस्टाउिे मौका पाएको छैि ? 

i] नेपाली भाषा |  ii] गुरुङ भाषा | iii] नेवारी भाषा |  iv] खस भाषा | 

10] खसकुराको उन्ित रुप अठहिेको कुि भाषा हो ? 

i] नेवारी भाषा |  ii] खस भाषा  | iii] गुरुङ भाषा |  iv] नेपाली भाषा  
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सामान्् ठिदेश  

१] तनम्नतलतखत तनदेशनलाई ध्यानपूवनक पढेर पालन गनुनहोस् | 

२] यो प्रश्नपत्र दईु भागमा बााँतिएको छ , भाग – एक अतन भाग – दईु 

३] भाग एकमा 58 वटा वस्तुपरक प्रश्नहरू सोतधएका छन् जसमध्ये 40 वटा प्रश्न अतनवायन छ | 

४] भाग दईुमा 20 वटा वणननात्मक प्रश्न सोतधएका छन् जसमा 16 वटा प्रश्न अतनवायन छ | 

५] कृपया हरेक प्रश्नको उत्तर लेख्नभन्दा अतघ उत्तर पुतस्तकामा प्रश्न संख्या लेख्नु नभलु्नुहोस् होला | 

 



ठिम्िठिठखत दुईवटा कव्ाांशबाट कुिै एकमा ठदइएका  प्रश्नहरूका उत्तर िेख्िुहोस ्|  [5×1=5] 

“ तमत्र हो तहउाँदका तदन आए  

सूयनले मधरु कातन्त तफाँ जाए | 

छैन कातहाँ झरी बादल वषान  

हषनको छ सबमा अब वषान || 

 

अन्नपात घरमा हुली भारी  

पूणन पाररकन बााँधी भकारी | 

आफ्ना घरघरै ती तकसान  

मस्त छन् सब अमीर समान || 

 

राती फााँटभरमा कुतहरोको  

राश लाग्दछ घोर मजाको | 

हदेान तशखरबाट तबहान  

देतखने सब कपास – समान || 

 

मातनयो सरस चाड ततहार  

ताप्नु छ अब खातल पहार | 

घाममा बस अतन पुस्तक फोऊ 

पाठ घोक , पतहला ततमी होऊ ||” 

11] प्रस्तुत पद्ाांशमा कुि ऋतुको कुरा गररन्दैछ ? 

i] वसन्त ऋतु | ii] तशतशर ऋतु | iii] ग्रीष्म ऋतु | iv] वषान ऋतु | 

12] सबैमा केको वषान छ ? 

i] दःुखको |  ii] खतुशयालीको | iii] वषान ऋतुको | iv] चाड – ततहारको |  

13] ठकसािहरू ठकि अमीर – समाि मस्त छि ्? 

i] खेतबारीको सबै काम सकेकोले |  ii] चाड – ततहार मातनसकेकोले | 

iii] पहार ताप्न पाएकोले |  iv] राम्रो मौसम भएकोले | 

14] अन्िपात - को अथन के हो ? 

i] कपास |  ii] खानेकुरा | iii] पहार |  iv] चाड ततहार | 

15] पहारको अथन के हो ? 

i] कपास |  ii] तशखर |  iii] अन्नपात | iv] घाम | 

अथवा 

“सााँघरुो गल्लीमा मेरो चोक छ। 

यहााँ के छैन? सबर्ोक छ। 

असङ्ख्य रोग छ,                             Page 3  

अनन्त भोक छ, 

केवल हषन छैन, 

यहााँ त्यसमातर् रोक छ। 

सााँघरुो गल्लीमा मेरो चोक छ। 

 

यहााँ के छैन? सबर्ोक छ। 

यो मेरो चोकमा 

देवताले बनाएका मातनस र 

मातनसले बनाएका देवता 

यी दवुैर्रीको तनवास छ। 

तर यहााँ यी दवुैर्री उदास छन्। 

दवुैर्री तनराश छन्। 

 

मातनस उदास छन् 

तकनतक ततनलाई यहााँ 

रात–रात–भरर उतपयााँले टोक्छ 

तदन–तदन–भरर उतपयााँले टोक्छ 

र देवता उदास छन् 

 

तकनतक ततनलाई यहााँ 

न कसैले पुज्छ, न कसैले ढोग्छ 

त्यसैले यो चोकमा 

देवता र मातनसले 

एक–अकानलाई तधक्कादै 

एकसार् पुपुनरो ठोक्छन् 

सााँघरुो गल्लीमा मेरो चोक छ। 

यहााँ के छैन? सबर्ोक छ |” 

16] माठथको काव्ाांशमा चोक कहााँ छ भठिएको छ ? 

i] मतन्दरको छेउमा | ii] सााँघरुो गल्लीमा |  iii] जंगलको छेउमा |  iv] बजारको छेउमा | 

17] ्हााँ कसिाई ठदि – रात उठप्ााँिे टोक्छ भन्दैछि ्? 

i] मातनसले बनाएको भगवानलाई |   ii] भगवानले बनाएको मातनसलाई |  

iii] कतव स्वयंलाई |    iv] देवता अतन मातनस दवुैलाई | 

18] कठवको चोकमा केमाठथ रोक िगाएको छ ? 

i] भगवानको पूजामा | ii] हषनमातर् | iii] दःुखमातर् | iv] मातनसहरू एक अकानतसत बात गनन | 
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19] कठवको चोकमा के - के छि ? 

i] हषन, आनन्द, शातन्त |     ii] असंख्यों रोग , भोक | 

iii] सुख दःुख दवुै |     iv] मातनसहरू तमतलजुली बस्छन् | 

20] कसिे पुपुनरो िोक्छि ्? 

i] मातनसले बनाएको भगवानले |    ii] भगवानले बनाएको मातनसले | 

iii] मातनसले बनाएको भगवान र भगवानले बनाएको मातनस दवुैले | iv] चोकमा बस्ने जनताले | 

खण्ड-ख [व्ाकरण] 

ति ठदएका प्रश्न सांख््ा 21 देठख 38 सम्मका 18 वटा प्रश्नमध््े कुिै 16 वटा प्रश्नहरूका सही उत्तर छािेर िेख्िुहोस ्| 

[16×1=16]  

21] ठिम्िठिठखत मध््े कुि शब्दको प्ान्वाची रूप सही छैि ? 

i] आकाश – अम्बर |  ii] चक्षु – नयन | iii] अतग्न –समीर |  iv] दररद्र – दीन | 

22] ठवपरीताथनक शब्दिाई अको के पठि भठिन्छ ? 

i]श्रतुतसमतभन्नार्नक |  ii] तवलोम  | iii] पयानयवाची |  iv] सार | 

23] ठदइएका वाक््मध््े कुि वाक््मा ‘टीका’ शब्दको सही रूप छैि | 

i] म तबहान पूजा गरेर सधैं तनधारमा टीका लगाउाँछु | 

ii] डा० घनश्याम नेपालले ‘खीर’ कर्ाको टीका सुन्दर ढंगमा गरेका छन् | 

iii] केटा – केटीहरूले टीका – टीका खेल्दैछन् | 

iv] बालकहरूलाई तशश ुअवस्र्ामा टीका लगाउनुपछन | 

24] सुत, ति् आठद केका प्रठतशब्द हुि?् 

i] छोरो |  ii] सार्ी |  iii] राजा |  iv] मातनस | 

25]ठभन्िाथनक शब्दिाई अको के पठि भठिन्छ? 

i] तवलोम शब्द| ii] समोच्चररत शब्द | iii] पयानयवाची शब्द  | iv] प्रततशब्द |  

26] कृपण शब्दको ठविोम शब्द कुि हो ? 

i] तवराग |  ii] लोभी |  iii] दाता  | iv] मंगल | 

27] तिका मध््े कुि वाक््को रूप सही छ ? 

i] रामको बतहनी स्कूलबाट आएपतछ खेल्न जान्छे | 

ii] रामकी बतहनी स्कूलबाट आएपतछ खेल्न जान्छे | 

iii] रामकी बतहनी स्कूलबाट आएपतछ खेल्न जातन्छन् | 

iv] रामको बतहनी स्कूलबाट आएपतछ खेल्न जातन्छन् |  

28] ‘अठभराम – अठवराम’ को सही अथन कुि हो ? 

i] साहस – तभत्री भाग  | ii] भाग – कााँध | iii] माप – फल | iv] सुन्दर – तनरन्तर|          Page 5  

29] ति ठदइएका शब्दमध््े कुि शब्दको रूप सही छैि ? 

i] अध्ययान |  ii] तशतर्ल | iii] सांसाररक | iv] वाचा | 

30] जात, पेशा आठद बुझाउिे शब्दको अन्््मा के हुन्छ ? 

i] लघ ु|   ii] गुरु |  iii] हलन्त | iv] स्वरवणन | 

31] िोचि , दृग आठद केका प्ान्वाची रूप हुि ्? 

i] कान |   ii] नाक |  iii] मखु |  iv] आाँखा | 

32] पञ्चम वणनको साटो तिको मध््े कुि प्र्ोग गररन्छ ? 

i] अनुस्वार |  ii] तवसगन |  iii] दवासतवन्द ु| iv] चन्द्रतवन्द ु| 

33] जसको उपमा छैि -  

i] अमर |   ii] अनुपम  | iii] उपमान | iv] उपमेय | 

34] तिका मध््े कुि ठविोम शब्दको  रुप सही छैि ? 

i] तनन्दा – स्तुतत | ii] तदउाँसो – राती |  iii] दयालु – तनदनय |  iv] उपकार – अनुदार | 

 

35] वषन , वृक्ष , तेि ठिकाल्िे ्न्र आठद कुि शब्दका अिेकाथनक रूप हुि ्? 

i] पक्ष |  ii] साल |   iii] मेसो |   iv] मास | 

36] सुधा , पी्ूष , सोम आठद केका प्रठतशब्द हुि ्? 

i] पानी |  ii] अमतृ |   iii] फल  |  iv] फूल | 

37] ‘अविम्ब – अठविम्ब’ को सही अथन के हो ? 

i] काम र नाम | ii]  सुन्दर– तनरन्तर |  iii] सहारा – शीघ्र |  iv] आगो – हावा | 

38] पैसा ठिएको सट्टामा राठखएको वस्तु – 

i] पहर |  ii] पूवनक |   iii] तबस्कुन |  iv] बन्धक | 

खण्ड – ग [ साठह्् ] 

ति ठदएका गद्ाांश ध््ािपूवनक पढ़ेर प्रश्न सांख््ा 39 देठख 44सम्मका 6 वटा प्रश्नमध््े कुिै 5 प्रश्नहरूका उत्तर 

ठदिुहोस ्| 

[5×1=5] 

“चामेका मनमा कुरा खेल्न लागे | “हरे ! त्यो तदन तबचरी गौंर्लीलाई तकन कुटें हुाँला | स्वास्नी मातनसहरु तबहा हेनन 

भनेपतछ हुरुक्क हुन्छन् , उसमा पतन चढ्दो उमेर एकतछन तबहा हनेन गई त के भो ! एकतछन यसो गाउाँ – घरमा रतमता हनेन गएको 

पतन खप्न नसक्ने छुसीले के स्वास्नी सुमनुन ? भात पकाउन अतलकतत ढीलो गरी भनेर स्वास्नी कुट्नु त्योभन्दा अधमन काम 

अको के होला ? अतल मखुाले भएकी त कुटेरै हो | अब घर गै भने कैल्ये कुट्ने छैन | जुठे दाइका भन्दा बढ्ता कदर गरेर रातखनाँ 

भने अतन भन्नु | मनमा कुरा उतत्तकै खेतलरहकेा तर्ए तलततरबाट उतपयााँले उतत्तकै टोक्रे् |तबहानीपख ढोका उघारेको शब्द 

आयो | गौंर्ली आई तक भनेर चामेले ठािा –ठािा कान लायो | पतछ हदान ससुरो बूढ़ो रहछे | ससुरो दैलो उघारेर करेसाततर 

तपसाब फेनन गयो | चामेले रातभर तनमेष लाएन |”                         
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39] चामेको मिमा के कुरा खेल्ि िाग््ो ? 

i] जुठे दमाई र उसकी स्वास्नीको गहृस्र्ी जीवन | ii] गौंर्लीलाई तकन कुट्यो भनेर | 

iii] भैंसीलाई कसरी स्याहानुन भनेर |   iv] ससुरालीमा कसरी मखु देखाउनु भनेर | 

40] छुसीको अथन के हो  ? 

i] बुझकी |  ii] तुच्छ सोंच भएको |  iii] स्वास्नीलाई माया गने | iv] ठूलोको आदर गने | 

41] ्हााँ केिाई अधमन भठिएको छ  ? 

i] भैंसी मकैबारीमा पस्यो भनेर कुट्नु |  ii] भात पकाउन ढीलो भयो भनेर स्वास्नी कुट्नु | 

iii] गौंर्ली धेरै मखुाले हुनु |   iv] तबहमेा गएर रतमता हनुेन | 

42] चामेिे आफ्िी स्वास्िीिाई कसरी राख्िे अिोट ग्ो ? 

i] जुठे दाइले झैं स्वास्नीलाई आफू साँग – साँगै खेताबारीको काममा लैजाने |   

ii] स्वास्नीलाई जूठो चहु्ला, भैंसीलाई घााँस काट्ने काममा सघाउने | 

iii] जुठे दाइले झैं आफ्नी स्वास्नीलाई माया गने | 

iv] जुठे दाइका भन्दा धेर स्वास्नीलाई माया गरेर राख्ने | 

43] ठबहािीपख ढोका उिारेर को आएको ठथ्ो ? 

i] चामेको ससुरा |  ii] चामेकी सासू | iii] चामेकी स्वास्नी | iv] जुठे दमाई र उसकी स्वास्नी | 

44] ‘ठिमेष’को अथन के हो ? 

i] मस्तसाँग सुत्नु | ii] रातभरर खाना नखानु | iii] रातभरर नसुत्नु | iv] रातभरर तमाख ुनखानु | 

 

ति ठदइएका पद्ाांश ध््ािपूवनक पढेर प्रश्न सांख््ा 45 देठख 50 सम्मका 6 वटा प्रश्नमध््े कुिै 5 वटा प्रश्नका उत्तर 

ठदिुहोस ्|         [5×1=5] 
 

“पतृर्वीका जीवले आकाशका ती तारालाई मात्र  

देख्छन् तारा टाढा देख्ने ती आाँखाले  

देख्न सकेनन् – वररपरर  

पतृर्वीका तारा  

चामे , रामे , हके , वीरे कतत तारा  

छन् पथृ्वी मै तर देख्ने कसले ? 

तारा भएरै पतन ती तवचरा  

गााँस वासको डोहो – डोहोले  

तपई आाँसुका नूतनला धारा  

गनी – गनी टाढाका तारा  

कुकुर जस्तै हीन भएर  
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आकाशका तारा के तारा ! 

न उनमा छ आफ्नोपन क्यै ! 

ती ताराको अतस्तत्व हराउाँछ , 

तर यी तारा  

हके , वीरे , चामे सारा  

कसले तचन्ने तयनीहरूलाई ? 

तचन्न सके त  

एक हकेमा , एक वीरेमा  

एकेक सूयनको शति तनतहत  

एक चामेको , एक रामको  

तववेक – ज्योततले तवश्व – तसंगाछन 

अन्धो पथृ्वी – अन्धा हामी ! 

हाम्रा लातग घरको दधू पानीसरर छ , 

नौ- लाख तारा टाढा हुनाले नै तारा छन्  

रामे , चामे , हके , वीरे झटारा छन् |” 

45] ्स पांठिका रचिाकार को हुि ्? 

i] लक्ष्मीप्रसाद देवकोटा | ii] भपूी शेरचन | iii] राजेन्द्र भण्डारी |  iv] हररभि कटुवाल | 

46] रामे , चामे , वीरे , हके को हुि ्? 

i] आकाशका अनमोल ताराहरू जसलाई सबैले महत्व तदन्छन् |  

ii] पथृ्वीका अनमोल ताराहरू जसलाई कसैले महत्त्व तदाँदैनन् | 

iii] तथ्य खोज्न ेवैज्ञातनकहरू |   

iv] कतव – कलाकार | 

47] चामे , रामे , वीरे ठकि झटारा भएका छि ्? 

i] गरीबीको कारणले |    ii] अतशतक्षत भएको कारणले | 

iii] दक्षता, क्षमताको महत्व नबुझ्नको कारणले  | iv] अतभमानी भएको कारणले | 

48] हामी ठकि अन्धा छौं ? 

i] नजीकको कुरालाई मलू्य मान्यता तदएकोले |  ii] वररपररका उपयोगी व्यति वा वस्तु नतचनेकोले | 

iii] टाढाका वस्तुहरूलाई लत्याएकोले |  iv] सबैलाई बराबार नजरले हरेेकोले | 

49] गााँसवासको डोहोिे भन्िुको अथन के हो ? 

i] लगाउने र तहाँड्ने कुराको अभाव |   ii] खाने र बस्ने ठाउाँको अभाव |   

iii] सुख र शातन्तले पूणन |   iv] खाने र लगाउने लुगाको अभाव | 
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50] कसिे ठवश्व ठसांगाछन ? 

i] कतव कलाकारको तववेक ज्योततले |  ii] वैज्ञातनकहरूको तववेक ज्योततले | 

iii] टाढाका व्यतिहरूको तववेक ज्योततले |  iv] पथृ्वीका रत्नहरूको तववेक ज्योततले | 

ति ठदइएका प्रश्न सांख््ा 51 देठख 58 सम्मका 8 वटा प्रश्नमध््े कुिै 4 वटा प्रश्नका उत्तर ठदिुहोस ्| 

51] ‘शहीदहरूको सम्झिामा’ कठवताका रचिाकार को हुि ्?    [4×1=4] 

i] तारानार् शमान |  ii] लक्ष्मीप्रसाद देवोकटा | iii] भपूी शेरचन | iv] हररभि कटुवाल | 

52] ‘इस पढ्छु तेरो कठवतामा’ कठविे ‘म’ भिेर कसिाई सम्बोधि गरेका हुि ्? 

i] आफ्नो भाषा, सातहत्य, संस्कृततको जगेरा गने व्यतिलाई |  ii] कानूनको रक्षा गने व्यतिलाई | 

iii] आफ्नो भाषा, सातहत्य, संस्कृततलाई हलेा गने व्यतिलाई | iv] मानवातधकारप्रतत जागरूक व्यतिलाई | 

53] ‘दासता’ कसरी भाग्दछ ? 

i] जब तबहान तमतमनरेमा तारा झरेर जााँदैनन् | ii] जब हामीले फेने प्रत्येक सासमा शतु्रको रगत हुन्छ|  

iii] जब हामी हाम्रो कतनव्य पूरा गदैनौं | iv] जब वीर सपूतहरू हााँसी – हााँसी घााँटीमा फााँसीको माला लगाउाँछन् |  

54] ‘इस पढ्छु तेरो कठवता’ का कठव को हुि ्? 

i] लक्ष्मीप्रसाद देवकोटा | ii] गुरुप्रसाद मैनाली |  iii] माधवप्रसाद तघतमरे |  iv] राजेन्द्र भण्डारी |  

55] ‘इस पढ्छु तेरो कठवता’ मा कठविे प्ानवरणको ठजम्मा केिाई ठदएको छ भिेका छि ्? 

i] मेहतेरलाई  ii] सूरक्षाकमीलाई   iii] पैसा रुतपयााँलाई  iv] मानवतालाई  

56] हामीिे के िगरे इठतहासिे ठधक्काछन ? 

i] लिाई नगरे | ii] कतनव्य तबसे |  iii] अन्न नफुलाए | iv] शहीदलाई नरुवाए | 

57] ‘हुाँदैि ठबहाि ठमठमनरेमा तारा झरेर िगए’ – ्हााँ ‘तारा’ केिाई भिेका छि ्? 

i] वीर सपूत | ii] आकाशका तारा | iii] आफ्नो कतनव्य तबतसनने सपूत|   iv] हामीलाई कब्जामा राख्ने शतु्रहरू |  

58] ‘इस पढ्छु तेरो कठवता’ िे ठदि खोजेको सांदेश के हो ? 

i] आफ्नो भाषा , सातहत्य , संस्कृततको कदर नगनुन | ii] आफ्नो भाषा, सातहत्य छोडेर अन्य सातहत्य, भाषाको कदर 

गनुन| 

iii] आफ्नो भाषा, सातहत्य, संस्कृततको कदर गनुन | iv] अन्य भाषा, सातहत्य – कलालाई बढ़ावा तदनु |   

भाग – दुई 

खण्ड एक  [कथा ठबम्ब ] 

तनम्नतलतखत प्रश्नहरूका उत्तर लेख्नुहोस् : 

59] ‘टोटलाको फूल’ कर्ाको शीषनक सार्नकता लेख्नुहोस् |    [2] 

अथवा 

सोनामतणमातर् भएको घटना कसले देखेकी तर्ई र उनले तकन त्यो कुरा कसैलाई बताइनन् ? 

60] उमेर साँग – साँगै मोतीको व्यवहारमा कस्तो पररवतनन आउाँदैतर्यो ?   [2] 

61] प्रायतितको अर्न के हो ? मोतीले आफूले गरेकी भलूको प्रायतित कसरी गनन खोजी ? [1+2] 

अथवा 

मोतीले कसको जस्तो सलवार कुतान बनाइतदने अनुरोध गरी ? त्यो अनुरोध गदान लक्ष्मीले के भनेर सम्झाएकी तर्इन् ?  
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62] कमलको दाजुको नाम के तर्यो ? उसको चररत्र तचत्रण गनुनहोस् |   [1+2 ] 

खण्ड दुई  [प्रठतभा पररच् ] 

ठिम्िठिठखत प्रश्नहरूका उत्तर िेख्िुहोस ्: 

63] डा० घनश्याम नेपालको जन्म कतहले भएको तर्यो ? उनीद्वारा रतचत कुनै चारवटा पुस्तकहरूका नाम लेख्नुहोस्  

        [1+2] 

64] डा० घनश्याम नेपालले सातहत्य र सातहत्यकारका बारेमा के भनेका छन् ?  [2] 

खण्ड तीि [साठह्् सुधा] 

ठिम्िठिठखत प्रश्नहरूका उत्तर िेख्िुहोस ्| 

65] सप्रसङ्ग व्ाख््ा गिुनहोस ्:      [4] 

“पुग्दैन .......र्तकत कुतण्ठत स्वर उसको अन्तरबाट तनतस्कयो | दोरंतगनीलाई उसले हदेै लगी – कतत सफा लुगाफाटो, कतत 

सेतो अनुहार, हातहरू कतत राम्रा | उसको लोग्नेलाई सुख छ , घरभरर चौकी , पलङहरू र दराजमा सारीहरू | माटो – तहलो 

छुनुपदैन , गोबर सोहोनुनपदैन, हावा – पानीदेतख डराउनुपदैन |” 

66] सप्रसङ्ग व्ाख््ा गिुनहोस ्:      [4] 

“डाक्टरले फेरर सोधे “फेरस ततमीले,  तकन मेरो प्रश्नको जवाब तदन चाहेनौ त ? ततमीले मलाई सबै कुरा बताउनुपछन फेरस 

तकनभने क्लोररना मेरो सजृना हो , उ मातर् मेरो पतन हक  र अतधकार छ |”   

67] डा० िािोको अठिती् सफिता के ठथ्ो ?    [2] 

अथवा 

‘रातभरर हुरी चल््ो’ – कथामा कािेकी आमािे के कस्ता ठिणन्हरू ठिएकी ठथइि् ?  

खण्ड चार [िेखि एवां रचिा कौशि ] 

68] ठिम्िठिठखतमध््े कुिै एउटा ठवष्मा 150 शब्दसम्मको रोचक ठिबन्ध रचिा गिुनहोस ्| [5] 

अ] समाजको तवकासमा तशक्षाको महत्व | 

आ] पयानवरण प्रदषूण र यसका रोकर्ामको उपाय  |    

69] पािशािाका गत वषनका ‘सवोत्तम ठवद्ाथी’– को उ्कृष्ट पुरस्कार प्राप्त गरेको खुशीमा आफ्िो अिुभव व्ि 

गदै साथीिाई पर िेख्िुहोस ्|      [5] 

70] िेपािीमा अिुवाद गिुनहोस ्:      [5] 

i] We cannot live without water. 

ii] There are many books in the almirah. 

iii] Health is wealth. 

iv] It has been raining since last evening. 

v] A dead cannot speak. 
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Modi Public School, Siliguri 
Preparatory Examination 1 2022-23 

Class 10 Basic MATHEMATICS Time : 3Hr F.M. : 80 

General Instructions: 
 1.This Question Paper has 5 Sections A,B,C, D and E. 

 2.Section A has 20 Multiple Choice Questions (MCQs) carrying 1mark each. 

 3.Section B has 5 Short Answer (SA-I) type questions carrying 2 marks each. 

 4.Section C has 6 Short Answer (SA-II) type questions carrying 3 marks each. 

 5.Section D has 4 Long Answer (LA) type questions carrying 5 marks each. 

 6.Section E has 3 Case Based integrated units of assessment (4 marks               
each) with sub-parts of the values of 1,1 and 2 marks each respectively. 

 7.All Questions are compulsory .However, an internal choice in 2Qs of 2        
marks, 2Qs of 3 marks and 2Qs of 5 marks has been provided.  

 8.Draw neat figures wherever required. Take π =22/7 wherever required if not 
stated. 

 

                                   Section A                             [20x1=20] 

 1] If two positive integers a & b are written as a=𝑥3𝑦2 and  𝑏 = 𝑥𝑦3, where x, y are 

prime numbers, then HCF (a, b) is 

       (a)𝑥𝑦  (b)𝑥𝑦2         (c)𝑥3𝑦3                   (d)𝑥2𝑦2  

 2] If p(x) = ax2 +bx +c, then −
𝑏

𝑎
 is equal to 

     (a) 0                      (b)1              (c) Product of zeroes (d)Sum of zeroes 

3] Two natural numbers whose difference is 66 and the least common multiple 

is 360 are 

(a)120 & 54 (b)90 & 24 (c)180 & 114 (d) 130 & 64 

4] Zeroes of a polynomial can be determined graphically. Number of zeroes of a         

polynomial is equal to the number of points where the graph of polynomial  

(a)Intersects y-axis.    (b) Intersects x-axis. 

(c)Intersects y-axis or x-axis               (d) None of these 

5] Which of the following is not a quadratic equation? 

(a) 2(𝑥 − 1)2 = 4𝑥2 − 2𝑥 + 1                                      (b)2𝑥 − 𝑥2 = 𝑥2 + 5   

(c) (√2𝑥  + √3)2 + 𝑥2 = 3𝑥2 − 5                                (d) (𝑥2 + 2𝑥)2 =  𝑥4 + 3 + 4𝑥3    

 

6] The points (-4,0) , (4,0) and (0, 3) are the vertices of a /an  

(a)Right triangle                                       (b) Isosceles triangle  

(c)Equilateral Triangle                              (d) Scalene triangle 

7] In the given figure  ,
𝐴𝐷

𝐵𝐷
=

𝐴𝐸

𝐸𝐶
 and ∠ADE=70°, 

∠BAC=50°, then ∠BCA 

(a)70°  (b)50°  (c)80°      (d)60° 

 
 

8] If P (
𝑎

3
, 4) is the mid-point of the line segment joining the points Q(-6, 5) and           

R (-2, 3) then the value of ‘a’ is 

   (a) -12     (b)-4   (c)12    (d)-6 

 

9] In figure, AB and AC are tangents to a circle with 

center O and radius 8 cm. If OA=17 cm then the 

length of AC (in cm) is 

 (a) √353 (b) 15          (c) 9  (d) 25 

  

10] Which of the following is not  defined 

   (a) sin 90°             (b)tan 0°                   (c)cot 90°              (d)cosec 0° 

11] cot 𝐴 + tan 𝐴 = 

(a)sin 𝐴 cos 𝐴             (b)sec 𝐴 𝑐𝑜𝑠𝑒𝑐 𝐴        (c)tan 𝐴 cot 𝐴          (d)None of these 

 

12] In the given figure AB = 4 cm,  AC= 8 cm. Then 

for the angle of elevation of A as observed  from C , 

sin 𝛼 = ? 

 (a)60°            (b)30°         (c) 45°         (d) 90° 

 
 

13] If the perimeter of a circle is equal to that of a square, then the ratio of their 

areas is [Use 𝜋 = 22/7] 

    (a)22:7            (b)11:14                 (c)7:22               (d)14:11 

 

 



14] If the radii of two circles is in the ratio of 7 : 9,then their circumference is in the 

ratio of 

   (a) 7: 9  (b) 4:3  (c)9: 16                            (d)9:7 

15] If Volume and CSA of a solid hemisphere are numerically equal then radius of 

sphere is 

  (a)2 units            (b)6 units  (c)3 units            (d)9 units 

16] Mode = 12k, mean = 15k of a given data. Find the median of the data 

(a)12K  (b)32k  (c)42k  (d)14k 

17] Median of first 5 primes is  

(a)5  (b)11  (c)3  (d)None of these 

18] The probability that a man can hit a target is 3 / 4. The probability that he misses 

the target is 

(a)
1

2
  (b)

3

4
  (c)

1

4
  (d)None of these 

Direction for questions 19 &20: In question numbers 19 and 20,a statement of 

Assertion(A) is followed by a statement of Reason(R).Choose the correct option. 

19] Assertion (A): √𝒙 is an irrational number where x is a prime number. 

Reason (R):Square root on any prime number is an irrational number. 

(a) Both A and R are true and R is the correct explanation of A. 

(b) Both A and R are true but R is not the correct explanation of A. 

  (c) A is true but R is false. 

  (d) A is false but R is true. 

20] Assertion (A): x has only one real zero. 

Reason (R):A polynomial of 𝑛𝑡ℎ degree must have ‘n’ real zeroes. 

(a) Both A and R are true and R is the correct explanation of A. 

(b) Both A and R are true but R is not the correct explanation of A. 

  (c) A is true but R is false. 

  (d) A is false but R is true. 

                                                   Section B                            [5x2=10] 

21] Do the equations 2x + 3y = 8 and 4x + 6y = 14 have a solution? Justify without 

solving and using the conditions known to you. 

 

22] If in ∆𝑃𝑄𝑅, 𝑋𝑌 ∥ 𝑄𝑅,   𝑃𝑋 = 𝑥 − 2, 𝑋𝑄 =

3𝑥, 𝑃𝑌 = 𝑥 + 2  𝑎𝑛𝑑 𝑌𝑅 = 9𝑥, find the value 

of x. (All measurements are in cm)  

 

 

[OR] 

  In the given figure if 𝑃𝑄 ∥ 𝐶𝐵   𝑎𝑛𝑑 

  𝑃𝑅 ∥ 𝐶𝐷,  prove that  
𝐴𝑄

𝐴𝐵
=

𝐴𝑅

𝐴𝐷
 .Mention the theorem used. 

 

 

 

 

23] In figure, AOB is a diameter of a circle 

with center O and AC is a tangent to the 

circle at A. If ∠BOC= 130° then find ∠𝐴𝐶𝑂. 

 
 

24] If 3𝑡𝑎𝑛𝜃 = 4, 𝑓𝑖𝑛𝑑 𝑡ℎ𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 

5𝑠𝑖𝑛 𝜃 − 3𝑐𝑜𝑠 𝜃

5 sin 𝜃 + 2 cos 𝜃
 

25] A pendulum swings through an angle of 30°  and describes an arc 8.8cm in 

length. Find the length of the pendulum. (use 𝜋 = 22/7) 

 

[OR] 

In the given figure, sectors of two concentric 

circle of radii 7 cm and 3.5 cm are given. Find 

the area of the shaded region (leave your 

answer to two decimal places) 

 

 

                                               



         Section C                                 [6x3=18] 

26] Prove that 3 + 2√5 is irrational. 

27] Find the values of k for which the equation 2𝑥2+ kx + 3 = 0 has two equal roots. 

28] 4 chairs and 3 tables cost ₹2100 and 5 chairs and two tables cost ₹1750. Find 

the cost of a chair and a table respectively. 

[OR] 

The taxi charges in a city consist of a fixed charge together with the charge for the 

distance covered. For a distance of 10 km, the charge paid is ₹105 and for a journey 

of 15 km the charge paid is ₹155 .What are the fixed charges and the charge per 

km? How much does a person have to pay for travelling a distance of 25 km? 

 

29] In the given figure, PT and PS are 

tangents to a circle with centre O from a point 

P such that PT = 4 cm and ∠TPS = 60°. Find 

the length of the chord TS. Also find the radius 

of the circle. 

 

 

30] Prove that: sin(1 + tan 𝜃) + cos 𝜃 (1 + cot 𝜃) = sec 𝜃 + 𝑐𝑜𝑠𝑒𝑐 𝜃 

[OR] 

(1 +
1

𝑡𝑎𝑛2𝜃
) (1 +

1

𝑐𝑜𝑡2𝜃
) =  

1

𝑠𝑖𝑛2𝜃 − 𝑠𝑖𝑛4𝜃
 

31] A lot consists of 48 mobile phones of which 42 are good, 3 have only minor 

defects and 3 have major defects. Varnika will buy a phone if it’s good but trader will 

only buy a mobile if it has no major defects. One phone is selected at random from 

the lot. What is the probability that it is 

i] Acceptable to Varnika? 

ii] Acceptable to trader? 

iii]Has only minor defects? 

                                                         Section D                                          [4x5=20] 

32] A train travels a distance of 480 km at a uniform speed. If the speed had been     

8 km/hr less then it would have taken 3 hours more to cover the same distance. Find 

the speed of the train. 

                                                              [OR] 

The  speed of a boat in still water in 8 km/hr. It can go 15 km upstream and 22 km 

downstream in 5 hours. Find the speed of the stream. 

 

33] ABCD is a trapezium with 𝐴𝐵 ∥ 𝐷𝐶. E and 

F are points on non parallel sides AD and BC 

respectively such that EF is parallel to AB. So 

that 
𝐴𝐸

𝐸𝐷
=  

𝐵𝐹

𝐹𝐶
 .Mention the theorem used 

 

 

34]A wooden article was made by scooping out 

hemisphere from each end of a solid cylinder as 

given in the figure. If the height of the cylinder is 10 

cm and its base of radius 3.5 cm, find the total 

surface area of the article. 

 

 

                                                           [OR] 

A solid toy is in the form of a hemisphere surmounted by a right circular cone. The 

height of the cone is 4 cm and the diameter of the base is 8 cm. Determine the 

volume of the toy. If a cube circumscribes the toy then find the difference of the 

volumes of cube and toy. Also, find the TSA of the toy. [Use √𝟐=1.414] 

35] The mean of the following distribution is 18. Find the frequency ‘f’ of the class  

19-21. 

 

 

 

 

 

 

 

 

 

Class Frequency 

11-13 3 

13-15 6 

15-17 9 

17-19 13 

19-21 f 

21-23 5 

23-25 4 



Section E 

All questions are compulsory and the weightage is as mentioned in the 

Instructions. 

36] A book store shopkeeper gives books on rent for reading. He has variety of 

books in his store related to fiction, stories, and quizzes etc. He takes a fixed charge 

for the first two days and an additional charge for subsequent day. Amrita paid ₹ 22 

for a book and kept for 6 days, while Radhika paid ₹16 for keeping the book for 4 

days. Assume that the fixed charge be x and additional charge (per day) be y. 

Based on the above information, answer the following questions: 

a] The situation of amount paid by Radhika, is algebraically represented by 

 (i) 𝑥 − 4𝑦 = 16                                                               (ii) 𝑥 + 4𝑦 = 16 

 (iii) 𝑥 − 2𝑦 = 16                                                 (iv) 𝑥 + 2𝑦 = 16 

b] This situation of amount paid by Amrita, is algebraically represented by 

 (i) 𝑥 − 2𝑦 = 11                                                                (ii) 𝑥 − 2𝑦 = 22 

 (iii) 𝑥 + 4𝑦 = 22                                                 (iv) 𝑥 − 4𝑦 = 11 

c] What are the additional charges for each subsequent day for a book? 

 (i) ₹6                  (ii) ₹5                         (iii) ₹4                    (iv) ₹3 

37] Your friend  Veer wants to participate in a 200 m race. He can currently run that 

distance in 51 seconds and with each day of practice it takes him 2 seconds less. He 

wants to do in 31 seconds. 

Based on the above information, answer the following questions: 

 

 

 

 

 

 

 

 

 

a] Write the A.P. for the given situation. 

 b] What is the minimum number of days he needs to practice till his goal is 

achieved? 

 c]The value of x, for which 2x, x+ 10, 3x +2 are three consecutive terms of an A.P. 

 

38] T-ratios of standard angles are as follows: 

 

Read the above passage and answer the following questions 

  

 a] 𝑠𝑖𝑛230° + 4 𝑐𝑜𝑡245° − 𝑠𝑒𝑐260° = 

 (i) 0                      (ii) ¼                   (iii) 4                       (iv) 1 

 b] If x tan 45° cos 60° = sin 60° cot 60°, then x = 

(i) 1                      (ii) ½                    (iii) 
1

√2
                     (iv) √3 

 c] If tan (A+ B) = √3 and tan (A- B) = 
1

√3
 (0°<A+B <90° and A> B), then A=  

 (i) 45°                     (ii) 60°                  (iii) 30°                     (iv) none of these 

 

 

 

 

 

 

 

 

 
 



Modi Public School, Siliguri 

Preparatory Examination 1 – 2022-23 

Class10(STANDARD)      MATHEMATICS Time :3 Hr F.M. :80 

General Instructions 

 1. This Question Paper has 5 Sections A-E. 

 2. Section A has 20 MCQs carrying 1 mark each  

3. Section B has 5 questions carrying 2 marks each. 

 4. Section C has 6 questions carrying 3 marks each.  

5. Section D has 4 questions carrying 5 marks each.  

6. Section E has 3 case based integrated units of assessment (4 marks each) with 

subparts of the values of 1, 1 and 2 marks each respectively.  

7. All Questions are compulsory. However, an internal choice in 2 Qs of 5 marks, 2 

Qs of 3 marks and 2 Questions of 2 marks has been provided. An internal choice 

has been provided in the 2marks questions of Section E 

 8. Draw neat figures wherever required. Take π =22/7 wherever required if not 

stated. 

SECTION-A 
Section A consists of 20 questions of 1mark each. 

 1] HCF × LCM for the numbers 150 and 10 is 

(a) 1500    (b)150    (c)10      (d)None of these 

2] The roots of the quadratic equation 𝑥2-0.04=0 are 

a) ±0.2    (b)±0.02  (c)0.4   (d) None of these 

3] Given that m+2, where m is a positive integer, is a zero of the polynomial    

q(x)= 𝑥2 − 𝑚𝑥 − 6. Which of these is the value of m? 

(a)4      (b)3    (c)2    (d) None of these 

4] If 2𝑥 − 3𝑦 = 7 and (𝑎 + 𝑏)𝑥 − (𝑎 + 𝑏 − 3)𝑦 = 4𝑎 + 𝑏 represent coincident lines, 

then a and b satisfy the equation 

(a)a+5b=0     (b)5a+b=0   (c)a-5b=0   (d) None of these 

5] Which of the following are the coordinates of the intersection points of the 

diagonals of the rectangle ABCD with vertices A(0, 3), B(3, 0), C(1,-2) and D(-2, 1)? 

(a) (
1

2
,

1

2
)    (b) ( - 

1

2
, ,- 

 1

 2
)    (c)(1.5,1.5)   (d) None of these 
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6] In the given figure, PQ || CB. To the 

nearest tenth, what is the length of QB?   

(a) 1.4cm                (b) 1.7 cm        

 (c) 1.8 cm              (d) None of these                                                                                           

                               
 

7] If a+b= 90° and a= 2b, then 𝑐𝑜𝑠2𝑎 + 𝑠𝑖𝑛2𝑏 is equal to 

a) 1          (b)
1

2
               (c)0             (d) None of these 

8] If sin θ + cos θ =√2cosθ ( θ≠90°) then the value of tanθ is 

(a)√2 -1    (b)√2+1  (c) √2     (d) None of these 

9] D and E are respectively the points on the sides AB and AC of a triangle ABC 

such AD=3 cm, BD= 5 cm, BC=12.8 cm and DE || BC. Then length of DE (in cm) is 

(a)4.8 cm      (b)7.6 cm     (c) 19.2 cm      (d) None of these  

10]In the given figure, two line segments AC 

and BD intersect each other at the point P such 

that PA=6 cm, PB=3 cm ,PC =2.5 cm, PD= 5 

cm, ∠APB = 50° and ∠CDP =30° Then, ∠PBA is 

equal to 

(a) 50°                    (b) 30°   

 (c) 100°                 (d) None of these 

 

 

11] In the given figure, the pair of tangents AP and 

AQ drawn from an external point A to a circle with 

centre O are perpendicular to each other and 

length of each tangent is 5 cm. Then radius of the 

circle is 

(a) 10cm  (b) 7.5 cm    (c) 5 cm    (d) None of these 

  

12] A circular garden of circumference 88m is surrounded by a pathway of width 

3.5m .Ajay wants to put a fence around the pathway .What is the cost of fencing the 

pathway at the rate of ₹ 70 per meter?(Use π =22/7 ) 

(a) ₹ 3080        (b) ₹ 3850      (c) ₹ 7700      (d) None of these          Page 2 



13] Volumes of two spheres are in the ratio 64:27. The ratio of their surface areas is 

 (a) 3:4 (b) 4:3 (c) 9:16 (d) None of these 

14] When calculated using direct method ,the 

mean of the data set shown in the table 

below is 31. 

What is the frequency for the class interval   

50-60? 

(a)8       (b)10      (c)12     (d) None of these 

 

 

Class Interval Frequency 

0-10 22 

10-20 24 

20-30 35 

30-40 30 

40-50 27 

50-60 m 

60-70 6 

70-80 4 

 

15] An arc of a circle of radius 14 cm, subtends an angle 

of 45° at the centre as shown: Which of these options is 

correct? 

a)The arc shown is a minor  arc and its length is 5.5 cm   

b)The arc shown is a major arc and its length is 77 cm 

c) The art shown is a minor arc and its length 11 cm 

 d) None of these 

 

 

16] For the following distribution 

The modal class is 

(a) 10-20      (b) 20-30        

(c) 30-40      (d) None of these 

 

 

 

Marks 
Number of 

Students 

Below 10 3 

Below 20 12 

Below 30 27 

Below 40 57 

Below 50 75 

Below 60 80 
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17]. If the probability of an event is p, the probability of its complementary event will 

be 

 (a) p – 1         (b) p           (c) 1 – p     (d) None of these 

18] sin 45° − cos 45° is equal to 

 (a) 2cosθ       (b) 0           (c) 2sinθ     (d) None of these  

DIRECTION: In question numbers 19 and 20, a statement of Assertion (A) is 

followed by a statement of Reason (R) .Choose the correct option 

(a) Both A and R are true and R is the correct explanation for A. 

 (b) Both A and R are true and R is not the correct explanation for A. 

(c) A is true but R is false 

(d) A is false but R is true. 

19] Assertion  (A): 6𝑛 ends with the digit zero, where n is natural number 

Reason (R): Any number ends with digit zero, if its prime factor is of the form         

2𝑚×5𝑛 , where m, n are natural numbers 

20] Assertion (A): The point (-1,6) divides the line segment joining the points 

 (-3, 10) and (6,-8) in the ratio 2: 7 internally 

 Reason (R): Mid point of line segment PQ whose co-ordinate are P(𝑥1,𝑦1)and 

Q(𝑥2,𝑦2) is given by R (
𝑥1+𝑥2

2
 ,

𝑦1+𝑦2

2
) 

    SECTION B 

This section consists of 5 questions of 2marks each. 

 
21] Find the value of 𝑐 for which the pair of equations 𝑐𝑥 − 𝑦 = 2 and 6𝑥 − 2𝑦 = 3 

will have infinitely many solutions. 

22] In the given figure, if LM || CB and LN || CD , 

prove that 
𝐴𝑀

𝐴𝐵
=

𝐴𝑁

𝐴𝐷
 

 

23] Prove that the perpendicular at the point of contact to the tangent to a circle 

passes through the centre. 

        Page 4 



24] A canal is 300 cm wide and 120 cm deep. The water in the canal is flowing with 

a speed of 20 km/h. How much area will it irrigate in 30 minutes if 8cm of standing 

water is desired? 

                                                                 OR 

What is the ratio of areas of two circles whose circumferences are in the ratio 3:4? 

25] Show that 𝑡𝑎𝑛4 θ+𝑡𝑎𝑛2 θ =𝑠𝑒𝑐4 θ -𝑠𝑒𝑐2θ 

                                                                 OR 

      Prove :(sinα+ cosα )  (tan α+ cot α )= secα + cosec α 

 SECTION C 

This section consists of 6 questions of 3marks each. 

26] Prove that √2 +  √3 is irrational. 

27] The quadratic polynomial 2𝑥2 − 3𝑥 + 1 has zeroes as α and β.Now form a 

quadratic polynomial whose zeroes are 3α and 3β. 

28]Had Ajita scored 10 more marks in her mathematics test out of 30 marks, 9 times 

these marks would have been the square of her actual marks. How many marks did 

she get in the test? 

                                                              OR 

A train travels at a certain average speed for a distance of 63 km and then travels a 

distance of 72 km at an average speed of 6 km/h more than its original speed. If it 

takes 3 hours to complete the total journey, what is its original average speed? 

29] Prove: If sin θ + cos θ =√3, then prove that tan θ + cot θ =1.  

30] Prove that a parallelogram circumscribing a circle is a rhombus. 

                                                               OR 

 If a circle touches the side BC of ∆ABC at P and extended sides AB and AC at Q 

and R respectively, prove that AQ = 
1

2
(BC+CA+AB). 

31] Two coins are tossed simultaneously. What is the probability of getting   

 a] at least one head  b]at most one tail  c] a head and a tail 

SECTION –D 

Section D consists of 4 questions of 5 marks each. 

32] In a class test, the sum of Shefali’s marks in Mathematics and English is 30. Had 

she got 2 marks more in Mathematics and 3 marks less in English , the product of 

her marks would have been 210. Find her marks in the two subjects. 

                                                                 OR 

The diagonal of a rectangular field is 60 m more than the shorter side. If the longer 

side is 30 m more than the shorter side, find the sides of the field. 

Page 5 

33] CD and GH are respectively the bisectors of ∠ ACB and ∠ EGF such that D and 

H lie on sides AB and FE of ∆ABC and ∆EFG .If ∆ABC ~ ∆FEG , show that 

i]
𝐶𝐷

𝐺𝐻
 =

𝐴𝐶

𝐹𝐺
              ii] ∆DCB~∆HGE                 iii]∆DCA~∆HGF  

34] Water flows through a cylindrical pipe, whose inner radius is 1 cm, at the rate of 

80 cm/sec in an empty cylindrical tank, the radius of whose base is 40 cm. What is 

the rise of water level in tank in half an hour? 

                                                               OR 

A building is in the form of a cylinder 

surmounted by a hemispherical dome. The 

base diameter of the dome is equal to 2/3 of 

the total height of the building. Find the 

height of the building, if it contains 67 
1

21
𝑚3 

of air. 

  

 

35] The median of the following data is 

525.Find the value of x and y,if the 

total frequency is 100. 

 

 

Class Frequency 

0-100 2 

100-200 5 

200-300 x 

300-400 12 

400-500 17 

500-600 20 

600-700 y 

700-800 9 

800-900 7 

900-1000 4 
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SECTION –E 

Case Study based questions are compulsory. 

36]There are two temples on each bank of a river. One temple is 50 m high. A man, 

who is standing on the top of 50 m high temple, observed from the top that angle of 

depression of the top and foot of other temple are 30° and 60° respectively. 

(Take √3 = 1.73)        

 
Based on the above information, answer the following questions. 

(i) Find the measure of ∠ADF  

(ii) Find the measure of ∠ACB  
(iii) Find the width of the river 
                   OR 

   

     Height of the other temple  
37] SUN ROOM- 

The diagrams show the plans for a sun room. It will be built onto the wall of a house. 
The four walls of the sun room are square clear glass panels. The roof is made using 
four clear glass panels, trapezium in shape, all the same size, one tinted glass 
panel, half a regular octagon in shape. 
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Based  on above information answer the following questions. 

(i) Find the midpoint of the line segment joining the points J(6,17) and I(9,16). 

(ii)Find the distance of the point P from the y-axis. 

(iii)Write the distance between the point A and S. 

                                                               OR 

Find the coordinates of the point which divides the line segment joining school 

and park internally in the ratio 3:2. 

38] Amit was playing a number card game. In the game, some number cards (having 
both +ve or -ve numbers) are arranged in a row such that they are following an 
arithmetic progression. On his first turn, Amit picks up 6th and 14thcard and finds their 
sum to be -76. On the second turn he picks up 8th and 16thcard and finds their sum to 
be -96. Based on the above information, answer the following questions. 

 

 

(i) What is the difference between the numbers on any two consecutive cards 

     (ii) Find  the number on first card . 

     (iii) What is the number on the 19th card? 

                             OR 

     What is the number on the 23rd card? 
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General Instructions:  

1. This question paper consists of 39 questions in 5 sections. 

 2. All questions are compulsory. However, an internal choice is provided in some 

questions. A student is expected to attempt only one of these questions.  

3. Section A consists of 20 Objective Type questions carrying 1 mark each.  

4. Section B consists of 6 Very Short questions carrying 02 marks each. Answers to 

these questions should in the range of 30 to 50 words. 

5. Section C consists of 7 Short Answer type questions carrying 03 marks each. 

Answers to these questions should in the range of 50 to 80 words.  

6. Section D consists of 3 Long Answer type questions carrying 05 marks each. 

Answer to these questions should be in the range of 80 to 120 words.  

7. Section E consists of 3 source-based/case-based units of assessment of 04 

marks each with sub-parts. 

SECTION A 

(Select and write one most appropriate option out of the four options given for each 

of the questions 1 – 20) 

1. Which three allotropes of carbon do the given figures (from left to right) represent 

respectively? 

 

a) Diamond, graphite, fullerene   b) Graphite, fullerene, diamond 

c) Diamond, fullerene, graphite   d) Graphite, diamond, fullerene 

2. The equation given below depicts which type of chemical reaction? 

   A+ BC → AC + B 

a) Combustion      b) Decomposition 

c) Displacement      d) Double decomposition 

Page 1  

3. Harshit performed an experiment to 

study about the thermal conductivity 

in metals with a setup as shown. In 

which case of the following metal 

wires, the wax will take the longest 

time to melt, provided all the other 

conditions are kept fixed? 

(a) Cu  (b) Ag   

(c) Al  (d) Pb  
 

 

 4. A student performed the following four experiments. 

 

In which experiment(s) would he find the formation of a solid deposition? 

a) (i),(ii) and (iv)  b) (i) and (ii) c) (i), (ii) and (iii)  d) (ii), (iii) and (iv) 

5 Which of the following acids does NOT produce hydrogen gas on reacting with 

metals (except Mn and Mg)? 

a) HNO3  b) HCl  c) H2SO4  d) All of these 

6. A girl was met with an accident and her leg got fractured. She went to an 

orthopaedic physician for her treatment. The doctor mixed a white powder in water 

and applied to her leg. What could be the white powder? 

a) Gypsum    b) Boric powder 

c) Paris of Plaster   d) Plaster of Paris 

7. On adding some copper turnings to silver nitrate solution what should you 

observe? 

a) The solution turns blue  b) The solution turns red 

c) White precipitate forms  d) No visual change tubes place       Page 2  



8. In the given activity, the lime water of 

which test tube will get milky faster? 

(a)Test tube A   

(b) Test tube B 

(c) Both test tubes will take same time  

(d) Can’t say 
 

 

9. Which is the correct sequence of parts in human alimentary canal? 

(a) Mouth → oesophagus → stomach → large intestine → small intestine 

(b) Mouth→ stomach→ small intestine→ oesophagus →large intestine 

(c) Mouth→ oesophagus→ stomach→ small intestine→ large intestine 

(d) Mouth→ stomach→ oesophagus→ small intestine→ large intestine 

10. In Figure, the parts A, B and C are sequentially: 

(a) Cotyledon, plumule and radical 

(b) plumule, radicle and cotyledon 

(c) plumule, cotyledon and radical 

(d) radicle, cotyledon and plumule 
 

11. If a tall pea plant is crossed with a pure dwarf pea plant then, what percentage of 

F1 and F2 generation respectively will be tall? 

(a) 25%, 25%  (b) 50%, 50%  (c) 75%, 100%        (d) 100%, 75% 

12. A feature of reproduction that is common to Amoeba, Spirogyra and Yeast is that 

(a) They are all unicellular  (b) they reproduce only sexually 

(c) They reproduce asexually   (d) they are all multicellular 

13. The least resistance obtained by using 2 Ω, 4 Ω, 1 Ω and 100 Ω is 

(a) < 100 Ω  (b) < 4 Ω  (c) < 1 Ω  (d) < 2 Ω 

14. The magnetic field inside a long straight solenoid carrying current: 

(a) Is zero    (b) Decrease as we move towards its end 

(c) Is same at all points   (d) Increase as we move towards its end 
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15. A cooler of 1500 W, 200 volt and a fan of 500 W, 200 volt are to be used from a 

household supply. The rating of fuse to be used is 

(a) 2.5 A  (b) 5.0 A  (c) 7.5 A  (d) 10 A 

16. A student places some iron filings 

around a magnet. The iron fillings 

arrange themselves as shown. 

The student labelled four different 

regions around the magnet. Where 

would the magnetic field be the 

strongest? 

(a) P   (b) Q 

(c) R   (d) S 

 

Question no. 17 to 20 are Assertion-Reasoning based questions. 

17. Assertion: Food cans are coated with tin and not with zinc. 

Reason: Zinc is less reactive than tin. 

18. Assertion: The sex of the children will be determined by chromosome received 

from the father.  

Reason: A human male has one X and one Y -chromosome. 

19. Assertion: Phototropism is caused by auxin.  

Reason: When light is coming from one side of the plant, auxin diffuses towards the 

shady side of the shoot. 

20. Assertion: On changing the direction of flow of current through a straight 

conductor, the direction of magnetic field around the conductor is reversed. 

Reason: The direction of magnetic field around a conductor can be given in 

accordance with left hand thumb rule. 

SECTION- B 

Question no. 21 to 26 are very short answer questions. 

21. Compound A gets oxidised in the presence of a strong oxidising agent to 

produce an acid B which is present in ant stings. Write the formula and IUPAC 

names of A and B. 
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OR 

Vaniya got confused when she came to know about different structural formulas of 

butane. Define the relevant phenomenon and show the different structural formulas 

of butane.  

22. What is test cross done for? 

23. Differentiate between auricles and ventricles. (Write any two points) 

24. Give any two schematic representations of different pathways of breakdown of 

glucose molecule. 

25. The far point of a person is 80 cm in front of the eye. What condition is he 

suffering from and what is the nature of the lens required to rectify it? 

OR 

A person is able to see objects clearly only when they are lying at a distance beyond 

50 cm from his eye. 

(i) What kind of defect of vision is he suffering from? 

(ii) What kind of lens will he require to restore the normal range of vision? 

26. a) Construct an aquatic food chain comprising 4 trophic levels.  1 

(b) Differentiate between biodegradable and non-biodegradable substances. (1point)

          1 

SECTION-C 

(Question no. 27 to 33 are short answer type questions). 

27.  

 

This above reaction requires energy either in the form of heat or light or electricity for 

breaking down the reactants. Write one equation each for this type of reaction where 

energy is supplied in the form of heat light and electricity. 

28. Complete the following reactions and name the main product formed in each 

case: 

a) CH3CH2COOH + NaOH →  

b) CH4 + O2 →  

c) CH2=CH2 + H2 (in the presence of Ni catalyst) →    Page 5 

29. Write three events which occur during the photosynthesis.  

30. A student wants to project the image of a candle flame on a screen 80 cm in 

front of a mirror by keeping the candle flame at a distance of 20 cm from its pole. 

Draw a ray diagram to show the image formation in this case. 

31. Calculate the distance at which an object should be placed in front of a convex 

lens of focal length 100 cm to obtain an erect image of double its size.  

32. Current-time graphs from two different sources are shown in the following 

diagrams: 

 

Now answer the following questions: 

(i) Name the type of current shown by graph A and graph B. 

(ii) Name any one source of the current shown by graph A and graph B. 

(iii) What is the frequency of current in case B?    [1+1+1] 

OR 

State whether an alpha particle will experience any force in a magnetic field if: (alpha 

particles are positively charged particles) 

(i) it is placed in the field at rest. 

(ii) it moves in the magnetic field parallel to field lines. 

(iii) it moves in the magnetic field perpendicular to field lines. 

Justify your answer (in brief) in each case.     [1+1+1] 

33. (a) What is biological magnification ? 

(b) Explain the role of decomposers in environment?   [1+2] 
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SECTION - D 

(Question no. 34 to 36 is long answer questions.) 

34. Peter wants to extract pure copper from its sulphide ore. 

a) How is copper extracted from its sulphide ore? Mention the various steps of the 

extraction using a flow chart supported by chemical equations.   2 

b) Draw a labelled diagram for the electrolytic refining of copper.   1.5 

c) Mention the steps involved in the extraction of pure metals of moderate reactivity 

from their carbonate ores using a flow chart.     1.5 

     OR 

Nisha classified elements into metals and non metals on the basis of their electronic 

configuration. 

a) Choose metal(s) and non-metal(s) out of the following: 

11A23  9B19 12C24 15D31 17E35      2 

b) What type of bond will be formed, if       3 

i) A combines with B?  ii) A combines with E?      iii) D combines with E

   

35.  In the given diagram of human male reproductive 

system:                                                          [1+2+2] 

(a) Label parts A and B. 

(b) Name the hormone produced by organ 'X'. What is 

the role of this hormone in the human male? 

(c) Explain how in sexually reproducing organisms the 

number of chromosomes in the progeny is maintained.  

    OR 

(a) What happens to the following parts after fertilization-  

(i) Ovule  (ii) Ovum 

(b) Name the part marked A in the diagram and how does “A” 

reaches part B?  

(c) What is vegetative propagation? List any one advantage 

and one disadvantage of vegetative propagation. 

       [1+1+3] 
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36. (i) How can three resistors of resistance 2 Ω, 3 Ω and 6 Ω be connected to give a 

total resistance of (a) 4 Ω and (b) 9 Ω. [Show the connection of the resistors 

diagrammatically and justify with calculations.] 

(ii) Why is the series arrangement not used for domestic circuits?  [3+2] 

SECTION-E 

37. A student decided to investigate the reaction 

between quick lime and water. He took a small 

amount of quicklime in a beaker with a glass rod 

in it. Then, he added water slowly to it with 

constant stirring. He observed that the 

temperature rises as the reaction proceeds. The 

student also added different acid-base indicators 

to the product solution and observed the colour changes. 

a) What is the chemical name and formula of the product? Write the balanced 

equation of the reaction involved.      [ 
1

2
+
1

2
+2=3 ]    

b) Name the type of reaction taking place inside the beaker. Also mention whether it 

is exothermic or endothermic. Give one use of quicklime.   [ 
1

2
+
1

2
+1=2] 

OR 

Fill up the following table according to the supposed observations:  [ 
1

2
×4=2] 

Acid-base indicators Red 

litmus 

Blue 

litmus 

Phenophthalein Methyl 

orange 

Colour of the product solution     

 

38. The rules for inheritance of such traits in human beings are related to the fact 

that both the father and the mother contribute practically equal amounts of genetic 

material to the child. This means that each trait can be influenced by both paternal 

and maternal DNA. Thus, for each trait there will be two versions in each child. 

(a) Write the monohybrid cross between tall and dwarf plants? 

(b) What is the ratio of tall plants to dwarf plants in F2 generation? 

(c) State the type of plants not found in F1 generation but appeared in F2 generation 

mentioning the reason for the same.  
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(c) State the law of independent assortment.    [3+1+1] 

39. Sara wanted to see the stars of the night sky. She knows that she needs a 

telescope to see those distant stars. She finds out that the telescopes, which are 

made of lenses, are called refracting telescopes and the ones which are made of 

mirrors are called reflecting telescopes. 

 

 

So, she decided to make a refracting telescope. She bought two lenses, objective 

lens (L1) and eye-piece lens (L2) out of which L1 was bigger and L2 was smaller. The 

larger lens gathers and bends the light, while the smaller lens magnifies the image. 

Big, thick lenses are more powerful. So, to see far away, she needed a big powerful 

lens. Unfortunately, she realized that a big lens is very heavy. 

(i) Based on the diagram shown, what kind of lenses would Sara need to make the 

telescope?         [1] 

(ii) If the powers of the lenses L1 and L2 are in the ratio of 4:1, what would be the 

ratio of the focal length of L1 and L2?      [1] 

(iii) Sara did some preliminary experiment with the lenses and found out that the 

magnification of the eye-piece (L2) is 3. If in her experiment with L2 she found an 

image at 24 cm from the lens, at what distance did she put the object?  [1] 

(iv) An object is placed at 2F1 in front of (only) lens L1. In order to obtain a sharp 

image of the object, where should the screen be placed?    [1] 

OR 

(iv) Why does the ray of light bend when it travels from the distant object to objective 

lens L1?          [1] 
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Modi Public School, Siliguri 
Pre Board Examination 1 2022-23 

Class 10                Social Science Time :3 Hr F.M. :80 

General Instructions: 

i. Question paper comprises Six Sections – A, B, C, D, E and F. There are 37 

questions in the question paper. All questions are compulsory. 

ii. Section A – From question 1 to 20 are MCQs of 1 mark each.  

iii. Section B – Question no. 21 to 24 are Very Short Answer Type Questions, 

carrying 2 marks each. Answer to each question should not exceed 40 word 

iv. Section C contains Q.25to Q.29 are Short Answer Type Questions, carrying 

3 marks each. Answer to each question should not exceed 60 words 

 v. Section D – Question no. 30 to 33 are long answer type questions, carrying 

5 marks each. Answer to each question should not exceed 120 word 

vi. Section-E - Questions no from 34 to 36 

vii. Section F – Question no. 37 is map based, carrying 5 marks with two parts, 

37a from History (2 marks) and 37b from Geography (3 marks) 

. viii. There is no overall choice in the question paper. However, an internal 

choice has been provided in few questions. Only one of the choices in such 

questions have to be attempted.  

ix. In addition to this, separate instructions are given with each section and 

question, wherever are case based questions with three sub questions and are 

of 4 marks each. 

___________________________________________________________________ 

Section A 

MCQS [1X20] 

1. Arrange the following options in the correct sequence   1 

1. Press came to be made out of metal.  

2. Offset press was developed.  

3. Gutenberg perfected the system by olive press. 

4. China first introduced hand-printing technology into Japan. 

Option : 

 A. 2, 4, 3, 1   B. 4, 3, 1, 2   C. 3, 4, 1, 2        D. 2, 3, 1, 4 

2. Which of the following newspaper described itself as ‘ a commercial paper 

open to all, but influenced by none’.      1 

A. Kesari                            B. Bombay Samachar.      

C. Sambad Kaumudi.   D. Bengal Gazette. 
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3. Match the following        1 
  

COLUMN I 
 

COLUMN II 

A. Rashsundari Debi 1. Chotte Aur bade ke sawal. 

B. Sudarshan Chakra 2. Kesari 

C. Kashibaba 3. Amar Jiban 

D. Bal Gangadhar Tilak 4. Sacchi Kavitayan 

Option :  

A. 2, 4, 3, 1   B. 4, 3, 1, 2   C. 3, 4, 1, 2              D. 2, 3, 1, 4 

4.Look at the picture given below. Identify the name of the picture.  1 

 

a) The cover page of Indian Charivari. 

b) Ghor Kali- The end of the world. 

c) Pages from the Rigveda. 

d) An ukiyo print 

  

5. Identify the crop with the help of the following information.  1 

 Jowar, bajra and ragi are grown in India and are known as coarse grains, they have 

very high nutritional value. 

(a) Maize  (b) Millet  (c)Pulses (d) oil seeds 

6. Which of the following description of forest is NOT correct? 1 

a) Reserved Forest- More than half of the total forest land has been declared 

reserved forests. 

b) Protected Forest –Almost one third of the total forest area is protected forest 

c) Unclassed Forest – Reservation of forest under government and private 

individuals 

d) Permanent Forest- Permanent forests are regarded as the most valuable as far as 

the conservation of forest and wildlife resources are concerned. 

7. Which of the following subjects comes under the legislation of centre and 

state in India?         1 

A. Education  B. Forests  C. Banking  D. Trade 
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8. Complete the table with correct information:    1 

ZONE STATE PORT FEATURES 

Western Coast Gujarat A- Known as tidal port 

Eeastern Coast B- Tuticorin It has natural harbour and rich 

hinterland 

Choose the correct option: 

A. A- Kandla B- Tamil Nadu  B. A – Kandla B- Maharashtra 

C. A- Kochi B- Tamil Nadu  D. A – Kochi B- Maharashtra 

 

9. Which of the following statements about Power sharing is false?  1 

A. Power sharing helps in reducing the conflicts between social groups. 

B. Power sharing is a good way to help in establishing political order. 

C. Power sharing is not the spirit of democracy. 

D. All of the above. 

 

10.Which of the following statements are true regarding Feminist Movements? 
         1 

a) Radical women’s movements aimed at equality in personal and family life as well. 

b) Agitations demanded enhancing the political and legal status of women and 
improving their educational and career opportunities. 

c) There were agitations in different countries for the extension of voting rights to 
women. 

d) All of the above statements are true. 

 

11. Which one among the following pairs is correctly matched?  1 

LIST I LIST II 

A. Bahujan Samaj Party Syama Prasad Mukherjee 

B. Communist Party of India Sahu Maharaj 

C. All India Trinamool Congress Mamata Banerjee 

D. Indian National Congress Mahatma  Pule 
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12.There are two statements marked as Assertion(A) and Reason(R). Mark your 

answer as per the codes provided below:    1 

Assertion: Democracy is an accountable, responsive and legitimate government. 

Reason: Democracies have regular, free and fair elections and decision- making is 

based on norms and procedures. 

A. Both A and R are true and R is the correct explanation of A. 

B. Both A and R are true but R is not the correct explanation of A. 

C. A is true but R is false. 

D. A is false but R is true. 

13.When we speak of gender divisions, we usually refer to:    1 

A. Biological difference between men and women. 

B. Unequal roles assigned by the society to men and women. 

C. Unequal child sex ratio. 

D. Absence of voting rights for women in democracies. 

14. Observe the graph given below:      1 
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Which of the following statement best explains the graph: 

A. The production in all the three sectors has decreased and it has decreased the 

most in the primary sector.          

B. The production in all the three sectors has increased and it has increased the 

most in the primary sector.  

C. The production in all the three sectors has increased and it has increased the 

most in the tertiary sector. 

 D. The production in all the three sectors has increased and all the three sectors 

have similar growth 

15. Study the data given below and find out which state appears the most 

developed?         1 

A.Punjab B.Bihar  C.Punjab and Kerala both   D.Kerala 

16. Match the option in Column A to that of Column B and choose the right 

option:          1 

COLUMN A COLUMN B 

(A) Girl in an urban family (I) Regular wages and more job days 

(B) A minister (II) Equal opportunities just like her brother 

(C) A labourer (III) More profit, more projects 

(D) A businessman (IV) More votes 

A. II, IV, I, III  B.III, IV, II, I  C.III, I, IV, II  D.I, III, II, I 

17.Which of the following gives the correct explanation of Gross Domestic 

Product:         1 

A. The value of final goods and services is added for secondary and tertiary sector 

for one year.        

B.The value of every goods and services is added up to for all the three sectors for 

one year. 

C.The value of final goods and services is added up for all the three sector for one 

year. 

D.The value of goods is added for the primary sector for one year.      Page 5 

 

18.Read the information given below and select the correct option   1 

Rita has taken a loan of ₹ 7 lakhs from the bank to purchase a car. The annual 

interest rate on the loan is 14.5% and the loan is to be repaid in 3 years in  monthly 

instalments. 

The bank retained the papers of the new car as collateral, which will be returned to 

Rita only when she repays the entire loan with interest. 

Analyse the loan information given above, and point out which one of the following is 

the correct option that describes the above statements accurately. 

A. Mode of re-payment    B. Terms of credit 

C. Interest on loan    D. Deposit criteria 

19.No individual in India can legally refuse a payment made in rupees. Hence, 

the rupee is widely accepted a medium of exchange. 

Who legalises the use of rupee as a medium of payment that cannot be refused 

in settling transactions in India?      1 

A. SBI  B. Indian Law  C.RBI  D.UNDP 

20. Identify the incorrect statement about demand deposit.   1 

I. Demand deposit share the essential features of money  

II. With demand deposit payments can be made with cash 

III. Demand deposit facility is like cheque  

IV. Demand deposit are a safe way of money transformation 

OPTIONS:        

A.I & II   B.II & III   C.I & III   D.II & IV 

Section B 

VERY SHORT ANSWER QUESTIONS [2X4=8] 

21. Analyse any two Factors that were responsible for the Great Depression in 

America during 1929.        2 

22. What is defection?        2 

23. Suggest any two ways to conserve mineral resources in India.  2 

24. What is majoritarianism?       2 
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TATE Infant Mortality Rate 
per 1,000 (2003) 

Literacy Rate (%) 
(2001) 

Net Attendance Ratio 
for Classes I-V (1995-96) 

PUNJAB 49 70 81 
KERALA 11 91 91 
BIHAR 60 47 41 



Section C 

SHORT ANSWER BASED QUESTIONS     [3X5=15] 

25. Describe any three limitations of Civil Disobedience Movement  3 

OR 

How was the social and political situation of India affected by the First World War? 

Explain. 

26. Differentiate between basic or key industries and consumer industries with two 

examples for each.        3 

27. What is collateral? Why do lenders ask for collateral while lending? Explain.   3                                                                                                   

28. Why democracy is better form of government?    3 

29.“There are several things needed by the society as a whole.” In the light of this 

statement explain as to who can provide them at a reasonable cost, the private or the 

public sector and why?                                                      3 

Section D 

LONG ANSWER BASED QUESTIONS      [5X4=20] 

30.  What was the area of Balkans? Why was it the most serious source of nationalist 

tension in Europe after 1871? What was its result?   

OR 

Highlight the role of Otto Von Bismarck in unification of Germany. 5 

31. What is water scarcity and what are its main causes? 

OR 

“In recent years, multi-purpose projects and large dams have come under great 

scrutiny and opposition for a variety of reasons.” Explain any five of these reasons.

       5 

32.What are the key features of federalism?     5 

     Or 

What are the major steps taken towards decentralisation in 1992? 

33.What are MNCs ? Explain by giving examples how MNCs interlink their 

production in different ways across countries?     5 

Or 

What is the initiative taken up by the Government to implement ‘Right to work’? 
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Section E 

CASE BASED QUESTIONS       [4X3=12] 

34. Read the source given below and answer the question that follows: 

The testimony of an indentured labourer:     4 

Extract from the testimony of Ram Narain Tewary, an indentured labourer who spent 

ten years on Demerara in the early 20th century. 

“ in spite of my best efforts, I could not properly do the works that were allotted to me 

.... In a few days I got my hands bruised all over and I could not to work for a week 

for which I was prosecuted and sent to jail for 14 days..... new emigrants find the 

tasks allotted to them extremely heavy and cannot complete them in a 

day....Deductions are also made from wages if the work is considered to have been 

done unsatisfactorily. Many people cannot therefore earn their full wages and are 

punished in various ways. In fact, the labourers have to spend their period of 

indenture in great trouble....” 

Source: Department of Commerce and Industry, Emigration Branch. 1916 

34.1. What do you mean by indentured labourer?    1  

34.2. Analyse the major factor which led the Indians to migrate to different countries 

1                    

34.3. Examine the conditions of indentured labourers that migrated from India during 

the 19th century.         2 

 

35. Read the given text and answer the following questions:   4 

Ever since humans appeared on the earth, they have used different means of 

communication. But, the pace of change, has been rapid in modern times. Long 

distance communication is far easier without physical movement of the 

communicator or receiver. Personal communication and mass communication 

including television, radio, press, films, etc. are the major means of communication in 

the country. The Indian postal network is the largest in the world. It handles parcels 

as well as personal written communications. Cards and envelopes are considered 

first-class mail and are airlifted between stations covering both land and air. The 

second-class mail includes book packets, registered newspapers and periodicals.  
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They are carried by surface mail, covering land and water transport. To facilitate 

quick delivery of mails in large towns and cities, six mail channels have been 

introduced recently. They are called Rajdhani Channel, Metro Channel, Green 

Channel, Business Channel, Bulk Mail Channel and Periodical Channel. 

 35.1 Why is long distance communication far easier nowadays?       (1) 

 35.2 What are the facilities made available for quick delivery of mails?      (1) 

 36.3 Analyse the importance of communication in our modern life.        (2) 

36. Read the given extract and answer the following questions.       4 

Caste and politics 

Yet cast has not appeared from contemporary India. Some of the older aspects 

of cost have persisted even now most people marry within their own caste or 

tribe. Untouchability has not ended completely despite constitutional 

prohibition. Effects of centuries of advantages and disadvantages continue to 

be felt today. The cast groups that had access to education under the old 

system have done very well in acquiring modern education as well those 

groups that did not have access to education or were prohibited from 

acquiring it have naturally lagged behind. That is why there is a 

disproportionately large presence of upper caste among the urban middle 

classes in our country cost continues to be closely linked to economic status. 

36.1 Which caste groups had access to modern education and who lagged behind?1 

36.2 Caste continues to be closely linked to__________ status   1 

(1) Family   (2) Religious                 (3) Communal  (4) Economic 

36.3___________ has not ended completely, despite constitutional prohibition 1 

(1) Untouchability (2) Happiness (3) Communalism (4) Religion 

36.4 What is closely linked to economic status?     1 

SECTION F 

MAP SKILL BASED QUESTIONS [2+3=5] 

37. a. Two places A and B have been marked on the given outline map of India: 

Identify them and write their correct names on the lines drawn near them. 

A. Indian National Congress session at this place in 1920.   1 

B. The place where Mahatma Gandhi broke salt law.    1 
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37 b. On the same outline map of India locate and label any three of the following 

Symbols.        3 

A. Salal Dam 

B. Mayurbhanj iron ore mine 

C. Namrup Thermal Power Station 

D. Chatrapati Shivaji Internationl Airport 
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Modi Public School, Siliguri
Preparatory-1 2022-23

Class 10B Artificial Intelligence (Subject Code:417) Time :1½ Hr F.M. :50

General Instructions:
1. Please read the instructions carefully.
2. This Question Paper consists of two sections: Section A & Section B.
3. Section A has Objective type questions whereas Section B contains Subjective
type questions.

4. SECTION A - OBJECTIVE TYPE QUESTIONS (24 MARKS).
5. SECTION B – SUBJECTIVE TYPE QUESTIONS (26 MARKS).

SECTION A: OBJECTIVE TYPE QUESTIONS
[1]Answer any 4 out of the given 6 questions on Employability Skills (1 x 4 = 4)
[i] Which of the following can cause stress?
[a] Yoga and meditation [b] Driving during rush hour
[c] Organized academic life [d] Enjoying holidays with family

[ii] ___________________refers to focusing human efforts for maintaining a healthy
body and mind capable of better withstanding stressful situations
[a] Mental Health [b] Emotional Health
[c] Self-Management [d] Stress Management

[iii] A ______________is a software program that attaches itself to other programs
and alters their behavior.
[a] Operating system [b] Firewall
[c] Antivirus [d] Computer Virus

[iv] Ravi learnt that if a laptop gets overheated, the internal parts get damaged.
What happens if he leaves his device plugged in even after it is charged 100%?
[a] It can break [b] It can stop functioning
[c] It can overheat [d] Data can get corrupt

[v] Mary has two people who work for her. Every day, she spends one hour with
them to learn about what they’ve done that day.
[a] Creates a new product [b] Divides income
[c] Manages the business [d] Takes risks

[vi]______________refers to recruitment, employment, selection, training,
development and compensation of the employees with an organization.
[a] Entrepreneurs [b] Management
[c] Human Resource Management [d] Employer
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[2] Answer any 5 out of the given 6 questions (1 x 5 = 5 marks)
[i] ____________ and __________ are AI based applications that help us in
navigation.
[a] Google Maps , Ola [b]Ola , Skype [c] Spotify , uber

[ii] Identify the incorrect statement(s) from the following:
1] Deep learning is a subset of Machine Learning
2] Machine Learning is a subset of Deep Learning
3] Artificial Intelligence is a subset of Deep Learning
4] Deep Learning is the advanced form of AI and ML
[a] Only (1) [b] (2) and (3) [c] (1) and (2) [d] Only (3)

[iii] When a user installs an app in the smartphone, it asks for access to gallery,
contacts, etc. After accepting this, it gives the user agreement which most users
accept without realizing the implications. What is the concern here?
[a] Data Privacy [b] Unemployment
[c] AI bias [d] No concern

[iv] The basis of decision making depends upon the availability of ____________and
how we experience and understand it.
[a]information [b]data
[c]past experience [d]All of the above

[v] Platforms like Netflix, Amazon, Spotify, YouTube etc. show us recommendations
on the basis of what we like.
[i]True [ii]False

[vi] Data acquisition gives us __________ data while data exploration provides us
_________ data.
[a]Raw, training [b]Raw , testing
[c]Clean , graphical [d]Clean, dynamic

[3]Answer any 5 out of the given 6 questions (1 x 5 = 5 marks)
[i] Divya was learning neural networks. She understood that there were three layers
in a neural network. Help her identify the layer that does processing in the neural
network.
[a] Output layer [b] Hidden layer
[c] Input layer [d] Data layer

[ii] For better efficiency of an AI project Training data should be _______
1] Relevant 2] Scattered 3] Structured 4] Authentic
Choose the correct option:
[a] Both 1 and 2 [b] Both 1 and 4
[c] Only 1 [d] Only 4
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[iii]Identify the algorithm based on the
given graph
[a] Dimensionality reduction
[b] Classification
[c] Clustering
[d] Regression

[iv] Which of the following is correct about the rule based approach?
[a] We cannot provide enough rules to the machine.
[b] A drawback/feature for this approach is that the learning is static.
[c] Once the rules are fed into the system, it takes into consideration any changes
made in the original training dataset.
[d] It can improve itself based on the feedbacks.

[v] Assertion(A) : Neural networks are the backbone of deep learning algorithms
Reason(R): Neural networks use vast amounts of data

[a] Both A and R are correct and R is the correct explanation of A
[b]Both A and R are correct but R is NOT the correct explanation of A
[c] A is correct but R is not correct
[d] A is not correct but R is correct.

[vi] ______________ helps us to summarise all the key points into one single outline
so that in future, whenever there is need to look back at the basis of the problem, we
can take a look at it and understand the key elements of it.
[a] 4W Problem canvas [b] Problem Statement Template
[c] Data Acquisition [d] Algorithm

[4] Answer any 5 out of the given 6 questions (1 x 5 = 5 marks)
[i] What is the full form of TF-IDF?

[ii] A corpus contains 12 documents. How many document vectors will be there for

that corpus?

[a] 12 [b] 1 [c] 24 [d] 1/12

[iii] Tom is a student of grade five. He likes to move constantly at his desk. He plays

with pencils and taps his fingers, stands up in his place any time he gets a chance.

He enjoys playing basketball, and likes to play in the classroom. Which of the

following intelligence does he demonstrate?

[a] Linguistic [b] Logical-Mathematical

[c] Musical [d] Kinesthetic
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[iv] Unscramble the letters and find the correct answer
DATA + ________ = AI MACHINE

[a] SMEGSEA [b] IMLHOMRGAT

[c] RROER [d] TSMMCOE

[v] Match Column A with Column B:
Column A Column B
1. Face recognition machine i. Not AI

ii. AI2. Automatic door
3. Gesture recognition
4. Automatic toy car
[a] 1 -> (i) ; 2 -> (ii) ; 3 -> (i) ; 4 -> (ii) [b] 1 -> (ii) ; 2 -> (i) ; 3 -> (ii) ; 4 -> (i)
[c] 1 -> (i) ; 2 -> (i) ; 3 -> (ii) ; 4 -> (i) [d] 1 -> (ii) ; 2 -> (i) ; 3 -> (i) ; 4 -> (ii)

[vi] Identify the type of chatbot with the information given below:
These bots work on pre-programmed instructions inside the application/machine and
are generally easy to develop. They are deployed in the customer care section of
various companies. Their job is to answer some basic queries that they are coded
for and connect them to human executives once they are unable to handle the
conversation.

[5] Answer any 5 out of the given 6 questions (1 x 5 = 5 marks)

[i] The output given by the AI machine is known as ________
[a]Prediction [b]Reality

[ii] Raunak was learning the conditions that make up the confusion matrix. He came
across a scenario in which the machine that was supposed to predict an animal was
always predicting not an animal. What is this condition called?
[a] False Positive [b] True Positive
[c]False Negative [d] True Negative

[iii] Which of the following is incorrect?
1] Testing data is the one on which we train and fit our model basically to fit the
parameters
2] Training data is used only to assess performance of model
3] Testing data is the unseen data for which predictions have to be made
[a] 1) and 3) only [b] 1) and 2) only
[c] 2) and 3) only [d] 1), 2) and 3)

[iv] Which of the following is true about neural networks?
[a] Neural Networks tend to perform better with larger amounts of data.
[b] Neural Networks tend to perform poorer with larger amounts of data.
[c] Neural Networks tend to perform better with smaller amounts of data.
[d] Neural Networks need no data
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[v] Which two evaluation methods are used to calculate F1 Score?
[a] Precision and Accuracy [b] Precision and Recall
[c] Accuracy and Recall [d] Precision, F1 score

[vi] Google Translate is Google's free service that instantly translates words, phrases,
and web pages between English and over 100 other languages. Google translate
uses -----
[a] 4w problem canvas [b] Neural Networks
[c] KWLH chart [d] System maps

SECTION B: SUBJECTIVE TYPE QUESTIONS
[6]Answer any 3 out of the given 5 questions on Employability Skills (2 x 3 = 6)
[a] Sameera is always punctual at school. She has a regular schedule that she

follows every day. She plans for study and play time in advance. Enlist the four steps

Sameera must have followed for effective time management.

[b] List any 4 activities that help in stress management.

[c] What are antivirus? Name any 2 antiviruses.

[d] Raj has a small convenience store in his locality. There are many other

convenience stores in the area. Yet, Raj’s store survives the competition and does

well.

Which stage of an entrepreneur's career process can you relate this to? Explain.

[e] Entrepreneurship has a positive impact on society. Write down any two.

[7] Answer any 4 out of the given 6 questions in 20–30 words each (2 x 4 = 8)
[a] What do we get from the “bag of words'' algorithm?

[b] Explain the term Text Normalization in Data Processing.

[c] Differentiate between Classification and Regression.

[d] What is a confusion matrix? What is it used for?

[e] Define the term Machine Learning. Also give 2 applications of

Machine Learning in our daily lives.

[f] How do you understand whether a machine/application is AI based or not?

Explain with the help of an example.

[8] Answer any 3 out of the given 5 questions in 50–80 words each (4 x 3 = 12)
[a] Automated trade industry has developed an AI model which predicts the selling
and purchasing of automobiles. During testing, the AI model came up with the
following predictions.
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(i) How many total tests have been performed in the above scenario?
(ii) Calculate precision, recall and F1 Score.

[b] Samiksha, a student of class X was exploring the Natural Language Processing
domain. She got stuck while performing the text normalisation. Help her to normalise
the text on the segmented sentences given below:
Document 1: Akash and Ajay are best friends.
Document 2: Akash likes to play football but Ajay prefers to play online

games.
[c] Differentiate between stemming and lemmatization. Explain with the help of an

example.

[d] Write the applications of NLP (Natural Language Processing).(Any four)

[e] Neural networks are said to be modelled the way how neurons in the human

brain behave. A similar system is mimicked by the AI machine to perform certain

tasks. Explain how neural networks work in an AI model and mention any three

features of Neural Networks.
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General Instructions:
1. Please read the instructions carefully.
2. This Question Paper consists of 21 questions in two sections: Section A &
Section B.
3. Section A has Objective type questions whereas Section B contains Subjective
type questions.
4. Out of the given (5 + 16 =) 21 questions, a candidate has to answer (5 + 10 =)
15 questions in the allotted (maximum) time of 2 hours.
5. All questions of a particular section must be attempted in the correct order.
6. SECTION A - OBJECTIVE TYPE QUESTIONS (24 MARKS):

 This section has 05 questions.
 Marks allotted are mentioned against each question/part.
 There is no negative marking.
 Do as per the instructions given.

7. SECTION B – SUBJECTIVE TYPE QUESTIONS (26 MARKS):
 This section has 16 questions.
 A candidate has to do 10 questions.
 Do as per the instructions given.
 Marks allotted are mentioned against each question/part.

SECTION A: OBJECTIVE TYPE QUESTIONS
Q. 1 Answer any 4 out of the given 6 questions on Employability Skills

(1 x 4 = 4 marks)
i]Sonika gets up at 6 am and goes for her hobby classes. Then she comes back

home and finishes her homework before going to school. She does all work by

herself. No one tells her to do so. This is called ___________.

a] Self-Awareness b] Self-Motivation c] Self-Regulation d]Discipline

ii] Identify the measure to protect computer from threats and viruses:

a] Sharing password with friends b] Allow anyone to use your device

c] Use Antivirus d] Leave computer without logging out

iii] Entrepreneurship has a crucial role in the ____________ of the society.

a] Evolution b] Planning c] Functioning d] None of these

iv] Manish is always tense during exam time. She is a sincere and studious student,

but the thought of exams creates anxiety in her. Which stress management

technique that you would suggest to help her?

a] Yoga b] Exercise c] Vacation with Family d] All of these

v] __________ is not the quality of self-confident people.

a] Dependent b] Positive Attitude c] Hard Working d] Commitment

vi] High expectations from self can leave one with chronic anxiety and stress, thus

leading to…………… stress.

a] Physical b] Emotional c] Mental d] Financial

Q. 2 Answer any 5 out of the given 6 questions (1 x 5 = 5 marks)
i.Which of the following application is not appropriate to store data about XYZ Bank

customers?

a] Open Office Base b] Open Office Writer c] MS Access d] MS Excel

ii] _______________ is not an instant messaging service.

a]Skype b] Yahoo! Messenger c]Firefox d]) Whatsapp

iii] A _________ is a device that converts digital computer signals into a form

(analog signals) that can travel over phone lines and vice versa.

a] Repeater b] Switch c] Router d] Modem

iv] _________ means that the query uses criteria you provide to hide some data and

display only required data.

a]Filtering b]Report c] Sorting d] Forms

v] Multiple copies of the same file leads to _________.

a] Data Inconsistency b] Data Redundancy

c] Data Consistency d] Foreign Key

vi ] __________ key is used to reduce repetitive strain.

a] Sticky b] Serial c] Mouse d] Toggle

Q. 3 Answer any 5 out of the given 6 questions (1 x 5 = 5 marks)
i] The intersection point between a row and column is called……………… .

a]Row b]Column c]Table d]Cell



ii]Amrita is celebrating her 14 birthday. She wants to invite her friends and family

members to the party. Which feature will she use to send the same invite to many

people with different addresses without typing it again and again ?

a] Mail Merge b] Letter wizard c]Document Type d]None of these

iii] Sound sentry is designed to help users with……………………….impairments .

a] Vision b] Auditory c]Physical d]None of these

iv] Which of the following is a part of edit the Edit menu from menu bar in Writer ?

a] Open b]Labels c]New d]Find & Replace

v] Which of the following opens the Templates dialog box ?

a] File > Wizard >Templates b]File > New >Templates window

c] File > Templates >Manage Templates d]None of these

vi] It is a reference point for the graphics which is created while positioning any

image. This point could be the page, or frame where the object is either a paragraph,

or even a character in a word processor.

a] Wrap Text b] Anchoring c] Alignment d] BookMark

Q. 4 Answer any 5 out of the given 6 questions (1 x 5 = 5 marks)
i] Identify the website that offers offline blog service for free.

a] Blogdesk b] Qumana c] WordPress d] both a and b

ii] Alisha has written a book consisting of fifteen chapters. He wanted to make the

index of the book. Suggest her the option used to create the index automatically in a

word processor.

a] Tables c] Columns b] Mail Merge d]Table of Content

iii] …………are going to identify which type of data we are going to store in the

database..

a] Data b] Design c] Datatype d]None

iv] A healthy lifestyle helps to keep and improve people’s health and well-being. It

does not include:

a] healthy eating habits c] physical activities

b] stress management d] less sleep

v] ________ can be used in Calc to jump to a different location from within a

spreadsheet and can lead to other parts of the current file, to different files or even to

websites.

a] Tables b] Goal Seek c] Auto Sum d] Hyperlinks

vi] A _________ refers to a cell or a range of cells on a worksheet and can be used

to find the values or data that you want formula to calculate.

a] Cell reference b] Sheet Reference c] Block d] Autofill

Q.5 Answer any 5 out of the given 6 questions (1 x 5 = 5 marks)
i]Identify the mode, where we can modify in the structure of table?

a] Datasheet view b] Design view c] Structure view d] All of the above

ii] ISP stands for _____________________.

a] Internet Service Provider b] Internet Source Provider

c] Intranet Service Provider d] None of the above

iii] ______ function takes data from a series of worksheets or workbooks and

summaries it into a single worksheet that you can update easily.

a ]Data Combination b] Data Consolidation

c] Data Merging d]Data Concatenation

iv] __________statement is used to remove one or more records in the database.

a] Remove b] Delete c] Erase d] All of these

v] In a word processor, by default, evaluates ________ levels of headings when it

builds the table of contents.

a] 3 c] 10 b] 7 d] 12

vi] In ________________ Networks, all computers have an equal status and each

terminal has an equally competent CPU.

a] MAN b] WAN c] Client Server d] P2P

SECTION B: SUBJECTIVE TYPE QUESTIONS
Answer any 3 out of the given 5 questions on Employability Skills

(2 x 3 = 6 marks)
Answer each question in 20 – 30 words
Q.6 What are the advantages of the ability to Work Independently?



Q.7 Name the Stress causal agents.

Q.8 List the various ways you can use to protect your data.?

Q.9 Explain any two Myths about Entrepreneurship.

Q.10 In SMART goals, what does ‘S’ stand for? Explain.

Answer any 4 out of the given 6 questions in 20 – 30 words each (2 x 4 = 8
marks)
Q.11 What is the default template? .
Q.12 Mention any two operations that can be performed using Macros in a

spreadsheet.

Q.13 What do you mean by Hyperlinks in Spreadsheets? Give the two different

types of Hyperlinks that can be used in Spreadsheets.

Q.14 List Numeric and Alphanumeric Datatypes in OpenOffice Base.

Q.15 Differentiate between Filter keys and Toggle keys in Microsoft Windows.

Q.16 In which situations Online shopping could be useful? Write any two popular

ecommerce websites.

Answer any 3 out of the given 5 questions in 50– 80 words each (4 x 3 = 12
marks)
Q.17 Anshita is preparing spreadsheet notes for her Term Exam. Help her to write

short note on the following:

i]Consolidating Data ii] Goal Seek iii] Solver iv] Subtotal

Q.18 Tanmay is a Class X student. He has learnt Mail Merge option of a Word

Processor in his computer period. But he is confused with few terms used to merge

documents. Explain the following briefly, which will help Tanmay better understand

the Mail Merge options.

i] Merge Field

ii] Data Source

iii] Main Document

iv] Mention two types of data on which mail merge can be applied

Q.19 Consider the following table: Product

Product_No Product_Name Price Quantity

25 Soap 40 80

31 Powder 80 30

45 Shampoo 250 25

52 Soap box 120 100

Write SQL commands for the following:

i] Write a Query to display all record from the table.

ii] Write a Query to display Product_Name and Price from the table.

iii] Write a Query to display the list of Product_Name in alphabetical order

iv] Write a Query to display the product whose price is less than 90

Q.20 Your friend owns a chemist shop, he needs to keep records of the medicines

with their id’s, date of purchase, expiry date, price, etc. in a database program. But

he does not have any knowledge about the database. Explain to him the following to

get a better understanding of the DBMS concepts.

i] What is RDBMS? Explain in brief.

ii] Name any two database programs which can be used to create a table and store

the data as per the requirement.

iii] Which field can be set as a Primary Key?

iv] Is it possible to make more than one field as a primary key in your table?

(Yes/No). Justify your answer.

Q.21 Nelesh is a student of class X. He used to get the work based on internet

surfing, But he is not aware of the internet security. Being a friend of Vicky, help him

in finding the answers of the following questions.

a] What is the purpose of Internet Security ?

b] Name two kinds of online threats.

c] Mention any two best practices to secure data.

d] Name any two antivirus.
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